ceonn CYylindlers

LHINHLOPBI 1 AKCECCYAPDI
CYLINDERS AND ACCESSORIES



AIGNEP Cepwusa Cylinders

16.4  Uumngpsl KaptpumkHble / Cartridge Cylinders  16.7 MwuHu umnungpst / Mini Cylinders

OnHO 1 ABYXCTOPOHHErO AENCTBUA ISO 6432 (@8-@25)
C AemndupoBaHnem
OfHO 1N ABYXCTOPOHHUI LITOK

Single and double-acting

LToK ¢ pe3bboit
LLITok 6e3 pe3bbbl
Threaded piston rod

. cushioned
No-threaded piston rod Single or Through piston rod
16.14 3amok wroka / Piston Rod Lock  16.18 LivvHppe! INOX/ Stanless Steel Mini Gylinders

[1BoHOro gencreums
Double-acting

ISO 6432 (@16 - @20 - @25)

16.30 UwnnuHapbl komnakTHble / Compact Cylinders

OnHO 1 ABYXCTOPOHHEro AencTBuUA (@32-063)
¢ femndoupoBaHnem
OpfHO 1NM ABYXCTOPOHHWI LUTOK
Single and Double-acting
Single or Through piston rod
cushioned

OfHO 1 fBYXCTOPOHHErO AeCTBY
OfHO Unn ABYXCTOPOHHUI LITOK
He Bpawatowmeca

Single and Double-acting
Single or Through piston rod
Anti-rotation

16.42 LiwmwmHapbl Kopotkoxomosble/Short Stroke Gylinders 16.55 ~ LivanHapsl Cepun X / Cylinders X Series

s

ISO 15552
OfHO 1 ABYXCTOPOHHEro
nencreusa
OAHO 1 ABYXCTOPOHHETO . OAHO Ny gBYXCTOPOHHUI
encTBuUA Single and . —
A Double-acting WTOK Single and Double-acting
OpfHO VK ABYXCTOPOHHMIA Single or Through JIBOVHON LMANHAP Single or Th.rough piston rod
LTOK piston rod OnnosuTHble uunuHapbl  Tandem cylinder

H .
© Bpawatowieca Anti-rotation Opposed cylinder

1 62 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Cylinders

16.61 16.63 TMoBopoTHble uunuHapbl/Rotary Cylinders

C 3amKom WwToKa / Piston Rod Lock

Mopgesib WTOK CO WAnNLom

Mopgenb c oTBepcTneM
Model with male pinion
Model with female bore

16.68  Liununapsl Cepum E / Cylinders E Series 16.79  LmniHapsl Cepun V/ Cylinders V Series

HO ¥ IBYXCTOPOHHETO

nencreus

OfHO 1N ABYXCTOPOHHUN

a LITOK

OAHO MM ABYXCTOPOHHWIA WTOK  Single and Double-acting Single and Double-acting
Single or Through piston rod Single or Through piston rod

ISO 6431 (@32-@320) ISO 6431 (@32-0125)

OAHO N ABYXCTOPOHHETO fEviciprin

16.80  LnnmHppbl Cepyivt NHA / Cylinders NHA Series 16.86  Liununapbl Cepun P / Cylinders P Series

OAHO 1 ABYXCTOPOHHEro AencTeus OAHO 1 ABYXCTOPOHHEro AencTeuns

OnHo 1NV ABYXCTOPOHHWIA WTOKtgle and Double-acting OaHO 1NN ABYXCTOPOHHUI WTOK
Single and Double-acting

Single or Through piston rod
[SO 15552 Interface (@32-@250)

Single or Through piston rod
[SO 15552 Interface (@32-@100)

16.106 Hanpaensiowwe / Guide Units  16.114 CeHcopbl / Sensor

NB

CornacHo pumpektuse ATEX, MarHuTHble BblKNOYaTENN
He MOryT NPUMEHATCA B MOTEHLMaNbHO B3PbIBOOMACHOW
L cpege. According to the Directive  ATEX,
ISO 6431 VDMA (232-100) | " Magnetic Switches cannot be wused in potentially
1SO 6432 (212-025) explosive environment.

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 63
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Cartuccia

FJAIGNEP

Limnnngpbl kapTpungxHble / Cartridge Cylinders

KapTpuaxHble UMNVHAPSI OLHOCTOPOHHErO
gencreuna pa3paboTaHbl ana MCNonb30BaHUA
B yCcnoBuaAx OrpaHNYEeHHOTOo npocTpaHCcTBa
HapyXHAs pe3bba obecneuymBaeT MNPOCTON  MOHTaX.
The single-acting cartridge cylinders have been
studied and designed to be wused in reduced
spaces. The external thread ensures an easy
assembly.

TexHnueckune xapakrepuctuku / Technical Characteristics

[aBneHwue / Pressures

MuHumanbHoe aaeneHie / Minimum pressure: 2 bar ( 0.2 MPa)
MakcumanbHoe fasneHue / Maximum pressure: 7 bar (0.7 MPa)

Temnepatypa / Temperatures

MwuHumanbHasa Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcrnmanbHaa Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHDBIV BO3[YX CO CMa3KoW 1 6e3 cMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Onwucanue / Functioning

OLHOCTOPOHHEro AeNCTBISA, LUTOK C pe3bboin 1 6e3 pe3bbbl.
Single-acting, Threaded piston rod and No-threaded piston

rod.

HAnameTtp ymnnnHgpa / Bores

6-10-16 mm.

Xopn / Strokes

CraHpapTHbI xop / Standard Strokes
5-10-15mm.

16.4

Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



Cepua Cartuccia

FIAIGNEP

TexHuyeckne xapakrepuctukm / Technical Characteristics

Yactu n matepumansl / Component Parts and Materials

1 OuMHKOBaHHaA CTasbHaA ranka

2 HukenupoBaHHasa NnaTyHHasa Kpblllka
3 CranbHasa npy»uHa

4 CranbHow wrok AlSI 303

5 lMNonnypeTaHoBOe yniOTHeHne

6 HukenupoBaHHbIV NaTyHHbIN KOpMNyC

7 OuMHKOBaHHasA CTanbHas ranka

Kak 3aka3aTb / How to Order

1 Zinc-plated steel Nut

2 Nickel plated brass Bush

3 Steel Spring

4 Steel Piston rod AlSI 303

5 Polyurethane Rod seal

6 Nickel plated brass Shape body

7 Zinc-plated steel Locking screw

CA 10 15
Kon OVUAMETP Xo[n
CODE BORE STROKE
@ mm. XO[ - STROKES
5 10 15
6 10gr 1259r 15gr
10 27 gr 329r 36 gr
16 71 gr 78 gr 87 gr
CTAHOAPTHbIV XOL mm. - STD STROKES
@ mm. 5 10 15
6 A= Anm A=
10 A= Anm Anm
16 Anm Am Am
A CA OD,HOCTOPOHHEFO NENCTBUA, LUTOK BE3 PE3bBbI - SINGLE-ACTING NO-THREADED PISTON ROD
[ ] CAF O,ElHOCTOPOHHEI'O JEVCTBUA, LUTOK C PE3bBOW - SINGLE-ACTING THREADED PISTON ROD

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.5



AIGNEP Cepua Cartuccia

AE
D

CA

O,[lHOCTOPOHHEFO JEVNCTBUSA, LUTOK BE3 PE3bBbl - SINGLE-ACTING NO-THREADED PISTON ROD

@ mm. A B d D e F s G-CORSA H M CH
6 M10x1 8.5 M5 3 9 5 185 255 325 9 3 14
10 M15x1.5 13 M5 5 14 5 205 27 34 15 4 19
16 M22x1.5 19 M5 5 20 6 235 295 36 14 5 27

aE
D

CAF

O,[lHOCTOPOHHEFO LENCTBUS, LUTOK C PE3bBOW - SINGLE-ACTING THREADED PISTON ROD
ZE G - CORSA

@ mm. A B C D F 5 10 15 H M CH

6 M10x1 8.5 M5 M3 9 5 18.5 255 325 9 3 14

10 M15x1.5 13 M5 M4 14 5 20.5 27 34 1.5 4 19

16 M22x1.5 19 M5 M5 20 6 235 29.5 36 14 5 27
16.6 Aignep ocTAigmep sarcabod ihgiritoadineani j i OBHOBJIEHVE OT: 18 AMPE/A 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Mini

FIAIGNEP

Minicilindri Iso 6432 / Mini Cylinders Iso 6432

Unnuugpesl JaHHON cepun npoun3BegeHbl
B cootBeTcTBUN cO cTaHpapTom DIN ISO 6432, n
MOTYT MCMOJNIb30BaTbCA B 1060V MPOMbILLIIEHHOCTH.
Bbicokme pabouvie XapaKTEPUCTVKA FapaHTUPYOT
MaKCUManbHYIO NPOV3BOANTENIbHOCTb.

The cylinders included in this range,
manufactured in  conformity  with  the
Standards DIN ISO 6432 can be used in any
industrial fields. The high sliding characteristics
guarantee the maximum productivity of the
system.

*By using a special assembling
operation called “double rolling” to join
the end covers to the barrel, functionality
and resistance are ensured.

TexHnueckune xapakrepuctukmy / Technical Characteristics

[aBneHene / Pressures

MuHmanbHoe gaeneHue / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gaeneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MwuHumanbHaa Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHoM Bo3ayxe / with dry air)
MakcnmanbHaa Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHDI BO3LYyX CO CMa3KoM 1 6e3 cMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

OnwucaHue / Functioning

OfHO 1 ABYXCTOPOHHEro AeNCTBUA C AeMNPEepOoM, LUTOK OAHOCTOPOHHNI
1 ABYXCTOPOHHWIA, MarHUTHbIE N HEMarHUTHble

Single and Double-acting cushioned, Single or through

piston rod, Magnetic and no-magnetic

OnameTtp umnnngpa / Bores
8-10-12-16-20-25mm.

Xog / Strokes

CraHpapTHbIiA xop / Standard Strokes
Ot 10 o 320 mm / From 10 to 320 mm

Aignep ocTARyTREp SBrt i ih i e i pal i OBHOBJEHWE OT: 18 AMPE/A 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013

16.7



AIGNEP Cepua Mini

Caratteristiche Tecniche / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

—_

Zinc-plated steel Nut

1 OuMHKOBaHHasA CTanbHadA raka

2 CranbHow wrok AlSI 303 2 Steel AISI 303 Piston rod
3 lonnypeTtaHoBOe yMOTHeHNe 3 Polyurethane Rod seal
4 AHoAvpoBaHHas antOMUHNEBAA KpPblLUKa 4 Anodised aluminium Front cover
5 OuwmHKOBaHHas CTafbHas ranka 5  Zinc-plated steel Nut
6 bBpoH30BbIV NOAWNMHUK 6 Sintered bronze Bearing
7 YnnoTHuTenbHoe KonbLo 13 NBR 7 NBR O-RING Seals
8 HeonpeHoBblii 6amnep 8 Neoprene Bumper
9 JlaTyHHbIV NOpLUEHb 9 Brass Piston
10 MonunypeTaHOBOE yNOTHEHNE 10  Polyurethane Piston seal
11 Maruut 11 Bonded Ferrite Magnet
12 Kopnyc 13 Hepikasetowwen ctanu INOX AlSI 304 12 Stanless Steel AISI 304 Mini cylinder shape body
13 AHOAVpPOBaHHasA anoMUHMEBAA KpPbILLKa 13 Anodised aluminium Back cover
Ycnnua / Forces And Consumptions
YCUNWE BbIABUMEHWA U BTATMBAHWA - THRUST AND TRACTION
@ Cilindro @ Stelo PaGoyas NoBepxHOCTb B MM?2 Pabouee faenenne B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
Ycunue BbigsukeHna N
Output force in N
@28 4 BbigBukeHue / Thrust = 50,2 5 10 15 20 25 30 35 40 45 50
Brarusanue / Traction = 37,7 3 6 9 12 15 18 21 24 27 30
@10 4 BoigsukeHue / Thrust = 78,5 7 14 21 28 35 42 49 56 63 70
BrarueaHue / Traction = 66 6 12 18 24 30 36 42 48 54 60
@212 6 BoigsmkeHne / Thrust = 113 10 20 30 40 50 60 70 80 90 100
Brarusanue / Traction = 85 7,5 5 22 30 37 45 52 60 68 75
216 6 BoigsmkeHue / Thrust = 200 18 36 54 72 90 108 126 144 162 180
Brarusauue / Traction = 173 16 32 48 64 80 96 112 128 144 160
@20 8 BbipBukeHune / Thrust = 314 28 56 84 112 140 168 196 224 252 280
Brarvnsanue / Traction = 264 24 48 72 96 120 144 168 192 216 240
@25 10 BobigsmkeHue / Thrust = 490 44 88 132 176 220 264 308 352 396 440
Brarveanue / Traction = 412 36 72 108 144 180 216 252 288 324 360
'I 68 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Mini

YCUINE MPYKNHbI - SPRING TRACTION FORCES

@ Unnunapa CocToAHME NPYXKNHbI Xop / Stroke
@ Cylinder Load Spring 10 25 50
Ycununue Ha sbixofe N
Output force in N

28 MpyxuHa B nokoe / Load of spring at rest 4,1 35 2,6
CxaTan npyxuHa / Load of compressed spring4,5 4,5 4,5
@10 MpyxuHa B nokoe / Load of spring at rest 4,1 3,5 2,6
Cxatan npyxuHa / Load of compressed spring4,5 4,5 4,5
212 MpyunHa B nokoe / Load of spring at rest 5,5 4,8 35
Cxatan npyxuHa / Load of compressed springé 6 6
216 MpyxuHa B nokoe / Load of spring at rest 16,5 13,7 9
CxaTan npyxuHa / Load of compressed spring18,3 18,3 18,3
@20 MpyxuHa B nokoe / Load of spring at rest 19 15,5 9,5
Cxatan npyxwuHa / Load of compressed spring21,5 21,5 21,5
@25 MpyxuHa B nokoe / Load of spring at rest 27 24 13,5
CxaTtan npyxuHaa / Load of compressed spring 29 29 29

MOTPEBJIEHVE BO3YXA - CYLINDER AIR CONSUMPTION

@ Cilindro @ Stelo  Pabouvas nnowazgb B mm2 Pabouee pasnexue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpeb6neHne Bosayxa B NL Ha kaxxable 10mm. xopa
Air consumption in NL for each 10mm. of stroke

28 4 Boigeuxerue / Thrust = 50,2 0,001 0,002 0,002 0,003 0,003 0,004 0,004 0,005 0,005 0,006
Brarmnsanue / Traction = 37,7 0,001 0,001 0,002 0,002 0,002 0,003 0,003 0,003 0,004 0,004

210 4 BbigBuxeHue / Thrust = 78,5 0,002 0,002 0,003 0,004 0,0050,005 0,006 0,007 0,008 0,009
Brarnsanue / Traction = 66 0,001 0,002 0,003 0,003 0,004 0,005 0,005 0,006 0,007 0,007
212 6 Boigsuxerue / Thrust = 113 0,002 0,003 0,005 0,006 0,007 0,008 0,009 0,010 0,011 0,012
BrarusaHue / Traction = 85 0,002 0,003 0,003 0,004 0,005 0,006 0,007 0,008 0,009 0,009
216 6 BbigBuxeHue / Thrust = 200 0,004 0,006 0,008 0,010 0,012 0,014 0,016 0,018 0,020 0,022
Brarnsanue / Traction = 173 0,003 0,005 0,007 0,009 0,010 0,012 0,014 0,016 0,017 0,019
@20 8 BoigBuxeHue / Thrust = 314 0,006 0,009 0,013 0,016 0,019 0,022 0,025 0,028 0,031 0,035
Brarusanue / Traction = 264 0,005 0,008 0,011 0,013 0,016 0,018 0,021 0,024 0,026 0,029
225 10 BoigsuxeHue / Thrust = 490 0,010 0,015 0,020 0,025 0,029 0,034 0,039 0,044 0,049 0,054
Brarmeanue / Traction = 412 0,008 0,012 0,016 0,021 0,025 0,029 0,033 0,037 0,041 0,045

Esempio D’ordine / How to Order

MB 10 5
4 xon
STROKE
Koa LVNAMETP LMINHIPA
CODE BORE
CTAHIAPTHbIV XOl mm. - STD STROKES
@ mm. 10 25 50 80 100 125 160 200 250 320

8 Ae Ae Ae ° ° °
10 Ae Ao Ao ° ° °
12 Ae Ae Ae ° ° ° ° ° °
16 Ameo Ames¢o Amee¢o [ Y Xo) 040 [ Y ¥e) [ Y %) 040 040
20 Ameo Ameé¢o Ameéo [ Y Yo [ X Ye) [ Y Yeo) 'Y Ye) 040 040 'Y Ye)
25 Ameo Ames¢o Amee¢o [ Y Xo) 040 [ Y ¥e) [ Y %) 040 040 040
A VB O nHOCTOPOHHENO AEVMCTBIA MATHUTHBIV - SINGLE-ACTING MAGNETIC
m MD  OnHOCTOPOHHErO JEMCTBIA MATHUTHbIV - TONKAIOLIAA MPYKUHA - SINGLE-ACTING MAGNETIC - SPRING THRUST
® MF  JlBYXCTOPOHHErO EACTBIA MAFHITHbIV - DOUBLE ACTING MAGNETIC
® MFN  JlBYXCTOPOHHErO [IEVCTBIA MAFHITHbIM COEAVHEHVE 90°- DOUBLE ACTING MAGNETIC HEAD CUT, FEED AT 90°
® MFX ﬂByXCTOPOHHEFO JEVCTBMA. MATHUTHBI COEAVHEHIE OCEBOE - DOUBLE ACTING MAGNETIC HEAD CUT, FEED ON AXIS
¢ MH BYXCTOPOHHEIO JIEVICTBUSA MATHUTHBI C AEMM®EPOM - DOUBLE ACTING CUSHIONED MAGNETIC
o M) [lBYXCTOPOHHErO EACTBIA MAFHITHbIN C IBYXCTOPOHHIIM LUITOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
¢ M J1BYXCTOPOHHETO AEVCTBMA MATHUTHBIIA C IBYXCTOPOHHIM LUTOKOM - DOUBLE ACTING CUSHIONED MAGNETIC WITH DOUBLE ROD END

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 6.9
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Mini

M+CARRERA/ STROKE
D R+CARRERA/ STROKE
C G
N ) L=
o «<| Z | ( ) w
W Il =
~— — L J I
CH E P+CARRERA/ STROKE ‘ E
L K N
O)J,HOCTOPOHHEI'O }J,EVICTBVIH MATHUTHbBIN - SINGLE-ACTING MAGNETIC
@ mm. A A B C D E F G K L M N P R CH
8 M4 4 M12x1.25 8 16 4 12 M5 16 12 86 6 46 64 -
10 M4 4 M12x1,25 8 16 4 12 M5 16 12 86 6 46 64 -
12 M6 6 M16x1,5 12 19 6 18 M5 22 16 104 9 48 75 5
16 Mé6 6 M16x1,5 12 19 6 18 M5 22 16 109 9 53 82 5
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 131 12 67 95 7
25 M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 140 12 68 104 9

M+2xCARRERA/ STROKE

D R+2xCARRERA/ STROKE

C G
AN Ly

oM < T
N |
~—1 — L J
<
CH E P+CARRERA/ STROKE
L K+CARRERA/ STROKE

—

MD

OHHOCTOPOHHEFO OENCTBUA MATHUTHBIV - TONKAIOLLAA MPYXKNHA - SINGLE-ACTING MAGNETIC - SPRING THRUST

@ mm. A A B C D E F G K L M N P R CH
16 M6 6 M16x1.5 12 19 6 18 M5 22 16 134,5 9 78,5 107,5 5
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 154 12 90 118 7
25 M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 166 12 94 130 9
1 61 O Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



@3 AIGNEP Cepua Mini

M+CARRERA/ STROKE

D R+CARRERA/ STROKE

C G G
AN L T

o < X | (
N |
~— I
CH F P+CARRERA/ STROKE ‘
L K N

MF

ﬂ.ByXCTOPOHHEFO JEVCTBUA MATHUTHBIW - DOUBLE ACTING MAGNETIC

@ mm. A A B C D E F G K L M N P R CH
8 M4 4 M12x1.25 8 16 4 12 M5 16 12 86 6 46 64 -
10 M4 4 M12x1.25 8 16 4 12 M5 16 12 86 6 46 64 -
12 M6 6 M16x1.5 12 19 6 18 M5 22 16 104 9 48 75 5
16 M6 6 M16x1.5 12 19 6 18 M5 22 16 109 9 53 82 5
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 131 12 67 95 7
25 M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 140 12 68 104 9

M+CARRERA/ STROKE

D

C G
TN
TN —[

m < X |
N Il
~—| —
CH F P+CARRERA/ STROKE

N

MFEFN

ﬂ.ByXCTOPOHHEFO JNENCTBUA MATHUTHbI COEAVHEHWE 90°- DOUBLE ACTING MAGNETIC HEAD TCUT FEED AT 90 °

@ mm. A A B C D G K L M P
16 M6 6 M16x1.5 12 19 M5 22 16 109 53
20 M8 8 M22x1.5 16 27 1/8G 24 20 131 67
25 M10x1.25 10 M22x1.5 16 30 1/8G 28 22 140 68
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 61 'I

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Mini

M+CARRERA/ STROKE

o

O

T
'
I

VAR
W\ [ /]

CH F P+CARRERA/ STROKE

o

ﬂ,BYXCTOPOHHEFO JENCTBUA MATHUTHBbI COEAVHEHWE OCEBOE - DOUBLE ACTING MAGNETIC HEAD CUT FEED ON AXIS

@ mm. A Al B d D G K L M p
16 M6 6 M16x1.5 12 21 M5 22 16 109 53
20 M8 8 M22x1.5 16 27 1/8G 24 20 131 67
25 M10x1.25 10 M22x1.5 16 30 1/8G 28 22 140 68

M+CARRERA/ STROKE

R+CARRERA/ STROKE

D
c G G
Df
$ m < C
CH E P+CARRERA/ STROKE ‘
LL

A1
i

)

,D,BYXCTOPOHHEFO [ENCTBUA MATHUTHBIA C AEMM®EPOM - DOUBLE ACTING CUSHIONED MAGNETIC

@ mm. A A B C D E F G K L M N P R CH
16 M6 6 M16x1.5 12 21 6 18 M5 22 16 109 9 53 8 25
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 131 12 67 95 7
25 M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 140 12 68 104 9
1 61 2 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepua Mini

L  K+CARRERA/ STROKE
ﬁ
I
z I— I
CH F P+CARRERA/ STROKE F

o

(7R
\2)
s

X

MJ

ﬂ,BYXCTOPOHHEFO JENCTBMA MATHUTHBIN C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

@ mm. A A B C F G K L P CH
16 Mé 6 M16x1.5 19 18 M5 22 16 53 5
20 M8 8 M22x1.5 27 20 1/8G 24 20 67 7
25 M10x1.25 10 M22x1.5 30 22 1/8G 28 22 68 9

L K+CARRERA/ STROKE
ﬁ Wﬁ
T
L L
=
CH F P+CARRERA/ STROKE F

O

()
)
9

-

ML

ﬂ.BYXCTOPOHHEFO JENCTBUA MATHUTHBIA C ABYXCTOPOHHM LUTOKOM AEMM®EP.-DOUBLE ACTING CUSHIONED MAGNETIC WITH DOUBLE ROD END

@ mm. A A B C F G K L P CH
16 M6 6 M16x1.5 21 18 M5 22 16 53 5
20 M8 8 M22x1.5 27 20 1/8G 24 20 67 7
25 M10x1.25 10 M22x1.5 30 22 1/8G 28 22 68 9

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.

OBHOBJIEHWE OT: 18 AMPENA 2013
Aignep reserves the right to vary models and dimensions without notice.

16.13
UPDATED: APRIL 18, 2013



AIGNEP Cepua Mini

3amMoK WToKa Anda umnmnHapos Iso 6432/Piston Rod Lock for cylinders Iso 6432

3amMoK GoKMpyeT Xof WTOK B 06OM MOSOXKEHUN
B Cnyyae nageHusa pasneHuda. B cnyuyae HepoctaTtka
BO3Agyxa  AnA duKcupylowlero  ycTpowcTBa,
WTOK ONOKMpYyeTCcsa MexaHU4yecku C  ycunvem
NPeBbIWAWMM yCUAMe BblIABMKEHMA UWINHAPA
npy nutawowem gasneHun10  bar. BaxHo
MOMHUTb, YTO 3aMOK OCBODOOMAAeT LITOK TOJIbKO
Torga, kKorga o6e Kamepbl nojd  AaBfIEHUEM.

The piston rod lock is a locking unit, which
blocks the piston rod in any position in case
of pressure drop. In case of lack of air to
the locking device, the cylinder piston rod is
mechanically blocked with a bigger force than
the thrust made by the cylinder fed at 10 bar. It
is important to remember that the locking unit
of the piston rod can be released only when
both the chambers are under pressure.

TexHunyeckme xapaktepuctmku / Technical Characteristics

lNaBneHue / Pressures

MuHVManbHoe faBneHuve pa3bnokuposaHua: 2.5 bar (0.25 Mpa) npy nuTatoLLem AasneHumn uanHapa ot 0 o 7 bar (da0a 0.7 Mpa)
3 bar (0.3 Mpa) per pressione cilindro da 7 a 10 bar (da 0.7 a 1 Mpa)

Minimum release pressure: 2.5 bar (0.25 Mpa) cylinder supply pressure from 0 to 7 bar (from 0 to 0.7 Mpa)
3 bar (0.3 Mpa) cylinder supply pressure from 7 to 10 bar (from 0 to 0.7 Mpa)

Mpw otcyTcTBUM fasneHua / Without Pressures

3abnokunposaHHo / Locked

Temnepatypa / Temperatures Pabouas cpepa / Fluids

MuHnmanbHas TemnepaTtypa / Minimum temperature: 0°C OunLyeHHbI BO3AYX CO CMa3Koil 1 6e3 cMasku.

(-20 °C npu ocyweHHoMm Bo3zayxe / with dry air) Filtered and lubricated compressed air as well as non

MakcumanbHas TemnepaTypa / Maximum temperature: +80 °C lubricated air.

1 6'1 4 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMPE/IA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Mini

23
T,
5
__ |
)

MRL

3aMOK LUTOKa
PISTON ROD LOCK

Kop

Cotb @ mm. A B C D E F G H L M N R
MRL020 20 M22x1.5 68.5 54 13 27 5 M5 22 235 34 35 23
MRL025 25 M22x1.5 69.5 54 13 27 5 M5 22 24.5 34 35 26

Kak 3aka3aTb / How to order

3aMoK WTOKa MOXeT ObiTb umcnonb3oBaH Tonbko The piston rod lock can be assembled only with
¢ uwnmHgpamn 1SO 6432 @ 20 wam 25 mm cylinders ISO 6432 @ 20 or 25 mm produced with

npoun3BeAeHHbIMN c YOAMNHEHHbIM wTokom. an extended piston rod. To identify the cylinder with
[inAa onpepeneHnsa yaNMHEHHOKO WITOKa Heobxoaumo nocnie  extended piston rod and piston rod lock assembled,
KoZa uunvHapa ykasaTb 6yksy “B”. it is necessary to mention after the article code of

the cylinder the letter “B”".

MF B 75 25
KO LMMHAPA A MOHTU‘J‘;KC;‘KS\ 3AMKOM IVAMETP LAAVHIPA Xof
CYLINDERICORE PISTON ROD LOCK ASSEMBLED BORE STROKE
MF < @20 <«
MH - @25 <«
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 61 5

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Mini
[MpuHagnexxHoctn ana unnmnHgpos / Mounting Accessories

MFL
ONAHEL, - FLANGE
fon  gmm. A B c R s
MFLOOg 810 12 3 30 9 45
MFLO12 12-16 16 4 40 13 55
MFL020 20-25 22 5 50 19 6.6
MPD
NAMNA - FOOT
for Gom. A B C D G H J R S
MPD008 810 12 45 35 25 11 16 16 10 3
MPD0O12 12-16 16 55 42 32 14 20 20 135 4
MPD020  20-25 22 66 54 40 17 25 25 18 5
MCC
CKOBA- CLEVIS BRACKET
fon gmm. B B C H L M N O s
MCCOos 810 45 4 125 20 24 125 81 17 25
MCCO12 1216 55 6 15 25 27 15 121 23 7 3
MCC020 2025 66 8 20 32 30 20 161 295 10 4
DA
TAMKA KPbILLUKW - NUT FOR COVERS
Kop / Code @ mm. A B C
0DA00005ID5ZI 8-10 M12x1.25 19 7
0DA000051E3ZI 12-16 M16x1.5 2 6
- 0DA000051F6ZI 20-25 M22x1.5 27 8
< A& —
.
B~ i ¢ ' TAVIKA LUTOKA - NUT FOR RODS
Kop / Code @ mm. A B C
0DA000051B1ZI 8-10 M4 7 32
0DA000051B8ZI 12-16 M6 10 5
0DA000051C32ZI 20 M8x1.25 13 6.5
0DA000051C9ZI 25 M10x1.25 17 8
16.16 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



Cepua Mini

FC

BWJTKA LUTOKA - YOKE WITH LOCABLE PIN

Hon @ mm. A B C E F G KK
FC008 8-10 21 8 16 8 4 4 M4
FCO12 12-16 31 12 24 12 6 6 M6
FC020 20 42 16 32 16 8 8 M8
FC020 25-32 52 20 40 20 10 10 M10x1.25

E
.
= @
Do v Lt
) gl
T 2
o | éll%
M
M éu'g
n
[2) =1 L

TF

COEPUYECKNIA HAKOHEYHVK CAMOCMAS3bBIBAIOLLIMCA- ROD ENDS SELF-LUBRIFICATING

Hon @ mm A B C [} D E F G H L M p S W g arpyska o peg,
0 0 +0,2
H7 0,13 SFERA +0,13 +0,5 +0,5 +0,7 +0,7 +0,5 0,7 40,25 kg kg g

TF008 8-10 5 7,7 8 11,1 6 18 M4x0,7 27 36 10 9 1Al 4 9 - - -

TFO12 12-16 6 89 9 12,7 6,75 20 Méx1 30 40 9 10 13 5 1 470 1.100 19

TF020 20 8 10,4 12 15,88 9 24  M8x1.25 36 48 12 12,5 16 5 14 780 1.900 36

TF020 25-32 10 12,9 14 19,05 105 28 M10x1,25 43 57 15 15 19 6,5 17 1.200 3.100 88

Aignep ocTaenseT 3a co60il NpaBo U3MeHATL MoAeNM pasmepbl 6e3 ysefomneHus. OBHOBJIEHVME OT: 18 AMNPEJIA 2013 1 61 7

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Mini Inox

JAIGNEP

MuHuumnunugpsl Inox / Mini Cylinders Inox

UunuHgpbl  paHHOW  cepum  MoOryT
B TaM rfe TpebyeTcAa HageXHoCTb W CcTabunbHas
pabota 6e3 kKakoro nmb6o o6cnyXmBaHuA. LunuHppbl
npov3BefeHbl B COOTBETCTBMM €O cTaHAapTom [SO 6432.
OHV npepHa3HauyeHbl  AnA paboTbl B KOPPO3MOHHbIX
yCIOBUAX N  ycnoBUAX BbICOKMX  TemnepaTtyp.

ncnonb3oBaTbCA

Mo 3anpocy: YnnotHeHua ns FKM.

The cylinders included in this range can be used in
any industrial fields where it is required a safety and
constant functionality without particular
maintenance. Mini cylinders  are manufactu-
red in conformity with standard ISO 6432. They are
particularly  suitable to be used in corrosive
and high temperatures environments.

On request: FKM seals.

TexHunyeckme xapaktepuctmku / Technical Characteristics

NaBneHue / Pressures

MuHumanbHoe aaeneHvie / Minimum pressure: 2 bar ( 0.2 MPa)
MakcumanbHoe gasneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MwuHumanbHasa TemnepaTypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcrnmanbHaa Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHDBIN BO3[YX CO CMa3KoW 1 6e3 cmMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Onwncanue / Functioning

[1ByXCTOPOHHEro AencTBMA MarHUTHBIN Y HEMarHUTHbIN.

Double-acting magnetic Double-acting without magnet.

AnameTtp ymnnngpos / Bores

16-20-25 mm.

Xop, / Strokes

CraHpapTHbIn xop / Standard Strokes
OT1 10 5o 320 mm / From 10 to 320 mm

16.18

Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013

UPDATED: APRIL 18, 2013



Cepua Mini Inox

FIAIGNEP

TexHuyeckne xapakrepuctukm / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

1 Tarka u3 ctanu AlSI 304

_

Steel AISI 304 Nut

2 lWrok u3 ctanu AlSI 316 2 Steel AISI 316 Piston rod
3 TlonnypeTaHoBOE YyMIOTHEeHWE 3 Polyurethane Rod seal

4 Kpblwka 13 ctanu AlSI 304 4 Steel AISI 304 Front cover
5 Tarka u3 ctanu AlSI 304 5  Steel AISI 304 Nut

6 BpOH30BbI NOAWMNMHNK 6  Sintered bronze Bearing
7 YnnoTHutenbHoe KonbLo 13 NBR 7 NBR O-RING Seals

8 bamnep 8 Neoprene Bumper

9 JlaTyHHbI NopLUEHb 9 Brass Piston

10 MonuypeTtaHOBOE yNnOTHEHNE 10  Polyurethane Piston seal
11 Maruut 11 Plastoferrite Magnet

12 Kopnyc us ctanu AlSI 304 12 Steel AISI 304 Mini cylinder shape body
13 Kpblwka n3 ctanu AlSI 304 13 Steel AISI 304 Back cover

Ycnnuna v notpebnenne / Forces And Consumptions

YCUNWE BbIABUMEHWA U BTATVIBAHUA - THRUST AND TRACTION FORCES

Pabouee paeneHve B bar
Operating pressure in bar

1 2 3 4 5 6 7 8 9 10

@ Cilindro @ Stelo Pabouan noBepxHOCTb B mm?2
@ Cylinder @ Rod  Working Surface in mm2

Pabouee ycunve 8 N
Output force in N

216 6 BbiaBmkeHme / Thrust = 200 18 36 54 72 90 108 126 144 162 180
BrarvnsaHue / Traction = 173 16 32 48 64 80 96 12 128 144 160
220 8 BobigsumkeHune / Thrust = 314 28 56 84 112 140 168 196 224 252 280
Brarvnsanwe / Traction = 264 24 48 72 96 120 144 168 192 216 240
@25 10 BbigsumkeHune / Thrust = 490 44 88 132 176 220 264 308 352 396 440
BrarvneaHue / Traction = 412 36 72 108 144 180 216 252 288 324 360

Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.19

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Mini Inox

MOTPEBJIEHME BO3QYXA - CYLINDER AIR CONSUMPTION

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm?2 Pabouee gasneHue B bar
@ Cylinder @ Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
MoTpebneHune Bo3ayxa B NL Ha Kaxable 10mm. xofa
Air consumption in NL for each 10mm. of stroke
@16 6 BbiasmkeHme / Thrust = 200 0,004 0,006 0,008 0,010 0,012 0,014 0,016 0,018 0,020 0,022
BrArueaHue / Traction = 173 0,003 0,005 0,007 0,009 0,010 0,012 0,014 0,016 0,017 0,019
@20 8 BoigsukeHne / Thrust = 314 0,006 0,009 0,013 0,016 0,019 0,022 0,025 0,028 0,031 0,035
BrarusaHue / Traction = 264 0,005 0,008 0,011 0,013 0,016 0,018 0,021 0,024 0,026 0,029
@25 10 Bobigsukerue / Thrust = 490 0,010 0,015 0,020 0,025 0,029 0,034 0,039 0,044 0,049 0,054
BrarvsaHwe / Traction = 412 0,008 0,012 0,016 0,021 0,025 0,029 0,033 0,037 0,041 0,045
Kak 3aka3aTb / How to Order
MFI 16 50
KoA OVAMETP LWNUHAOPA XoA
CODE BORE STROKE
CTAHIAPTHBIV XOA mm. - STD STROKES
@ mm. 10 25 50 80 100 125 160 200 250 320
16 ([ ] ([ ] [ ] [ (] [
20 [ ] [ ] [} [}
25 [ ] o [ ] [ ]
M+CARRERA/ STROKE
D R+CARRERA/ STROKE
C G G
N LY Ty
o <] X | (
NS |
~—] — L J
CH F P+CARRERA/ STROKE ‘
L K N

MFI

,D,BYXCTOPOHHEFO JENCTBUA MATHUTHBIN INOX - DOUBLE ACTING MAGNETIC INOX

@ mm. A A B D E F G K L M N P CH
16 M6 6 M16x1.5 12 19 6 18 M5 22 16 109 9 53 82 5
20 M8 8 M22x1.5 16 27 8 20 1/8G 24 20 131 12 67 95 7
25 M10x1.25 10 M22x1.5 16 30 8 22 1/8G 28 22 140 12 68 104 9
'I 620 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



FIAIGNEP

Cepua Mini Inox

[MpuHagnexxHocTn ana umnmHapos / Mounting Accessories

i MFLI
I ONIAHEL - FLANGE
----1} Hon gmm. A B c R s
- MFLIO16 16 16 4 40 13 55
B MFLI020 20-25 22 5 50 19 6.6
i
i MPDI
~®=  nana-roor
Hon gmm. A B C D G H J R S
MPDIO16 16 16 5.5 42 32 14 20 20 135 4
MPDIO20 2025 22 66 54 43 17 25 25 18 5
MCCI
CKOBA- CLEVIS BRACKET
Hon gmm. B Bl C H L M N O R S
McCclo16 16 5.5 6 15 25 27 15 121 23 7 3
MCCI020 2025 66 8 20 32 30 20 161 295 10 4
DAI
FAMKA KPbILLKM - NUT FOR COVERS
Kop / Code @ mm. A B C
0DA000043E300 16 M16x1.5 2 6
0DA000043F600 20-25 M22x1.5 27 8
| c | FAMKA LLITOKA - NUT FOR RODS
Kop / Code @ mm. A B C
0DA000043B800 16 M6 10 5
0DA000043C300 20 M8x1.25 13 65
0DA000043C900 25 M10x1.25 17 8

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.21



Cepua A95

JAIGNEP

Lnnnngpol A95 / Cylinders A95

Uunungpsl  A95 ¢ nuHelHbiM npodunem u

YMEHbLWUHbIMM rabapuTHbIMM pasmepamu
npegHasHauyeHbl [AfA MPYMEHeHUs B YCJIOBUAX
OrpaHNYeHHOoro npocTpaHCcTBa. Ncnonb3sya
cneumnanbHyto cbopouHyto onepauuto,

Ha3blBaemyto “double rolling” pgna coepguHeHun
3aAHel KpblWKU C uunanHApoM, obecrneuymBaeTca
bYyHKLMOHaNbHOCTD " repMUTUYHOCTb.

The cylinders A95 manufactured with a clean,
linear profile and reduced overall dimensions
are particularly suitable to be used in redu-
ced spaces. By using a special assembling
operation called “double rolling” to join the
end covers to the barrel, functionality and
resistance are ensured.

TexHunyeckme xapaktepuctmku / Technical Characteristics

[asneHwue / Pressures

MuHumanbHoe aaeneHie / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gasneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MwuHumanbHasa TemnepaTypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcrnmanbHaa Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHDBIN BO3[YX CO CMa3KoW 1 6e3 cmMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Onwncanue / Functioning

OfHO 1 ABYXCTOPOHHEro AeNCTBUA AeMMNGUPHBIV, MarHUTHBIN 1
HeMarHUTHbI, OAHO UM ABYXCTOPOHHWIA LLTOK.

Single and Double-acting cushioned Magnetic and no-
Magnetic, Single or through piston rod

AnameTtp ymnnngpos / Bores
32-40-50-63 mm.

Xopn / Strokes

CraHpapTHbIn xoa/ Standard Strokes
OT1 10 go 500 mm / From 10 to 500 mm

16.22

Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua A95

TexHuyeckne xapakrepuctukm / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

1 OuuWHKOBaHHasA CTafbHaA ranka

2 XpomupoBaHHbIN WTOK 13 ctanu C40

3 TonnypeTaHoBOE yniOTHEHNE
AHO[VMPOBaHHaA anloMUHNEBAA KPbILLKa
5 OuuHKOBaHHaA CTanbHasA rarka

6  BpOH30BbIN NOALNMHKK

7 YnnoTtHuTenbHoe Konbuo 13 NBR

8 bamnep

9  AHOAMPOBaHHbLIN antOMUHMEBDIN NOPLUEHb
10 TonuypeTtaHoBOE yNNOTHEHNE

11 MarnHut

12 Kopnyc n3 ctanu AlSI 304

13 AHOAVPOBaHHAA ANOMUHMEBAsA KPbILLKA

1
2

10
1
12
13

Zinc-plated steel Nut

Chrome steel C40 Piston rod
Polyurethane Rod seal

Anodised aluminium Front cover
Zinc-plated steel Nut

Sintered bronze Bearing

NBR O-RING Seals

Neoprene Bumper

Anodised aluminium Piston
Polyurethane Piston Seal
Bonded ferrite Magnet

Steel AISI 304 Cylinder shape body

Anodised aluminium Back cover

Ycnnune n notpebneHue / Forces And Consumptions

YCUNWE BbIABUMKEHWA N BTATUBAHWUA - THRUST AND TRACTION FORCES

@ Cilindro @ Stelo Pabouas NoBepXHOCTb B mm2 Pabouee paBnexue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
Pa6ouee ycunvie 8 N
Output force in N

@32 12 BobigsukeHwve / Thrust = 804 72 144 216 288 360 432 504 576 648 720
Brarvsanue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 16 BbiaBmkeHune / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarueanue / Traction = 1056 95 190 285 380 475 570 665 760 855 950
@50 20  BbigBukeHue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarveaHue / Traction = 1649 148 296 444 592 740 888 1036 1184 1332 1480
263 20  BoigBuxkeHwue / Thrust = 3117 280 560 840 1120 1400 1680 1960 2240 2520 2800

.22 Brarueanue/Traction=2803 = 250 500 750 1000 1250 1500 1750 2000 2250 2500

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.23



FJAIGNEP Cepnn A95

YCUNUNE MPYKNHbI - SPRING TRACTION FORCES

@ Cilindri CocCTosiHVE NPYXKUHDI Xop / Stroke
@ Cylinder Load Spring 10 25 50

Pabouee ycunve B N
Output force in N

@32 MpyxwuHa B nokoe / Load of spring at rest 56 51 42
Cxatan npyxmuHa / Load of compressed spring 60 60 60

@40 MpyxwuHa B nokoe / Load of spring at rest 60 55 44
Cxatan npyxuHa / Load of compressed spring 65 65 65

@50 MpyxwuHa B nokoe / Load of spring at rest 64 57 46
CxaTan npyxuHa / Load of compressed spring 68 68 68

263 MpyxwuHa B nokoe / Load of spring at rest 65 58 47
Cxatan npyxuHa / Load of compressed spring 70 70 70

MOTPEBJIEHME BO3JYXA - CYLINDER AIR CONSUMPTION

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm?2 Pabouee gasnexve B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpebneHune Bo3ayxa B NL Ha Kaxable 10mm. xoga
Air consumption in NL for each 10mm. of stroke

@32 12 Boiguxkenne / Thrust =804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
Brarusanue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
240 16 Boigsukenue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarueanue / Traction = 1056 0,021 0,032 0,042 0,053 0,063 0,074 0,084 0,095 0,106 0,116
@50 20 Boigeuxkenue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
Braruranue / Traction = 1649 0,033 0,049 0,066 0,082 0,099 0,115 0,132 0,148 0,165 0,181
263 20 Bbigeuxkenue / Thrust=3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
Braruganue / Traction = 2803 0,056 0,084 0,112 0,140 0,168 0,196 0,224 0,252 0,280 0,308

Kak 3aKka3aTb / How to Order

AB 32 10

Koa ANAMETP LUMIMHOPA xon
CODE BORE STROKE

CTAHOAPTHbBIV XOL mm. - STD STROKES

@ mm. 10 25 50 80 100 125 160 200 250 320 400 500
2 Ame  Amée Amée ‘0 40 40 40 %0 40 %0 ) 40
20 Ame Amée Amee ‘0 0 0 ‘0 ‘0 0 ‘0 ‘0 ‘0
50 Ame  Amée Amée ‘0 40 40 40 %0 40 %0 ‘0 )
3 Ame Amée Amee ‘0 0 0 ‘0 ‘0 0 ‘0 ‘0 ‘0

AB O}J,HOCTOPOHHEFO LENCTBUA MATHUTHBIN - SINGLE-ACTING MAGNETIC
AD OﬂHOCTOPOHHEFO JEVNCTBUA MATHUTHBIN - TONKAIOLLAA TIPYXXMHA - SINGLE-ACTING MAGNETIC - SPRING THRUST

A

|

® AF ,D,BYXCTOPOHHEFO JOEVCTBUA MATHUTHBIW - DOUBLE ACTING MAGNETIC

¢ AH D,BVXCTOPOHHEFO JNENCTBMA JEMIMOEPHbIA MATHUTHBIW - DOUBLE ACTING CUSHIONED MAGNETIC

® Al ,D.BYXCTOPOHHEFO JNENCTBUA MATHUTHBIA C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
14

AL ,D,BYXCTOPOHHEFO JEVNCTBMA OEMMN®EPHbIA MATHUTHbBIV C ABYXCTOPOHHVM LUTOKOM
DOUBLE ACTING CUSHIONED MAGNETIC WITH DOUBLE ROD END

1 6.24 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua A95

| G + CARRERA / STROKE

P!+ CARRERA / STROKE

P + CARRERA / STROKE

AB

OﬂHOCTOPOHHEFO JEVNCTBUA MATHUTHDBIA - SINGLE-ACTING MAGNETIC

@ mm. A A B T C D F G K L P P CH R
32 M10x1.25 12 M30x1.5 36.5 38 14 30 168 38 20 96 125 10 1/8" GAS
40 M12x1.25 16 M38x1.5 44 46 16 35 196 45 24 111 144 12 1/4" GAS
50 M16x1.5 20 M45x1.5 55 57 18 38 220 50 32 120 158 16 1/4" GAS
63 M16x1.5 20 M45x1.5 67.5 70 18 38 224 50 32 124 161 16 3/8" GAS

G + 2 X CARRERA / STROKE

P! + 2 X CARRERA / STROKE

A

]
ap—— Jgt___
|

|
B
Al
A
-y

CH F P + CARRERA / STROKE D

L K + CARRERA
STROKE

AD

OﬂHOCTOPOHHEFO [JENCTBUA MATHUTHBI - TONKAIOLLAA MPY>KMHA - SINGLE-ACTING MAGNETIC - SPRING THRUST

@ mm. A A B T C D F G K L P P CH R
32 M10x1.25 12 M30x1.5 36.5 38 14 30 168 38 20 96 125 10 1/8"GAS
40 M12x1.25 16 M38x1.5 44 46 16 35 196 45 24 m 144 12 1/4"GAS
50 M16x1.5 20 M45x1.5 55 57 18 38 220 50 32 120 158 16 1/4"GAS
63 M16x1.5 20 M45x1.5 67.5 70 18 38 224 50 32 124 161 16 3/8"GAS
Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.25

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

AF

Cepua A95

P1 + CARRERA / STROKE

G + CARRERA / STROKE

Al
A
.
|
T
i
| ||
P E

P + CARRERA / STROKE

ﬂ'BYXCTOPOHHEFO JEVNCTBUA MATHUTHBI - DOUBLE ACTING MAGNETIC

@ mm. A Al B T C D F G K L P P1 CH R
32 M10x1.25 12 M30x1.5 365 38 14 30 134 38 20 % 168 10 1/8"GAS
40 M12x1.25 16 M38x1.5 44 46 16 35 156 45 24 m 196 12 1/4"GAS
50 M16x1.5 20 M45x1.5 55 57 18 38 170 50 32 120 220 16 1/4"GAS
63 M16x1.5 20 M45x1.5 675 70 18 38 174 50 32 124 224 16 3/8"GAS
P1 + CARRERA / STROKE
c G + CARRERA / STROKE
T’ﬁi
-t - 4 <] [ IR
| B

AH

P + CARRERA / STROKE

ﬂ,BYXCTOPOHHEFO JENCTBMA OEMMOEPHbIA MATHUTHBIA - DOUBLE ACTING CUSHIONED MAGNETIC

@ mm. A Al B T C D F G K L P P1 CH R
32 M10x1.25 12 M30x1.5 36.5 38 14 30 134 38 20 96 168 10 1/8"GAS
40 M12x1.25 16 M38x1.5 44 46 16 35 156 45 24 m 196 12 1/4"GAS
50 M16x1.5 20 M45x1.5 55 57 18 38 170 50 32 120 220 16 1/4"GAS
63 M16x1.5 20 M45x1.5 67.5 70 18 38 174 50 32 124 224 16 3/8"GAS
16.26 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



FIAIGNEP Cepnn A95

K+ CARRERA /STROKE L
¢ oy
R R
~— s '

A = s I
Qg A\ N [ (& |

F P+ CARRERA /STROKE CH

L K

AJ

,D.BVXCTOPOHHEFO JENCTBMA MATHUTHBIA C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

@ mm. A A B T C F K L P CH R
32 M10x1.25 12 M30x1.5 36.5 38 30 38 20 96 10 1/8G
40 M12x1.25 16 M38x1.5 44 46 35 45 24 m 12 1/4G
50 M16x1.5 20 M45x1.5 55 57 38 50 32 120 16 1/4G
63 M16x1.5 20 M45x1.5 67.5 70 38 50 32 124 16 3/8G

K-+ CARRERA /STROKE L
¢ -
R R
i —t—t )
SEZS EEE= el =
N
F P+ CARRERA /STROKE CH
L K

AL

D.BVXCTOPOHHEFO JENCTBMA OEMM®. MATHUTHBIA C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING CUSHIONED MAGNETIC WITH DOUBLE ROD END

@ mm. A A B T C F K L P CH R
32 M10x1.25 12 M30x1.5 36.5 38 30 38 20 96 10 1/8G
40 M12x1.25 16 M38x1.5 44 46 35 45 24 111 12 1/4G
50 M16x1.5 20 M45x1.5 55 57 38 50 32 120 16 1/4G
63 M16x1.5 20 M45x1.5 67.5 70 38 50 32 124 16 3/8G
Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.27

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua A95

[MpuHagnexxHoctn ana unnmuHgpos / Mounting Accessories

Cc2
ol
R1 G | B3 | CH2 .
e T by -
5 —H- -1 a PN = 1 )
| — ! +w
- h |
< 1
| ' | v
T 1T
AT i
—-I | I—— i (7] é‘|
: N1 ! v B2 1
1 1
N2
CKOBA - CLEVIS BRACKET
Hon @mm. DI D2 A Al G M1 N1 N2 R1 S CH2  B1 B2 B3 v 1 Q
ACC032 32 10 16 7 35 20 M8x1 24 40 12 4 13 20 50.1 38.1 4 6 18
ACC040 40 12 18 9 40 27 M10x1 30 50 13 5 17 28 60.1 46.1 5 7 216
ACC050 50 14 23 9 45 30 Mi12x1.5 34 54 14 6 19 36 74.1 57.1 6 9 264
ACC063 63 16 24 9 50 34 M14x1.5 35 65 16 6 19 42 88.1 70.1 6 15 34
L3 + CARRERA / STROKE
A2 Ba <
——i—_— l == -
f PN B
=1 [ o) . L) e b
V " &
- — N 5
oo - g
— “ 1]1 " I
‘Al | A3 E | o :
L2 + CARRERA / STROKE ™ B3 e
JNIATMA - FOOT FLANGE
Kon
o @mm.  E E2 E3 Ci Q L2 L3 B3 B4 s Al A2 A3
APDO032 32 7 28 49 14 28 124 148 52 66 4 48 14 7
APD040 40 9 33 58 18 30 151 176 60 80 5 60 20 10
APDO050 50 9 40 70 20 40 160 190 70 90 6 64 20 10
APD063 63 9 45 80 20 50 164 194 76 96 6 65 20 10
Y
Gy P
- :
AGT h
TAVIKA - NUT
K
Colk @ mm. B D H
AGT032 32 M30x1.5 45 7
AGT040 40 M38x1.5 50 8
AGT050 50-63 M45x1.5 58 9
1 6.28 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua A95

APE

KPEMJIEHWE 2-x KOHTAKTHOE - PIVOT

I

Ko, @mm. D H L1 L2 L CH
APEO032 3 10 51 125 78 47 5
APE040 40 12 61 144 87 57 6
APEO50 50 14 75 18 9% 62 6
APE063 63 16 9 161 98 63 8
] .
1
B c
DA - T
TAMKA LLUTOKA - NUT FOR RODS
Kog / Code @ mm A B C
0DA000051C9ZI 32 M10x1.25 17 8
0DA000051D57I 40 M12x1.25 19 7
0DA000051E3ZI 50- 63 M16x1.5 2 6

I

>
2

- : _F?_FX—{
o = N
FC ’ ~

BWJTKA LUTOKA - YOKE WITH LOCABLE PIN

don, @ mm. A B c E F G KK
FC032 25-32 52 20 40 20 10 10 M10x1.25
FC040 40 62 24 48 24 12 12 M12x1.25
FC050 50-63 83 32 64 32 16 16 M16x1.5
E
T |
° [
'CL
T
o (K1 [ ]
TF ¥ P W"
COEPUYECKNM HAKOHEYHNK CAMOCMA3bBIBAIOLLCA - ROD ENDS SELF-LUBRIFICATING
ali gmm. A B C @ D E F G H L M P S W prouve Bec
0 0 +0,2
H7 -0,13 SFERA +0,13 +0,5 +0,5 +0,7 +0,7 +0,5 -0,7 0,25 kg kg g
TF032 25-32 10 12,9 14 19,05 11,5 30 M10x1.25 43 58 15 15 19 6,5 16 1.200  3.100 88
TFO40 40 12 154 16 22,23 12,5 34 M12x1.25 50 67 18 17,5 22 6,5 18 1400 3.700 120
TFO50 50-63 16 19,3 21 2858 155 42 Mi16x15 64 85 24 22 27 8 24 2500 6.300 240
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 629

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Compatti

FJAIGNEP

LunuHapbl komnakTHble / Compact Cylinders

FabapuTHble pa3mepsl KOMMAKTHbIX UWAMHOPOB Ha
50% MeHblUe MO CPAaBHEHMIO C OObIYHLIMU AHANOTUYHbIMU
uunMHApamMun. B paHHbIX umMnuHApax obecrneyeHo xopollee
akcmanbHoe conpotmeneHe.  LunnHgpbl OCHalleHbl C
Tpex CTOPOH HanpasBAAlLWUMM, Ha KOTOPbIX BO3MOXKHO
pasmMecTUTb npAYylWmMeca BbIKAlOYaTenn © 3nacTuUyHble
6amnepbl B KOHUe xofja wToka. @OuKcMpoBaHHOe
pactosHne mexay LeHTpamu UuAnHAPOB C AMaMeTpoM
ot 20 po 100 mm cooTtBeTcTBYeT cTaHgapty UNITOP.

The overall dimensions of these compact cylinders
are 50% smaller compared to a classic equivalent
cylinder; the  particular manufacturing  structure
ensures a good axial resistance. The new innovative
design has been equipped on three sides with guides
on whom it is possible to assembly the disappearan-
ce switches and elastic bumpers at the stroke end.
The fixing distances between cylinder's centers from
diameter 20 to 100 mm are in conformity with
the standard UNITOP.

TexHunueckune xapakrepuctukuy / Technical Characteristics

NaBneHue / Pressures

MuHumanbHoe aaeneHvie / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gasneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MuHumanbHas Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcumanbHas Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHBIV BO3[YX CO CMa3KoW 1 6e3 cMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Onwncanue / Functioning

OfHO 1 BYXCTOPOHHErO AeNCTBUA MarHUTHbIN, OAHO NN
[BYXCTOPOHHWI WITOK MarHUTHbIN, HE MOBOPOTHbIA MarHUTHbIN.
Single and Double-acting magnetic, Single or through piston
rod magnetic Antirotation magnetic.

AnameTtp ymnnnppos / Bores

OT1 12 go 100 mm / From 10 to 100 mm

Xopn / Strokes

CraHgapTHbIi xop / Standard Strokes

OT1 5 no 80 mm /From 5 to 80 mm

'I 630 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepua Compatti

TexHuyeckne xapakrepuctukm / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

1

0 N o WwN

11
12
13

XpOMUPOBaHHbI CTaSIbHON LUTOK

(AISI 303 oT 12 go 25) (C40 ot 32 po 100)
AHOAMpPOBaHHaA aNtoMUHMEBAA KPbILLKa
OUMNHKOBAHHbIN CTaNlbHOW BUHT
MonnypeTaHoBOE ynnoTHeHVe
BpoH30BbIN NOAWNNHUK
YnnotHuTtenbHoe konbuo 13 NBR
MonnypeTaHoBOE ynnoTHeHVe

Maruut

ANOMVHNEBBIV NOPLUEHD
YnnotHuTtenbHoe konbuo 13 NBR
OUuMHKOBaHHas CTaNbHaA ranka
AHOAVPOBaHHbIV anioMVHUEBbI Kopnyc
AHOAMpPOBaHHaA aNtoMUHMEBAA KPbILLKa

1

0 N O b wWwN

1
12
13

Chrome steel Piston rod
(AISI 303 from 12 to 25)(C40 from 32 to 100)
Anodised aluminium Front cover

Zinc-plated steel Screw
Polyurethane Rod Seal

Sintered bronze Bearing

NBR O-RING Seals

Polyurethane Piston Seal
Bonded ferrite Magnet
Aluminium Piston

NBR O-RING Seals

Zinc-plated steel Piston nut
Anodised aluminium Cylinder shape body
Anodised aluminium Back cover

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.31



Cepua Compatti

Ycunue nnotpebnerune / Forces And Consumptions

YCUNWE BbIABUMEHWA U BTATBAHWA - THRUST AND TRACTION FORCES

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm2
@ Cylinder @Rod  Working Surface in mm2

Pabouee naeneHve B bar
Operating pressure in bar

1 2 3 4 5 6 7 8 9 10
Pa6ouee ycunve 8 N
Output force in N
212 6 BbigBuxeHue / Thrust = 113 10 20 30 40 50 60 70 80 90 100
BrarusaHue / Traction = 85 7,5 15 22 30 37 45 52 60 68 75
216 8 BbiaBukeHume / Thrust = 200 18 35 53 70 920 105 125 145 160 180
BrarusaHue / Traction = 150 13 26 40 53 65 80 95 105 120 130
@20 10 BobigsukeHue / Thrust = 314 28 55 85 110 140 170 195 220 250 280
Brarusanue / Traction = 235 21 42 60 85 105 125 150 170 190 210
@25 10 BobigsukeHue / Thrust = 490 44 88 132 176 220 264 308 352 396 440
Brarvsanve /Traction=412 36 72 108 144 = 180 216 252 288 324 = 360
@32 12 BbiaBukeHue / Thrust = 804 72 144 216 288 360 432 504 576 648 720
Brarvsanue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 12 BbiaBmkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarueanue / Traction = 1144 100 200 300 400 500 600 700 800 900 1000
@50 16 BblaBuxeHue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarusaHue / Traction = 1762 155 310 465 620 775 930 1085 1240 1395 1550
263 16 BbigBmkeHue / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarvusaHue / Traction = 2916 260 520 780 1040 1300 1560 1820 2080 2340 2600
280 20  BbigBuxeHwue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
BrArueanue / Traction = 4712 420 840 1260 1680 2100 2520 2940 3360 3780 4200
@100 25  BoigsukeHue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
BrarusaHue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600
YCUNWE NPYXWHbI - SPRING TRACTION FORCES
@ Cilindri CocTofAHMe NPYKMHbI Xop / Stroke
@ Cylinder Load Spring 5 10 15 20 25
Pa6ouee ycunve 8 N
Output force in N
212 MpyxuHa B nokoe / Load of spring at rest 7,5 6,8
Cxatan npyxwHa / Load of compressed spring 8 8
216 MpyxuHa B nokoe / Load of spring at rest 12,3 10,8 9,5 7.8 6,5
CxaTan npyxmuHa / Load of compressed spring 133 133 133 13,3 13,3
@20 MpyxwuHa B nokoe / Load of spring at rest 15,7 14 12,2 10,4 87
Cxatan npyxuHa / Load of compressed spring 174 17,4 174 17,4 17,4
@25 MpyxuHa B nokoe / Load of spring at rest 19,5 18,5 17,3 16 15
CxaTtan npyxwuHa / Load of compressed spring 22 22 22 22 22
@32 MpyxuHa B nokoe / Load of spring at rest 27,8 2573 22,8 20,2 17,7
CxaTaa npyxmuHa / Load of compressed spring 30 30 30 30 30
240 MpyxwvHa B nokoe / Load of spring at rest 36,4 34 31,7 29,5 27
Cxatan npyxuHa / Load of compressed spring 36 36 36 36 36
@50 MpyxuHa B nokoe / Load of spring at rest 32 30,5 29 27,8 26,5
Cxatana npyxmuHa / Load of compressed spring 35 35 35 35 35
263 MpyxuHa B nokoe / Load of spring at rest 61 58,5 56,3 53,5 51,5
Cxartan npyxuHa / Load of compressed spring 64,8 64,8 64,8 64,8 64,8
@80 MpyxuHa B nokoe / Load of spring at rest 91,3 88 85 82 78,7
CxaTan npyxmuHa / Load of compressed spring 94 94 94 94 94
@100 MpyxuHa B nokoe / Load of spring at rest 150 145 140 134 129
Cxatan npyxwuHa / Load of compressed spring 156 156 156 156 156
'I 632 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua Compatti

MOTPEBJIEHVE BO3YXA - CYLINDER AIR CONSUMPTION

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm2
@ Cylinder @Rod  Working Surface in mm2

Pabouee gasneHve B bar
Operating pressure in bar

1 2 3 4 5 6 7 8 9 10
MoTpebneHne Bo3ayxa B NL Ha Kaxable 10mm. xofa
Air consumption in NL for each 10mm. of stroke
212 6 BobigsukeHne / Thrust = 113 0,002 0,003 0,005 0,006 0,007 0,008 0,009 0,010 0,011 0,012
BrarusaHue / Traction = 85 0,002 0,003 0,003 0,004 0,005 0,006 0,007 0,008 0,009 0,009
@16 8 BobigsmkeHue / Thrust = 200 0,004 0,006 0,008 0,010 0,012 0,014 0,016 0,018 0,020 0,022
Brarusanve /Traction=150 0003 0005 0006 0008 0009 0011 0012 0014 0015 0017
220 10 BbiaBukeHune / Thrust = 314 0,006 0,009 0,013 0,016 0,019 0,022 0,025 0,028 0,031 0,035
Brarusanuee / Traction = 235 0,005 0,007 0,009 0,012 0,014 0,016 0,019 0,021 0,024 0,026
@25 10 BobigsmkeHue / Thrust = 490 0,010 0,015 0,020 0,025 0,029 0,034 0,039 0,044 0,049 0,054
Brarusanve /Traction=412 0008 0012 0016 0021 0025 0029 0033 0037 0041 0045
@32 12 BobigsukeHue / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
BrarvsaHwue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
@40 12 BblaBmkenue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
BrarueaHue / Traction = 1144 0,023 0,034 0,046 0,057 0,069 0,080 0,092 0,103 0,114 0,126
@50 16 BblgBukeHune / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarueaHwue / Traction = 1762 0,035 0,053 0,070 0,088 0,106 0,123 0,141 0,159 0,176 0,194
@63 16  BblgBukenune / Thrust =3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
BrarusaHue / Traction = 2916 0,058 0,087 0,117 0,146 0,175 0,204 0,233 0,262 0,292 0,321
280 20  BbigBuxeHnwue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarueaHue / Traction = 4712 0,094 0,141 0,188 0,236 0,283 0,330 0,377 0,424 0,471 0,518
2100 25  BbigBukeHue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarusaHwue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810
Kak 3aka3atb / How to Order
QB 32 10
Kop IOVIAMETP LIWTIVHAPA Xon
CODE BORE STROKE
CORSE STANDARD mm. - STD STROKES
@ mm. 5 10 15 20 25 30 40 50 60 80 100 125 150 200
12 A# A o# o# o o# o o#
16  Ae# AeH AeH AeH Aef# oft ot
0 Ae# Aot Aot Aot Ae# o o# o#
35 Ae#H Ao Ao Ao Ae# off ot  off
32 Ao# Ao Aot Aeo#H Aeo# oft oft ot ot oft ° ° °
0 Ao Ae# Aol Ao Ae# off off o o o o ° °
50 Ao# Ao Aot Aeo#H Aeo# o# ot ot ot o# ° ° ° °
63 Aot Aot Aeo# Aeo# Ao# o ot ot off o# ° ° ° °
80 Ao# Ao Aot Aeo#H Aeo# o# ot ot ot o# ° ° ° °
100 Ae#H AeH Ae#H AeH Ae# ot off ot off o# ° ° ° °
A QB O)J,HOCTOPOHHEFO JENCTBUA MATHUTHBIN - SINGLE-ACTING MAGNETIC
A QD OHHOCTOPOHHEFO JENCTBUA MATHUTHbIN - TONIKAIOLLAA MPYXXIHA - SINGLE-ACTING MAGNETIC - SPRING THRUST
b QF ,D,BYXCTOPOHHEFO JENCTBMA MATHUTHBIV - DOUBLE ACTING MAGNETIC
b QJ ‘D'BYXCTOPOHHEFO NEVNCTBUA MATHUTHbBIN C ABYXCTOPOHHMM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
# QFA D'BYXCTOPOHHEFO NENCTBUA MATHUTHbBIA HE MOBOPOTHbIV - DOUBLE-ACTING MAGNETIC ANTIROTATION
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 63 3

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Compatti

XY 2

T3
Hi+ D12-16-20-25 D32-40-50-63-80-100
10, ®YY®) )
o i = (AR = Sl w4
° ) Y hd - & FPBHY)Huw- MANS) ]
R | @AY A\ | (Y
T2 &) H & & &
~ I . NT/
LN | E L1 E L1
N1+ L L
H2 H+ L2 L2

+= afadir la carrera + = add stroke :’%%%4 1

QB

O)JHOCTOPOHHEFO LENCTBUA MATHUTHDBI - SINGLE-ACTING MAGNETIC

@ mm. T T1 T2 D1 L E1 M3 T3 M2 H H2 D2 N N1 L2 E L1 H1 CH
12 6 4 15 6 29 M5 M4 16 M3 35 7.5 6 65 285 30 18 1 42.5 5
16 8 4 2 6 29 M5 M4 16 M4 35 8.5 8 6.5 285 30 18 1 435 7
20 8 4 2 6 36 M5 M5 185 M5 39 7 10 8 31 375 22 15 46 9
25 8 4 2 6 40 M5 M5 185 M5 39 7 10 8 31 415 26 1.5 46 9
32 10 4 2.8 6 50 G1/8 M6 215 M6 42 7 12 6.5 355 52 32 2 49 10
40 10 4 2.8 6 60 G1/8 M6 215 M6 455 8.5 12 7.5 38 62.5 42 25 54 10
50 12 4 35 6 68 G1/8 M8 235 M8 455 10 16 7.5 38 71 50 3 55.5 13
63 12 4 35 8 87 G1/8 M10 285 M8 51 105 16 75 435 91 62 4 61.5 13
80 16 4 4.5 8 107 G1/8 MI10 285 MI10 62 12 20 95 525 111 82 4 75 17
100 20 4 6 8 128 G1/4 M10 285 MI12 68 155 25 105 575 133 103 5 83.5 22

16.34 Aignep ocTagnsieT 3a cO60/i NPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEOMIeHNA. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Compatti

/Am [s2} e .‘ , ¥ e
2 - . S
LT3 | b @M
H1++ 012-16-20-25 ©32-40-50-63-80-100
- O [] D T@ B
g ] Tt 2 S A
Z7
S = -~ —
| B o108 30—y - < sHE—H -
N E L1 E L1
N1+ L L
Ho+ H+ L2 L2
+= afiadir la carrera + = add stroke

++= afadir 2 veces la carrera ++ = double stroke dimension and add it :":

QD

O,[lHOCTOPOHHEFO JENCTBUA MATHUTHBI - TONKAIOLLIAA MPY>KMHA - SINGLE ACTING MAGNETIC - SPRING THRUST

2 mm. T T T2 D1 L E1 M3 T3 M2 H H2 D2 N N1 L2 E L1 H1 CH
12 6 4 15 6 29 M5 M4 16 M3 35 7.5 6 65 285 30 18 1 425 5
16 8 4 2 6 29 M5 M4 16 M4 35 8.5 8 65 285 30 18 1 43.5 7
20 8 4 2 6 36 M5 M5 185 M5 39 7 10 8 31 375 22 15 46 9
25 8 4 2 6 40 M5 M5 18.5 M5 39 7 10 8 31 415 26 1.5 46 9
32 10 4 2.8 6 50 G1/8 M6 215 M6 42 7 12 6.5 355 52 32 2 49 10
40 10 4 2.8 6 60 G1/8 M6 215 M6 455 85 12 7.5 38 625 42 25 54 10
50 12 4 35 6 68 G1/8 M8 235 M8 455 10 16 75 38 71 50 3 55.5 13
63 12 4 35 8 87 G1/8 M10 285 M8 51 10.5 16 7.5 435 91 62 4 61.5 13
80 16 4 4.5 8 107  G1/8 M10 285 M10 62 12 20 9.5 525 111 82 4 75 17
100 20 4 6 8 128 G1/4 M10 285 M12 68 15.5 25 105 575 133 103 5 83.5 22

Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.35

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Compatti

: \‘u
XV 2 -
- —
Hi+ D12-16-20-25 D32-40-50-63-80-100
U110 @Y @) )
Y i = T A :E A -
: oo 8 PFHOJiv - 5O ]
R | @AY 2 (Y
2 &) H & @ &
= ] . (N7
LN E L1 E L1
N1+ L L
H2 H+ L2 L2
+= afadir la carrera + = add stroke r

QF

,D,BYXCTOPOHHEFO JENCTBUA MATHUTHBI - DOUBLE-ACTING MAGNETIC

@ mm. T T1 T2 D1 L E1 M3 T3 M2 H H2 D2 N N1 L2 E L1 H1 CH
12 6 4 15 6 29 M5 M4 16 M3 35 7.5 6 65 285 30 18 1 425 5
16 8 4 2 6 29 M5 M4 16 M4 35 8.5 8 6.5 285 30 18 1 435 7
20 8 4 2 6 36 M5 M5 185 M5 39 7 10 8 31 375 22 1.5 46 9
25 8 4 2 6 40 M5 M5 18.5 M5 39 7 10 8 31 415 26 1.5 46 9
32 10 4 2.8 6 50 G1/8 M6 215 M6 42 7 12 6.5 355 52 32 2 49 10
40 10 4 2.8 6 60 G1/8 M6 215 M6 455 85 12 7.5 38 625 42 25 54 10
50 12 4 35 6 68 G1/8 M8 235 M8 455 10 16 7.5 38 71 50 3 555 13
63 12 4 35 8 87 G1/8 M10 285 M8 51 10.5 16 7.5 43.5 91 62 4 61.5 13
80 16 4 4.5 8 107  G1/8 M10 285 M10 62 12 20 9.5 525 111 82 4 75 17
100 20 4 6 8 128 G1/4 M10 285 MI12 68 15.5 25 105 575 133 103 5 83.5 22

16.36 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Compatti

FIAIGNEP

Ny

9]

QJ

+= afadir la carrera
++= afadir 2 veces la carrera

+ = add stroke

++ = double stroke dimension and add it

oz
T3
H1+ D12-16-20-25
H3++
TRl D T @) @
el |4 org = 2
a i =)t )T
3 2 A @l - Yl
® | @) CEEE)
T2 | N n\\Z S .[;_-]\
™ . P E L1
L
N1+ L
L2
H2 H+ H2+ L2

ﬂ.ByXCTOPOHHEFO JENCTBMA MATHUTHBIA C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

2 mm. T M2 T2 D2 L E1 M3 T3 CH H H2 H3 N N1 L2 E L1 H1
12 6 M3 15 6 29 M5 M4 16 5 35 7.5 50 6.5 285 30 18 1 42.5
16 8 M4 2 8 29 M5 M4 16 7 35 85 52 6.5 285 30 18 1 43.5
20 8 M5 2 10 36 M5 M5 18.5 9 39 7 53 8 31 37.5 22 15 46
25 8 M5 2 10 40 M5 M5 18.5 9 39 7 53 8 31 41.5 26 15 46
32 10 M6 28 12 50 G1/8 M6 215 10 42 7 56 6.5 355 52 32 2 49
40 10 M6 2.8 12 60 G1/8 M6 215 10 45.5 85 62.5 7.5 38 62.5 42 25 54
50 12 M8 35 16 68 G1/8 M8 235 13 45.5 10 65.5 7.5 38 71 50 3 555
63 12 M8 35 16 87 G1/8 M10 285 13 51 10.5 72 75 435 91 62 4 615
80 16 M10 45 20 107  G1/8  M10 285 17 62 12 86 9.5 525 111 82 4 75
100 20 M12 6 25 128 G1/4 M10 285 22 68 155 29 105 575 133 103 5 83.5

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013



Cepua Compatti

D2
X

=)
T3
D12-16-20-25 D32-40-50-63-80-100
H1+
TL TL
] 4
— L RN &)
w = T \Jf\ \\J § A /\\J
fE— — N \ N %
PN AAET o @) . o @ Ul
P 2 = RN J 4P
A an
w \% ») ) AN
@' | 1 (OIINCS!
) J_ < Y
H2 N E E
L1 N1+ L L
H+ L2 L2
H4+ r
+= afadir la carrera + = add stroke
* = para carrera corta rosca pasante  * = Through threads only on small strokes
ﬂ,ByXCTOPOHHEro JENCTBUA MATHUTHbIV HE MOBOPOTHbIN - DOUBLE-ACTING MAGNETIC ANTIROTATION
@ mm. A B C D D1 D2 E F F1 H H1 H2 H4 L L1 L2 M3 N NTOT1T T3 TL
12 M3 6 35 4 6 6 18 M3 3 35 425 75 475 29 5 30 M4 65 285 4 16 99
16 M3 6 35 4 6 8 18 M3 3 35 435 85 485 29 5 30 M4 65 285 4 16 99
20 M3 6 35 6 6 10 22 M4 4 39 46 7 54 36 8 375 M5 8 31 4 185 12
25 M4 8 45 6 6 10 26 M5 5 39 46 7 54 40 8 415 M5 8 31 4 185 156
32 M4 8 55 6 6 12 32 M5 5 42 49 7 59 50 10 52 M6 65 355 4 215 198
40 M4 8 55 6 6 12 42 M5 5 455 54 8.7 64 60 10 625 M6 75 38 4 215 233
50 M6 11 7 8 6 16 50 M6 6 455 555 102 675 68 12 71 M8 75 38 4 235 297
63 M6 11 7 8 8 16 62 M6 6 51 615 105 735 87 12 91 M10 75 435 4 285 354
80 M8 14 9 12 8 20 82 M8 8 62 75 12 89 107 14 111 M10 95 525 4 285 46
100 M8 14 9 12 8 25 103 MI10 10 68 835 155 975 128 14 133 MI10 105 575 4 285 566
'I 638 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



AIGNEP Cepua Compatti

[MpuHagnexxHocTn ana umnmHapos / Mounting Accessories

MATEPVIAJT: CTATTb  — i _
MATERIAL: STEEL - ___--""-
| 5 -
0.5x45° 0.5x45° =
% | 3 .
| ©-0 - - ]

C
B
A
©
s
r [
W

(e :
Hote e
P 77 - 4
o N
i . j
n W)
QFL A
ONAHEL - FLANGE
Hon gmm. A B C D E F G H [ L M
QFLOT2 12-16 18 43 55 18 29 45 9 55 10 54 10
QFL020 20 2 55 70 2 3 55 10 66 10 54 12
QFL025 25 %6 60 76 26 40 55 10 66 10 54 12

MATEPWA: CTAJTb
MATERIAL: STEEL

|
‘ &
oo el
@ -r@ 0.5x45° é.5x45° 3 ,_3 e

QFL g e
ONAHEL| - FLANGE
Hon @mm. A B C D E F G H [ L M N
QFL032 32 32 65 8 32 50 66 11 7 0 64 14 32
QFL040 40 42 82 102 42 60 66 1 9 10 64 14 36
QFLO50 50 50 9 110 50 68 9 15 9 12 86 18 45
QFL063 63 62 110 130 62 8 11 15 9 15 106 18 50
QFL080 80 82 135 160 82 107 11 18 12 15 106 23 63
QFL100 100 103 163 190 103 128 11 18 14 15 106 28 75
MATERIAL STERL . —I— 57 e
STEEL |1 T/ -

QCP T

KPOHLLUTEH- LOW-RISE PEDESTAL

Hon @mm. C B D E F G H [ S T R U z
QCPO12 12-16 18 18 30 175 175 44 13 13 3 15 9 2 5.5
QCP020 20 22 22 36 22 22 54 16 16 4 17 10 2 6.6
QCP025 25 26 26 40 22 23 5.4 17 16 4 19 1 2 6.6
QCP032 32 32 32 50 26 24 6.6 16 18 5 20 12 2 6.6
Aignep ocTasnseT 3a co60il NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMIEHNUS. OBHOBJIEHVE OT: 18 AMPENA 2013 16.39

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

Cepua Compatti

o s /G
MATEPVIAJT: CTATTb , ' /
MATERIAL: STEEL N <§ 8
EG 1B)-1— oe
in
U (x4) s
sl I
QCP L
KPOHLUTEWMH- LOW-RISE PEDESTAL
Hon @mm. C B D E F G H | s u z
QCP040 40 42 4 60 28 295 66 215 20 5 5 9
QCPO50 50 50 50 68 32 30 9 22 24 6 5 9
QCPO63 63 62 62 84 39 39 9 285 27 6 5 1
QCP080 80 82 82 102 365 365 11 245 30 8 5 1
QCP100 100 103 103 123 385 385 11 265 33 8 5 135
MATEPWAJT: AJIOMUHUN
MATERIAL: ALUMINIUM
B
D c -B
| A-A
T
(&) | J@ — I
T A
A-htlr|-t < @ 5
Jiy Ty ‘ H
§51 fE % L -+ }
T il Wl r‘ ) /[V/IA : r% [aly
A B A L
A
QCM B
METNA CAMOCMA3bIBAKOWAACA -MALE HINGE WITH SELF-LUBRICATING BUSHES
Hon @mm. A B C D E F G H | L M N 0 P Q
QCcMo12  12-16 18 27 10 45 26 6 16 2 6 45 10 8 12 3
QCM020 20 22 34 11 5 26 6 20 2 8 55 12 10 16 3 8
QCM025 25 26 38 1 5 26 6 20 2 8 55 12 10 16 3 8
MATEPWAJT: ATIOMUHWI
MATERIAL: ALUMINIUM
D C
BN 1 A-A P
T
OL i \ — | | o ]
- 77 ! L
- — — 4+ <« o 1 T \
O Iy ’i}@
"|' I Yo% ///,
A B A 0.5x45°
A oM
QcF 5 6-B
MET/I1 CAMOCMA3bIBAIOLLAACS - FEMALE HINGE WITH SELF-LUBRICATING BUSHES
Hon Gmm. A B C D E F G H [ L M N 0 P Q
QCF032 32 32 48 135 55 55 9 2 25 0 66 14 12 26 45 10
QCF040 40 42 58 135 55 55 9 25 25 125 66 14 14 28 52 12
QCF050 50 50 66 155 75 65 1 27 25 125 9 18 14 32 60 12
QCF063 63 62 83 18 75 65 1 32 4 15 1 18 18 40 70 16
QCF080 80 82 102 19 9 10 13 36 4 15 1 23 18 50 90 16
QCF100 100 103 123 19 9 10 15 M 4 20 1 28 23 60 110 20
1 640 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua Compatti

MATEPUAI: ATIOMUHIA
MATERIAL: ALUMINIUM

T | E
1 | m
o ‘ THT T
o Lt L i
—— \.-—QO
BN BG
VAS 50 B
LUAPHWPHOE KPEMJIEHWVE - SQUARE JOINT
Kon
Code Z@mm.  Q BG BH BI BM BN BO BQ BR
VAS032 32 6.6 18 31 21 32 38 51 26 20
VAS040 40 6.6 22 35 24 36 41 54 28 22
VAS050 50 9 30 45 33 45 50 65 32 26
VAS063 63 9 35 50 37 50 52 67 40 30
VAS080 80 11 40 60 47 63 66 86 50 30
VAS100 100 11 50 70 55 71 76 96 60 38
BU
MATEPWAJT: CTAJIb o
MATERIAL: STEEL 15) 0]
Q Q
CH O
BT — |-
MAJIELL CO CTOIMNMOPHbBIM KOJIbLIOM - PIN WITH SEEGER
Hon Zgmm. G BT BU CG CH
VPEO32 32 10 46 53 9.6 1.1
VPE040 40 12 53 60 1.5 1.1
VPEO50 50 12 61 68 11.5 1.1
VPE063 63 16 71 78 15.2 1.1
VPE080 80 16 91 98 15.2 1.1
VPE100 100 20 11 118 19 13
E
MATEPWAI: CTAJIb
MATERIAL: STEEL n
T
o
-t
1
COEPUYECKMA HAKOHEYHWK - MALE ROD ENDS
Codice YCWIINE PALNASIBHOE
Code 2 mm. A B C 4 D E F G H L DINAMICO _ STATICO BEC
TM020 20-25 5 7.5 8 11.11 7.5 18 M5x0.8 33 42 19 430 1000 13
TM032 32-40 6 8.9 9 12.7 7.5 20 Mé6x1 36 46 21 470 1100 15
TMO050 50-63 8 104 12 15.88 9.5 24  M8x1.25 42 54 25 780 1900 34
TMO080 80 10 129 14 19.05 1.5 30 M10x1.5 48 63 28 1200 3100 70
TM100 100 12 15.4 16 2223 125 34 MI12x1.75 54 71 32 1400 3700 110

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.41



Cepua Corsa Breve

FJAIGNEP

Linnnngpbl kopotkoxogosble / Short Stroke Cylinders

labaprTHble pa3Mepbl KOPOTKOXOAOBbIX LUIMHAPOB Camble
MasieHbKure. [JaHHasa OCOBGEHHOCTb MO3BOJISET MCMONb30BaTb
UMAVHAPLI B YCIIOBUAX OFPaHUYEHHOrO MpPOCTPaHCTBa.
UunnHppbl  OCHalleHbl C TPEX CTOPOH HanpaBnAWUMA, Ha
KOTOPbIX BO3MOXHO Pa3MeCcTuTb NPAYYLLMeca BbiKouaTenu u
3nacTuyHble 6amnepbl B KOHLe Xofa WToKa. PuKcnpoBaHHoe
pacTofHWe MexZy  LeHTpaMy LWINHAPOB C AMAMeTPOM
ot 20 go 25 mm cootBetcTBYeT cTtaHgapTy UNITOP, a ot
32 po 100 mm cootBeTcTBYIOT cTaHdapTy VDMA ISO 6431.

The overall dimensions of the short stroke cylinders
are absolutely the smallest, this characteristic identify
this line as the most suitable to be used in reduced
spaces. Over the last generation outside profile, on
three sides, it has been obtained the guides on whom
it is possible to assembly the disappearance switches
and elastic bumpers at the stroke end. The fixing
distance between cylinder’s centers for
diameter 20 and 25 mm are in conformity with the
standard UNITOP, from 32 to 100 mm match the
VDMA ISO 6431 standards.

TexHunyeckmne xapaktepuctuku / Technical Characteristics

[asneHwue / Pressures

MuHuMmanbHoe gasneHve / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe aasneHne / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MuHumanbHasa TemnepaTypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcrnmanbHaa Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEeHHBIN BO3[YX CO CMa3KoW 1 6e3 cmasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

OnwncaHue / Functioning

OAHO 1 ABYXCTOPOHHErO AENCTBMA MarHUTHbI, OfHO NN
[BYXCTOPOHHWI WTOK MarHUTHbIV, HE MOBOPOTHbIN MarHUTHbIN.
Single and Double-acting magnetic, Single or through piston rod
magnetic Antirotation magnetic.

AnameTtp ymnnngpos / Bores

OT1 12 go 100 mm / From 12 to 100 mm

Xop, / Strokes

CraHpapTHbI xoa/ Standard Strokes

O15 o 100 mm / From 5 to 100 mm

'I 642 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepua Corsa Breve

TexHuyeckune xapakrepuctuku / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

1

2
3
4

10

12
13

CranbHoe CTONOPHOE KOJbLo
MonnypeTaHoBOE ynnoTHeHNe
AHOAVPOBaHHaA anloMUHEBAsA KpPbILLKa
YnnotHeHue n3 NBR

BpOoH30BbIV NOAWNMHMK

XpOMUPOBaHHbI CTajIbHOM LUTOK
(AISI 303 oT 12 go 25) (C40 ot 32 go 100)

MonnypetaHoBOe ynnoTHeHVe
ANOMVHNEBbBIV NOPLUEHD

Marnut

YnnoTtHutenbHoe Konbuo 13 NBR
OuMHKOBaHHaA CTanbHasA ranka
AHOAMPOBaHHbIV alOMUHNEBBIN KOpMyC

AHO,U,I/IpOBaHHaH aJllOMNHNEBAA KpblLKa

1

2
3
4

10

12
13

Steel Seeger

Polyurethane Rod Seal

Anodised aluminium Front cover
NBR Seals

Sintered bronze Bearing

Chrome steel Piston rod
(AISI 303 from 12 to 25)(C40 from 32 to 100)

Polyurethane Piston Seal

Aluminium Piston

Plastoferrite Magnet

O-Ring in NBR

Zinc-plated steel Piston Nut

Anodised aluminium Cylinder shape body

Anodised aluminium Back cover

NB: MEPEAHAA U 3AAHAA KPbILLKW @12 @16 @20 @25 CAENTAHDI U3 NTIATYHN
NB: FRONT AND BACK COVER @12 @16 @20 @25 ARE MADE IN BRASS

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.43



Cepua Corsa Breve

Ycnnue n notpebnerHue / Forces And Consumptions

YCWIUE BbIABUMEHWA U BTATUBAHWUA - THRUST AND TRACTION FORCES

@ Cilindro @ Stelo Pabouas NoBEpPXHOCTb B mm?2 Pabouee naeneHve B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

Pa6ouee ycunve 8 N
QOutput force in N

212 6 BobigsmkeHue / Thrust = 113 10 20 30 40 50 60 70 80 90 100
Brarmeanue / Traction =85 7,5 15 22 30 37 45 52 60 68 75
216 8 BbiaBvkeHune / Thrust = 200 18 35 53 70 920 105 125 145 160 180
Brarusanue / Traction = 150 13 26 40 53 65 80 95 105 120 130
220 10 BbigBukeHue / Thrust = 314 28 55 85 110 140 170 195 220 250 280
Brarueanue / Traction = 235 21 42 60 85 105 125 150 170 190 210
@25 10 BbiaBvkeHue / Thrust = 490 44 88 132 176 220 264 308 352 396 440
Brarueanue / Traction = 412 36 72 08 44 80 216 252 288 324 360
@32 12 BbiaBukeHue / Thrust = 804 72 144 216 288 360 432 504 576 648 720
Brarueanue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 12 Bobigsukenue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarvsanue / Traction = 1144 100 200 300 400 500 600 700 800 900 1000
@50 16 Boigsuxene / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
Brarvueanue / Traction = 1762 155 310 465 620 775 930 1085 1240 1395 1550
263 16 BbigBuxkeHme / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarusaHue / Traction = 2916 260 520 780 1040 1300 1560 1820 2080 2340 2600
@80 20 Bbigsukenue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
Brarvanue / Traction = 4712 420 840 1260 1680 2100 2520 2940 3360 3780 4200
@100 25  BbigBukeHwue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
Brarveanue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600

YCUIME MPY>KHbI - SPRING TRACTION FORCES

@ Cilindri CocTrosAHMe NPy Hbl Xop / Stroke
@ Cylinder Load Spring 5 10 15 20 25 30 40 50

Pa6ouee ycunvie B N
Output force in N

@12 MpyxwuHa B nokoe / Load of spring at rest 7,5 6,8 6 52 4.5
Cxatan npyxuHa / Load of compressed spring 8 8 8 8 8
@16 MpyxwuHa B nokoe / Load of spring at rest 12,3 10,8 9,5 78 6,5
CxaTan npyxuHa / Load of compressed spring 13,3 13,3 13,3 13,3 13,3
@20 MpyxwuHa B nokoe / Load of spring at rest 15,7 14 12,2 10,4 8,7
Cxatan npyxuHa / Load of compressed spring 17,4 17,4 17,4 17,4 17,4
@25 MpyxwuHa B nokoe / Load of spring at rest 19,5 18,5 17,3 16 15
Cxatan npyxuHa / Load of compressed spring 22 22 22 22 22
@32 MpyxwuHa B nokoe / Load of spring at rest 27,8 253 22,8 20,2 17,7
CxaTan npyxuHa / Load of compressed spring 30 30 30 30 30
@40 MpyxwrHa B nokoe / Load of spring at rest 36,4 34 31,7 29,5 27
Cxatan npyxuHa / Load of compressed spring 36 36 36 36 36
@50 MpyxwuHa B nokoe / Load of spring at rest 32 30,5 29 27,8 26,5
Cxaran npyxuHa / Load of compressed spring 35 35 35 35 35
263 MpyxvrHa B nokoe / Load of spring at rest 61 58,5 56,3 53,5 51,5
Cxatan npyxwHa / Load of compressed spring 64,8 64,8 64,8 64,8 64,8
@80 MpyxwuHa B nokoe / Load of spring at rest 91,3 88 85 82 78,7
Cxatan npyxuHa / Load of compressed spring 94 94 94 94 94
@100 MpyxwuHa B nokoe / Load of spring at rest 150 145 140 134 129
Cxatan npyxuHa / Load of compressed spring 156 156 156 156 156
1 6.44 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

MOTPEBJIEHVE BO3QYXA - CYLINDER AIR CONSUMPTION

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm?2 Pabouee naBnHeHue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpebneHne Bo3ayxa B NL Ha kKaxpable 10mm. xoaa
Air consumption in NL for each 10mm. of stroke

212 6 BbiaBmkeHune / Thrust =113 0,002 0,003 0,005 0,006 0,007 0,008 0,009 0,010 0,011 0,012
Brarusanue / Traction = 85 0,002 0,003 0,003 0,004 0,005 0,006 0,007 0,008 0,009 0,009

216 8 BbiaBvkeHme / Thrust = 200 0,004 0,006 0,008 0,010 0,012 0,014 0,016 0,018 0,020 0,022
BrarusaHue / Traction = 150 0,003 0,005 0,006 0,008 0,009 0,011 0,012 0,014 0,015 0,017

220 10 Bbiasvkenme / Thrust = 314 0,006 0,009 0,013 0,016 0,019 0,022 0,025 0,028 0,031 0,035
Brarvusanue / Traction = 235 0,005 0,007 0,009 0,012 0,014 0,016 0,019 0,021 0,024 0,026

@25 10 BbiaBmkeHmne / Thrust = 490 0,010 0,015 0,020 0,025 0,029 0,034 0,039 0,044 0,049 0,054
BrarueaHue / Traction = 412 0,008 0,012 0,016 0,02 0,025 0,029 0,033 0,037 0,04 0,045

@32 12 BbiaBvkeHme / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
BrarusaHue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076

240 12 BbigBwkenue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarusanue / Traction = 1144 0,023 0,034 0,046 0,057 0,069 0,080 0,092 0,103 0,114 0,126

@50 16 BbigBukeHue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
Brarusanue / Traction = 1762 0,035 0,053 0,070 0,088 0,106 0,123 0,141 0,159 0176 0,194

263 16  BbigBukenue / Thrust=3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
Brarusanue / Traction = 2916 0,058 0,087 0,117 0,146 0,175 0,204 0,233 0,262 0,292 0,321

280 20 BbigBukeHue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
Brarmeanue / Traction = 4712 0,094 0,141 0,188 0,236 0,283 0,330 0,377 0,424 0471 0,518

@100 25  BbigBukeHue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
Brarusanue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810

Kak 3aka3aTb / How to Order

BB 32 10

Kofn IOVAMETP LMAVHIPA xon
CODE BORE STROKE

CTAHOAPTHbIV XOZ mm. - STD STROKES

@ mm. 5 10 15 20 2 30 4 50 75 100
12 Ae Ae Ao Ao Ae ° °
16 Ae Ae Ae Ae Ae ° °
20 Ae Ao Ao Ao Ae ° ° °
25 Ae Ae Ae Ae Ae ° ° °
32 Ao Ae Ae Ao Ae Ae Ae Ae ° °
40 Ae Ae Ae Ae Ae Ae Ae Ae ° °
50 Ae Ae Ae Ae Ae Ae Ae Ae ° °
63 Ae Ae Ae Ae Ae Ae Ae Ae ° °
80 Ao Ae Ae Ae Ae Ae Ae Ae ° °
100 Ae Ae Ae Ae Ae Ae Ae Ae ° °
A 88  OnHOCTOPOHHErO AEVICTBIA MATHUTHBIV - SINGLE-ACTING MAGNETIC
A BD  OpHOCTOPOHHErO AEVCTBIA MATHUTHBIV - TONKAIOLLAS MPYKUHA - SINGLE-ACTING MAGNETIC - SPRING THRUST
o BF  JlBYXCTOPOHHErO JEVICTBMA MAFHUTHbIN - DOUBLE ACTING MAGNETIC
e BJ J1BYXCTOPOHHErO AEMCTBIA MATHUTHBII C IBYXCTOPOHHVM LUITOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
o BFA  [lBYXCTOPOHHErO JEVICTBMA MATHUTHbIN HE MOBOPOTHbIV - DOUBLE-ACTING MAGNETIC ANTIROTATION

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 645
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

1

7220 77 7 7 -
.. @
3 H e
Z @ = \
13 A /
BG*
e D12-16-20-25 D32-40-50-63-80-100
T4
V7 )
K N\
- s & s S o el s @M e T & -
1 SIS W\ s @g 1
[T w
= f\ - k
@ /é} i D)
T W N
P1 PL TG TG
WH L2+ E H E H
ZJ+
+= afiadir la carrera +=add stroke / 6 6 1
* = para carrera corta rosca pasante * = Through threads only on small strokes
O)J,HOCTOPOHHEFO JENCTBUA MATHUTHDIN - SINGLE-ACTING MAGNETIC
@ mm. AF RT BG* D29 E EE FB@ H KF L2+ L3 MM@ P1 PL T4 TG WH Z)+ CH
12 6 M4 125 55 29 M5 33 1 M3 28 35 6 7.5 7.5 1.5 18 6 34 5
16 8 M4 145 55 29 M5 33 1 M4 30.5 35 8 8.5 8.5 2 18 6 36.5 7
20 8 M5 165 7.2 36 M5 4.2 1.5 M5 315 4.5 10 9 9 2 22 6 375 9
25 8 M5 165 7.2 40 M5 4.2 1.5 M5 315 4.5 10 9 9 2 26 6 375 9
32 10 M6 217 85 45 G1/8 5 35 M6 32 5.7 12 10 10 2.8 325 7 39 10
40 10 M6 217 85 52 G1/8 5 5 M6 385 57 12 1 1 28 38 72 457 10
50 12 M8 228 10 635 G1/8 6.8 7 M8 39 6.8 16 11 " 35 46.5 85 47.5 13
63 12 M8 228 10 77 G1/8 6.8 7 M8 46 6.8 16 115 115 35 56.5 8 54 13
80 16  M10 25 13 92 G1/8 85 10 MI10 54 9 20 14 14 4.5 72 1 65 17
100 20 M10 25 13 113 G1/4 85 13 MI12 65 9 25 175 175 6 89 12 77 22
'I 646 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

= 7]

722
% o ﬁy“———*
o o Iy @
L \/
L}
BG*
AR D12-16-20-25 D32-40-50-63-80-100
T4
1P 7
| [ eo—9+ -5 o s HHHD) fEﬂ[m
yams 2 d W) e &
- ’ \
x w
A )
ST
P1 PL 16
WH+ L2+ H E H
ZJ++
+= afadir la carrera + = add stroke
++= afiadir 2 veces la carrera ++ = double stroke dimension and add it
* = para carrera corta rosca pasante * = Through threads only on small strokes
[OHOCTOPOHHEIO AEVNCTBWA MATHUTHBIV - TOJIKAIOLLAA MPYXKHA - SINGLE ACTING MAGNETIC - SPRING THRUST
@ mm. AF RT BG* D20 E EE FBD H KF L2+ L3 MM@ P1 PL T4 TG WH+ ZJ++ CH
12 6 M4 125 55 29 M5 33 1 M3 28 35 6 7.5 7.5 1.5 18 6 34 5
16 8 M4 145 55 29 M5 33 1 M4 305 35 8 8.5 8.5 2 18 6 36.5 7
20 8 M5 165 7.2 36 M5 4.2 15 M5 315 45 10 9 9 2 22 6 375 9
25 8 M5 165 7.2 40 M5 4.2 15 M5 315 45 10 9 9 2 26 6 375 9
32 10 M6 217 85 45  G1/8 5 35 M6 32 57 12 10 10 28 325 7 39 10
40 10 M6 217 85 52 G1/8 5 5 M6 385 57 12 1 1 2.8 38 72 457 10
50 12 M8 228 10 635 G1/8 6.8 7 M8 39 6.8 16 1 1 35 465 85 475 13
63 12 M8 228 10 77  G1/8 6.8 7 M8 46 6.8 16 15 115 35 56.5 8 54 13
80 16 M10 25 13 92 G1/8 8.5 10 M10 54 9 20 14 14 4.5 72 11 65 17
100 20 M10 25 13 113 G1/4 8.5 13 M12 65 9 25 175 175 6 89 12 77 22
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 647

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

1

3 = z 8
% Z R 5 \\
3 AP
BG*
AF D12-16-20-25 D32-40-50-63-80-100
T4
1+ 7 fﬁ I
=| 12 N ) o5 AN w el sl @ e BF i w
— 4 4 SIS W) e & .
[T w
= f\\ / - K
=0 ?& )
N (1 Z N
P1 PL TG TG
WH L2+ E H E H
YA
+= afiadir la carrera +=add stroke
* = para carrera corta rosca pasante * = Through threads only on small strokes
D,BVXCTOPOHHEFO NENCTBYA MATHUTHbIN - DOUBLE-ACTING MAGNETIC
@ mm. AF RT BG* D2@ E EE FB@ H KF L2+ L3 MM@ Pl PL T4 TG WH Z)+ CH
12 6 M4 125 55 29 M5 33 1 M3 28 35 6 7.5 7.5 1.5 18 6 34 5
16 8 M4 145 55 29 M5 33 1 M4 30.5 35 8 8.5 8.5 2 18 6 36.5 7
20 8 M5 165 7.2 36 M5 4.2 1.5 M5 315 4.5 10 9 9 2 22 6 375 9
25 8 M5 165 7.2 40 M5 4.2 1.5 M5 315 4.5 10 9 9 2 26 6 375 9
32 10 M6 217 85 45 G1/8 5 35 M6 32 5.7 12 10 10 2.8 325 7 39 10
40 10 M6 217 85 52 G1/8 5 5 M6 385 5.7 12 11 1 2.8 38 7.2 45.7 10
50 12 M8 228 10 635 G1/8 6.8 7 M8 39 6.8 16 11 11 35 46.5 8.5 47.5 13
63 12 M8 228 10 77 G1/8 6.8 7 M8 46 6.8 16 115 1.5 35 56.5 8 54 13
80 16 M10 25 13 92 G1/8 8.5 10 M10 54 9 20 14 14 4.5 72 11 65 17
100 20 M10 25 13 113 G1/4 8.5 13 M12 65 9 25 17.5 17.5 6 89 12 77 22
'I 648 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

1
(]

D2

N

RT

L3
BG*

D12-16-20-25 D32-40-50-63-80-100

AF

N

E
TG
CH

214
=
N

)

@
Nz
7

/_.
|
f

)

A\
D
\\ZJ
s
TG

EE
7
%%/

CH
(e S2L A
N N\

P1 PL TG TG
WH L2+ WH+ E H E H
2+ r ]
N++ C I I
+= afiadir la carrera +=add stroke
++= afiadir 2 veces la carrera ++ = double stroke dimension and add it

* = para carrera corta rosca pasante * = Through threads only on small strokes

BJ

D.BVXCTOPOHHEFO JENCTBMA MATHUTHBIA C ABYXCTOPOHHWM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

@ mm. AF RT BG* D20 E EE FBD H KF CH L2 L3 MM@ Pl PL T4 TG N++ WH/WH+ Z)+
12 6 M4 125 55 29 M5 33 1 M3 5 28 35 6 7.5 7.5 1.5 18 40 6 34
16 8 M4 145 55 29 M5 33 1 M4 7 305 35 8 85 85 2 18 425 6 36.5
20 8 M5 165 7.2 36 M5 42 15 M5 9 315 45 10 9 9 2 22 435 6 375
25 8 M5 165 7.2 40 M5 4.2 1.5 M5 9 315 45 10 9 9 2 26 435 6 375
32 10 M6 217 85 45  G1/8 5 35 M6 10 32 5.7 12 10 10 28 325 46 7 39
40 10 M6 217 85 52 G1/8 5 5 M6 10 385 57 12 1 11 2.8 38 53 7.2 45.7
50 12 M8 228 10 635 G1/8 6.8 7 M8 13 39 6.8 16 1 1 35 465 56 85 47.5
63 12 M8 228 10 77  G1/8 6.8 7 M8 13 46 6.8 16 1.5 115 35 565 62 8 54
80 16 M10 25 13 92 G1/8 8.5 10 M10 17 54 9 20 14 14 4.5 72 76 11 65
100 20 M10 25 13 113 G1/4 85 13 M12 22 65 9 25 175 175 6 89 89 12 77

Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.49

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

C
o <
=
=
EErrrr A NI I i
T
a 1
2 D12-16-20-25 D32-40-50-63-80-100
L3
BG* F1
TL
— (R ﬂh\ J(GEYIo)
A vZz777 Qy \y
" N an
o &V ™
a A ol Lo N AR A "
& & R = \ &y %
vorr774—|
= O D
@) N @A M
R Nyl © QD
P1 PL TG TG
WH L2+ E E
L ZJ+ E1 E1
N+
+= afadir la carrera + = add stroke
* = para carrera corta rosca pasante * = Through threads only on small strokes
D,BYXCTOPOHHEFO JENCTBMA MATHUTHbIV HE MOBOPOTHbIV - DOUBLE-ACTING MAGNETIC ANTIROTATION
@ mm. A BO@ C D@ E E1 F F1@ FBZ RT BG* D20 L L2+ L3 MM@ P1 PL TG TL WH  ZJ+ N+
12 M3 6 35 4 29 30 M3 3 35 M4 125 55 5 28 35 6 75 75 18 99 6 34 39
16 M3 6 35 4 29 30 M3 3 35 M4 14.5 5.5 5 305 3.5 8 8.5 8.5 18 9.9 6 365 415
20 M3 6 35 6 36 375 M4 4 42 M5 165 7 8 315 45 10 9 9 22 12 6 375 455
25 M4 8 45 6 40 415 M5 5 4.2 M5 16.5 7 8 315 45 10 9 9 26 156 6 375 455
32 45 8 4.5 6 45 485 M5 9 5 M6 217 85 10 32 57 12 10 10 325 - 7 39 48
40 4.5 8 45 6 52 57 M5 9 5 M6 217 8.5 10 385 5.7 12 11 11 38 - 7.2 457 555
50 55 9 5.5 8 635 705 M6 10 68 M8 228 10 12 39 68 16 1 11 465 - 85 475 59
63 5.5 9 5.5 8 77 84 M6 14 6.8 M8 228 10 12 46 6.8 16 115 115 56.5 - 8 54 66
80 85 14 9 12 92 102 M8 14 8.5 Mi10 25 13 14 54 9 20 14 14 72 - 1 65 79
100 85 14 9 12 113 126 M8 17 8.5 MI10 25 13 14 65 9 25 175 175 89 - 12 77 91
'I 650 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepus Corsa Breve

[MpuHagnexxHocTn ana umnmHapos / Mounting Accessories

MATEPWAN: TAJTb
MATERIAL: STEEL | 1

i
[_

__I
©
&)
f :\\J f\ @‘o\ \q
L
&.

QFL L
ONAHEL| - FLANGE
Hon @mm. A B C D E F G H [ L M
QFLO12 12-16 18 43 55 18 29 45 9 55 10 54 10
QFL020 20 22 55 70 22 36 55 10 6.6 10 5.4 12
QFL025 25 26 60 76 26 40 55 10 6.6 10 5.4 12
MATEPWAN: CTAJIb p —=f |~—
MATERIAL: STEEL |
| ] ‘ N
L/
] [
- - l | >
M
A\
O O
s Q
R
ONAHEL] - FLANGE
Hon @ mm. P Q S R T v
VFLO32 32 7 32 10 45 64 80
VFL040 40 9 36 10 52 72 90
VFLO50 50 9 45 12 65 90 110
VFLO063 63 9 50 12 75 100 120
VFLO80 80 12 63 16 95 126 150
VFL100 100 14 75 16 115 150 170
MATEPWAN: CTAJIb Hj
MATERIAL: STEEL ’»__ | _Ml —[%S 3 /G

o G-

QCP ]

KPOHLUTENH- LOW-RISE PEDESTAL
Kop

Code @ mm. C B D E F G H I S T R U z
QCPO12 12-16 18 18 30 17.5 17.5 4.4 13 13 3 15 9 2 55
QCP020 20 22 22 36 22 22 54 16 16 4 17 10 2 6.6
QCP025 25 26 26 40 22 23 5.4 17 16 4 19 1Al 2 6.6
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 65 'I

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

Cepwusa Corsa Breve

MATEPUAN: CTANTb B . - <
MATERIAL: STEEL 1L | R 7
@0 I IT" ST\ /! \
— ] |- |
Ak
Y
o I } 1T Y
u c
v E
KPOHLLTEMH - LOW - RISE PEDESTAL
Kon
Code @ mm. B C E F (0] U \ R z X Y H
VCP032 32 4 32 45 30 7 24 35 15 7 325 15.75 32
VCP040 40 4 36 52 30 10 28 36 17.5 7 38 17 36
VCP050 50 5 45 65 36 10 32 47 20 9 46.5 21.75 45
VCP063 63 5 50 75 35 10 32 45 225 9 56.5 21.75 50
VCP080 80 6 63 95 47 12 41 55 225 11 72 27 63
VCP100 100 6 75 115 53 14.5 41 57 27.5 11 89 26.5 71
MATEPVIAJT: ATIOMUHAN
MATERIAL: ALUMINIUM
B
D _CAI
I
© QT
T _
A-h|-1 < o
Safa o
1 OIERE) uher
A B IA L
A
QCM B

MNETNIA CAMOCMAS3bIBAIKOLLAACA - MALE HINGE WITH SELF-LUBRICATING BUSHES

Cedice Gmm. A B C D E F G H | L M N o P Q
QCMO12 12-16 18 27 10 45 26 6 16 2 6 45 10 8 12 3 6
QCM020 20 22 34 1 5 26 6 20 2 8 55 12 10 16 3 8
QCM025 25 26 38 1 5 26 6 20 2 8 55 12 10 16 3 8

MATEPVAJ: ATIOMUHUIA Z E
MATERIAL: ALUMINIUM
2, B
9 [
| .
o o
]
N—- w —+F=34
X
o] | H @ O
|
VCM s
METNA - MALE CLEVIS BRACKET

Codice @mm. B E G Z M MR
VCMO032 32 9 45 10 22 26 10
VCMO040 40 9 52 12 25 28 12
VCMO050 50 1 65 12 27 32 12
VCMO063 63 1 75 16 32 40 16
VCMO080 80 14 95 16 36 50 16
VCM100 100 14 15 20 M 60 20

'I 652 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepus Corsa Breve

MATEPUAI: ATIOMUHIAN
MATERIAL: ALUMINIUM %

NLE e
3__

O T
cM
- T
VCF
METNA CAMOCMA3bIBAIOLLASICA! - FEMALE CLEVIS BRACKET SELF-LUBRICATING
Hon gmm. B E G T z M MR
VCE032 32 9 45 10 45 2 26 10
VCF040 40 9 52 12 52 25 28 12
VCF050 50 11 65 12 60 27 32 12
VCFO63 63 noo75 16 70 32 40 16
VCF080 80 14 95 16 90 36 50 16
VCF100 100 14 115 20 110 41 60 20
MATEPVAST: ATIOMVHIAI
MATERIAL: ALUMINIUM i
T @
i s
A J
L.,
BN BG
VAS B .
LWAPHWPHOE COEMHEHVE CAMOCMA3bIBAIOLLEECA - SQUARE JOINT SELF-LUBRICATING
don, gmm. Q BG B4 Bl BM BN BO  BQ  BR
VAS032 32 6.6 18 31 21 32 38 51 26 20
VAS040 0 66 22 35 24 36 41 54 28 2
VAS050 50 9 30 45 33 45 50 65 32 26
VAS063 63 9 3 50 37 50 52 6 40 30
VAS080 80 11 40 60 47 63 66 86 50 30
VAS100 0 11 50 70 55 71 76 9% 60 38
MATEPUATT: CTATb BU

MATERIAL: STEEL

oCG
oG

o OO

VPE

MAJIELL CO CTOMOPHbBIM KOJIbLIOM - PIN WITH SEEGER
ngcijge @ mm. G BT BU CG CH
VPEO32 32 10 46 53 9.6 1.1
VPEO40 40 12 53 60 115 1.1
VPEO50 50 12 61 68 15 11
VPE063 63 16 71 78 152 1.1
VPE08O 80 16 91 98 152 1.1
VPE100 100 20 1 118 19 13

Aignep ocTagnAeT 3a co60i NPaBO M3MEHATL MOAENN Pa3Mepbl 6e3 yBeoMneHNs. OBHOBJIEHUE OT: 18 AMPENA 2013 1 653

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

MATEPWA: CTAJTb
MATERIAL: STEEL

o
COEPUYECKMIA HAKOHEYHWK - MALE ROD ENDS
Kog CARICO RADIALE
Code @ mm. A B C 4 D E F G H L DINAMICO _ STATICO PESO
TM020 20-25 5 7.5 8 111 75 18 M5x0.8 33 42 19 430 1000 13
TMO032 32-40 6 8.9 9 12.7 7.5 20 Méx1 36 46 21 470 1100 15
TMO050 50-63 8 104 12 15.88 9.5 24 M8x1.25 42 54 25 780 1900 34
TMO080 80 10 129 14 19.05 11.5 30 M10x1.5 48 63 28 1200 3100 70
T™M100 100 12 15.4 16 2223 125 34 M12x1.75 54 71 32 1400 | 3700 110
16.54 Aignep ocTARJTRED shre AGTRE oT8 2013

Aignep reserves the right to vary models and dimensions without notice. UPDAEBTERNYRARY 18,2013



Cepua X

FIAIGNEP

Lnnnngpbl cepun X ISO 15552 / Cylinder X Serie ISO 15552

3TV  UMAUHAPbLI  MPOU3BEeAEeHbl B  COOTBETCTBUM  CO
ctaHgapTom ISO 15552, OcHoBHas 0COGEHHOCTb  3TUX
UMAMHOPOB HaJeXHOoCTb. OHu  ypoBneTBopsAloT
MaKCMMyM MoTpebHocTel ONnA nepeaBuKeHuAa  1”
3arpy3kn. OHM  NOCTaBNAKLTCA C  perynupyembiMu
amMopTM3aTopamu, KOTOpble CMOHTUPOBaHbI BHYTPU KpbILLEK.

These cylinders have been manufactured in con-
formity with Standards [ISO 15552. The main
characteristic of these cylinders is the solidity, thanks

to the particular manufacturing structure they
satisfy the maximum needs in terms of sli-
ding performances and admitted loads.

They are supplied with adjustable cushioning, which is
produced inside of the cover ends.

TexHnueckune xapaktepuctukuy / Technical Characteristics

[aBneHue / Pressures

MuHmanbHoe anenenve / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gaeneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

OnwucaHune / Functioning

[IByXCTOPOHHEr0o AeicTBMA AemndepHbl MarHUTHbIV , OfLHOCTOPOHHEro
[eCTBNA MarHUTHBbIN, ABYXCTOPOHHUI LUTOK MarHUTHbIN, [BONHON
UMAnHAp.

Double-acting cushioned magnetic, Single-acting magnetic

Single or through piston rod magnetic, Tandem.

OnameTtp umnnHppos / Bores

MuHumanbHan Temnepatypa / Minimum temperature: 0°C Ot132p0 125 mm.
(-20 °C npu ocyweHHoM Bo3ayxe / with dry air) From 32 to 125 mm.
MakcnmanbHaa Temnepatypa / Maximum temperature: +80 °C
Pabouas cpepna / Fluids Xop / Strokes
OunLLEHHDI BO3LYyX CO CMa3Ko 1 6e3 cMasKu. CranfapTHbIv xop / Standard Strokes
Filtered and lubricated compressed air as well as non Ot 25 go 1000 mm / From 25 to 1000 mm
lubricated air.
Xop no 3anpocy / Stroke on Demand
o 2700 mm / Up to 2700 mm
Aignep ocTARgTEp sirt AGHE om8 2013 1655

Aignep reserves the right to vary models and dimensions without notice.

UPDURBRBTERNSRARY 18,2013



AIGNEP CepinX

TexHunyeckme xapaktepuctmku / Technical Characteristics

Mo 3anpocy ynnoTHeHna n3 Fkm
Mo3anpocy MmeTannnyeckninckpebok ans
OUMCTKU LUTOKA

If Required Fkm Seals

If Required Metal Scraper

for cleaning of the piston rod

Yactn u matepuansl / Component Parts and Materials

1 XpomMmnpoBaHHbIii WTOK 13 ctanu C40 1 Chrome steel C40 piston rod
2 OuurHKOBaHHas CTanbHas raka 2 Zinc-plated steel Nut
3 MonunypeTtaHoBoe ynnoTHeHue nnu 13 FKM 3 Polyurethane Rod Seal or FKM
4 AnomrHMEeBas KpbliLiKa 4 Aluminium Front cover
5 MonuypeTtaHoBoe ynnoTHeHue nnu n3 FKM 5 Polyurethane Cushioning seals or FKM
6 OUMHKOBaHHBbIV CTa/IbHOWM aMOPTU3aLMOHHBIN BUHT6 Zinc-plated steel Screw cushioning
7 TAnoMrHMEBaA KpbilKa 7 Aluminium Back cover
8 AHOAMPOBaHHDBIN aIOMVHMEBDIV KOPMYC 8 Anodised aluminium cylinder shape body
9 OUuMHKOBaHHbI CTanbHON 60NT 9 Zinc-plated steel Screw
10 BpOH30BbIV NOAWNNHUK 10 Sintered bronze Bearing
11 MonuypeTtaHoBoe ynnoTHeHne nnn ns FKM 11 Polyurethane Piston seals or FKM
12 MarHut 12 Plastoferrite Magnet
13 AnomMrHVEBbIV NOPLUEHb 13 Front Aluminium Piston
14 HanpaBsndwoLasa marHuita 14 Support Magnet
15 AnomM1HVEBbIV NOPLUEHb 15 Rear Aluminium Piston
16 YnnotHuTenbHoe KonbLo 13 NBR mnn FKM 16 O-Ring in NBR or FKM
17 YnnotHutenbHoe konbLo 13 NBR nan FKM 17 O-Ring in NBR or FKM
16.56 Aignep ocTaenAeT 3a cO60i NPaBO M3MEHATb MOAENN pPa3Mepbl 6e3 yBeoMneHNs. OBHOBJEHUE OT: 18 ANPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua X

Ycnnue n notpebnenne / Forces And Consumptions

YCUNWE BbIABUMKEHWA U BTATIBAHUA - THRUST AND TRACTION FORCES

@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm?2 Pabouee naBneHve B bar
@ Cylinder @ Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
Pa6ouee ycunve 8 N
Output force in N
@32 12 BbiaBvkeHue / Thrust= 804 72 144 216 288 360 432 504 576 648 720
BrarusaHue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 16 BblaBwkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarusanue / Traction =1056 95 90 285 380 475 570 665 760 855 950
@50 20 BbigBukeHue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
Brarueanue / Traction = 1649 148 296 444 592 740 888 1036 1184 1332 1480
263 20  BbigBuxkeHue / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
- BrarvraHue/Traction=2803 250 500 750 1000 1250 1500 1750 2000 2250 2500
@80 25  BbigBuxkenue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
Brarmsanue / Traction = 4536 405 810 1215 1620 2025 2430 2835 3240 3645 4050
@100 25  BbigBukeHue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
Brarusanue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600
@125 32 BbigBmkeHue / Thrust = 12270 1104 2208 3312 4416 5520 6624 7728 8832 9936 11040
BrarvsaHue / Traction = 11468 1032 2064 3096 4128 5160 6192 7224 8256 9288 10320
YCUITUE MPYXWHbI - SPRING TRACTION FORCES
@ Cilindri CocTosiHMe NPYKUHbBI Xop / Stroke
@ Cylinder Load Spring 25 50 75 80 100
P6ouee ycunue B N
Output force in N
@32 MpyxwuHa B nokoe / Load of spring at rest 50 41 33 31,5 24,5
Cxatan npyxuHa / Load of compressed spring 58 58 58 58 58
240 MpyxwuHa B nokoe / Load of spring at rest 52 43 34 32 25
Cxatas npyxuHa / Load of compressed spring 61 61 61 61 61
@50 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
Cxatas npyxuHa / Load of compressed spring 110 110 110 110 110
263 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
Cxatan npyxuHa / Load of compressed spring 110 110 110 110 110
280 MpyxwuHa B nokoe / Load of spring at rest 17 98 79 75 59
Cxartas npyxuHa / Load of compressed spring 138 138 138 138 138
@100 MpyxwuHa B nokoe / Load of spring at rest 17 98 79 75 59
Cxatas npyxuHa / Load of compressed spring 138 138 138 138 138
MOTPEBJIEHME BO3YXA - CYLINDER AIR CONSUMPTION
@ Cilindro @ Stelo Pabouas noBepxHOCTb B mm2 Pabouee fasneHveHune B bar
@ Cylinder @ Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
MoTpebneHue Bo3ayxa B NL Ha Kaxable 10mm. xoga
Air consumption in NL for each 10mm. of stroke
@32 12 BoigBmkeHue / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
BrarusaHue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
@40 16 BblaBuxeHue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarusanue / Traction =1056 0,021 0,032 0,042 0,053 0,063 0,074 0,084 0,095 0,106 0,116
@50 20  BbigBukeHue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarvsaHue / Traction = 1649 0,033 0,049 0,066 0,082 0,099 0,115 0,132 0,148 0,165 0,181
263 20  BbigBuxenue / Thrust = 3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
BrarneaHue / Traction = 2803 0,056 0,084 0,112 0,140 0,168 0,196 0,224 0,252 0,280 0,308
@80 25 BoigukeHue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarueaHue / Traction = 4536 0,091 0,136 0,181 0,227 0,272 0,318 0,363 0,408 0,454 0,499
2100 25  BoigBmxkeHue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarvsaHue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810
2125 32  BblgsukeHue / Thrust = 12270 0,245 0,368 0,491 0,614 0,736 0,859 0,982 1,104 1,227 1,350
BrarusaHue / Traction = 11468 0,229 0,344 0,459 0,573 0,688 0,803 0,917 1,032 1,147 1,261
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 6.57

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



FJAIGNEP

]

Cepua X
Koabl anA 3akasa - Ordering codes
0 3 2 | 0 0 2 5 | S

BapuaHTbi / Choices

VS= YnnoTtHeHue u3s FKM Tonbko ans

LITOKa

VS= Only road seal in FKM

IS= LLUTOK 13 HepX. cTanmn

IS=  Stainless steel rod

V= Bce ynnotHeHus n3 FKM

V= All FKM seals

R= MeTannuuecknin ckpebok

R=_Metal scraper
Xog mm. Stroke mm.
Lnnunppbl OfHOCTOPOHHeroencTena - Single acting cylinders - Standard strokes
CTaHAAPTHbIN xoa4 mm. = 25-50-75-80-100 mm. = 25-50-75-80-100
LUunuHgpbl  OBYXCTOPOHHeEro  pencrsuma - Double acting cylinders cushioned -
CTaHAAPTHbIN X084 mm.: Standard strokes mm.:
25-50-75-80-100-125-150-160-200-250-300- 25-50-75-80-100-125-150-160-200-250-300-
320-350-400-450-500-600-700-800-900-1000 320-350-400-450-500-600-700-800-900-1000
Mo 3anpocy Bo3moxeH ntoboit xog fo 2700 mm. Intermediate or higher strokes are available

upon request. - Maximum stroke 2700 mm.

CEP

1]

32-40-50-63-80-100-125

InameTtp mm. / Diameter mm.

WcnonHeHwne / Execution

L=

B= OpHOCTOpOHHero peiicTBrA, GpoHTanbHasA NPyXKmMHa, MarHUTHbIN / Single acting front spring magnetic (D.32-100)
H= [1ByXCTOpOHHEro feicTBnA, OQHOCTOPOHHIIA LITOK C AemndupoBaHnem marHuTHbI / Double acting single rod cushioned magnetic
[1ByXCTOPOHHEro AencTBUA, BYXCTOPOHHWIA LWITOK C AemndupoBaHnem marHuTHbI / Double acting double rod cushioned magnetic

nA X

CTAHLAPTHbIA XOL mm. - STD STROKES

@mm. 25 50 75 80 100 125 150 160 200 250 300 320 350 400 450 500 600 700 800 900 1000
32 Ao Ae Ae Ae Ae o e o o o ° ° e o ° ° ° ° ° ° °
w Ae Ae Ae Ae Ae ©¢ o o o o o e o o e o o e o o
5o Ao Ae Ae Ae Ae o e o o o ° ° e o ° ° ° ° ° ° °
s Ao Ao Ao Ae Ae o o o o o o e o o e o o e o o o
50 Ao Ae Ae Ae Ae o e o o o ° ° e o ° ° ° ° ° ° °
10 Ao Ae Ae Ae Ae ¢ o o o o o e o o e o o e o o o
125 e o o o e © o o o o o ° e o e o o ° e o o

A XB  OpHOCTOPOHHErO JEMCTBMA MATHUTHBIV - SINGLE-ACTING MAGNETIC
e XH  JlBYXCTOPOHHENO [EACTBIA C AEMNOVUPOBAHVEM MATHUTHBI - DOUBLE ACTING CUSHIONED MAGNETIC
e XL  [lBYXCTOPOHHEIO [EVCTBIA C AEMNOUPOBAHWUEM MATHUTHbIV C BYXCTOPOHHMM LITOKOM- DOUBLE ACTING CUSHIONED
MAGNETIC WITH DOUBLE ROD END
16.58 Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua X

1)+ corsa stroke £
AM WH L8 + corsa / stroke VA
12 PL 7
\D /-EE
L \J 3
_ — . |
8| 2|« 1 - = — RS & DIH te
—— SW3 1
r/ =, 2
W1/ sw/ RT
|
86 e/ A W
16
Tomnillos con hexagono interior con rosca hembra para el montaje Socket head screw with female thread for mounting attachments
de los elementos de fijacion y para el montaje directo
Tomnillos para la regulacion de la amortiguacion Regulating screw for adjustable end-position cushioning
Ranura para montaje sensores Slot for proximity sensor
D,BVXCTOPOHHEFO JOEVCTBUA C AEMIMOUPOBAHVMEM MATHUTHBIN - DOUBLE ACTING CUSHIONED MAGNETIC
Zmm. @Bd1 VD VA L2 WH @MM SW KK AM  SW1 Z) L8 BG RT Sw2 E TG EE PL J3 J2 L7 sSws
32 30 10 4 20 26 12 10 M10X1.25 22 17 120 94 18 M6 6 46 325 G1/8 18 4 6.5 2 25
40 35 10.5 4 22 30 16 13 M12X1.25 24 19 135 105 18 M6 6 54 38 G1/4 175 35 8 58 25
50 40 11.5 4 28 37 20 17 M16X1.5 32 22 143 106 20 M8 8 64 465 G1/4 205 7 10 2 4
63 45 15 4 29 37 20 17 M16X1.5 32 22 158 121 20 M8 8 74 56,5 G3/8 22 1 85 4 4
80 45 15.7 4 35 46 25 22 M20X1.5 40 30 174 128 19 M10 6 94 72 G3/8 22 11 8.5 4 4

100 55 19.2 4 38 515 25 22 M20X15 40 30 1895 138 19 M0 6 111 89 G1/2 26 9 12.5 5 4

125 60 20 6 50 65 32 27 M27X2 54 41 225 160 21 M12 8 135 110 G1/2 30 9 125 25 4

A WH L8 + corsa / stroke WH + corsa / stroke A E
L2 PL
D EE )
] /-
oB
L7 Ny “\
_ tL NN S \
3 =« - [ 2 < RN )
2| =l = f_\zu% @@sws i ‘\\ﬁj‘ e
@) | J ¢ S
X e
SW1 SW2 RTI
EE
B AL

Tornillos con hexagono interior con rosca hembra para el montaje Socket head screw with female thread for mounting attachments
delos elementos de fijacion y para el montaje directo
Tomillos para a regulacion de la amortiguacion Regulating screw for adjustable end-position cushioning

Ranura para montaje sensores Slot for proximity sensor

XL

,D'BYXCTOPOHHEFO LENCTBMA C AEMMONPOBAHVEM MATHUTHbBIV C IBYXCTOPOHHVIM LUTOKOM-DOUBLE ACTING CUSHIONED MAGNETIC WITH
DOUBLE ROD END

@mm. @Bd1T VD VA L2 WH @MM SW KK AM  SW1 Z) L8 BG RT SW2 E TG EE PL J3 J2 L7 sSws3
32 30 10 4 20 26 12 10  M10X1.25 22 17 120 94 18 M6 6 46 325 G1/8 18 4 6.5 2 2.5
40 35 10.5 4 22 30 16 13 M12X1.25 24 19 135 105 18 M6 6 54 38 G1/4 175 35 8 58 25
50 40 11.5 4 28 37 20 17 M16X1.5 32 22 143 106 20 M8 8 64 465 G1/4 205 7 10 2 4
63 45 15 4 29 37 20 17 M16X1.5 32 22 158 121 20 M8 8 74 565 G3/8 22 " 85 4 4
80 45 15.7 4 35 46 25 22 M20X1.5 40 30 174 128 19 M10 6 94 72 G3/8 22 11 85 4 4
100 55 19.2 4 38 515 25 22 M20X1.5 40 30 1895 138 19 M10 6 111 89 G1/2 26 9 125 5 4

Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.59

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua X

ZJ + corsa/ stroke

AM WH L8 +corsa/ stroke VA

D /‘EE

/
] % ©

- = : |
8l =] <[ 1 - o — S & DIH e
—T— SW3 1
RIVEVANNNS === 5= S,
|
86 e/ A S
[
Tornillos con hexagono interior con rosca hembra para el montaje Socket head screw with female thread for mounting attachments
de los elementos de fijacion y para el montaje directo
Tornillos para la regulacion de la amortiguacion Regulating screw for adjustable end-position cushioning
Ranura para montaje sensores Slot for proximity sensor
O)J,HOCTOPOHHEI'O JEVNCTBMA MATHUTHBIN - SINGLE-ACTING MAGNETIC
@mm. @Bdn VD VA L2 WH @MM SW KK AM SW1 Z) L8 BG RT SW2 E TG EE PL  J3
32 30 10 4 20 26 12 10 M10X1.25 22 17 145 119 18 Mé 6 46 325 G1/8 18 4
40 35 10.5 4 22 30 16 13 M12X1.25 24 19 160 130 18 M6 6 54 38 G1/4 175 35
50 40 1.5 4 28 37 20 17 M16X1.5 32 22 168 131 20 M8 8 64 465 G1/4 205 7
63 45 15 4 29 37 20 17 M16X1.5 32 22 183 146 20 M8 8 74 56.5 G3/8 22 8
80 45 15.7 4 35 46 25 22 M20X1.5 40 30 199 153 19 M10 6 94 72 G3/8 22 I

100 55 19.2 4 38 515 25 22 M20X1.5 40 30 2145 163 19 M10 6 m 89 G1/2 26 9

'I 660 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP Cepns X

Uunungpsl Iso 15552 ¢ 6noknposkoi wroka / Cylinders Iso 15552 with Piston Rod Lock

3amMoK OGnokupyeT Xxof LWTOK B NOOOM MONOXEHWM B Clyyae MajeHus AasneHusa. B cnyyae HepoctaTka Bo3gyxa AnA
buKcnpytoLLero ycTponcTBa, LUTOK 6NoKMpYyeTCcA MeXaHNYECKN C yCUeM NPEBbILLAKLLUM YCUIIE BbIABUXEHNA LUNMHAPA NPpK
nuTatollem aasneHnn10 bar. BaXkHO MOMHUTb, UTO 3aMOK OCBOOOKJA€eT LTOK TOJIbKO TOrAa, Koraa ob6e Kamepbl Mog AaBieHNEM.

The piston rod lock is a locking unit, which blocks the piston rod in any positions in case of pressure drop. In case of lack of air
to the locking device, the cylinder piston rod is mechanically blocked with a bigger force that the thrust made by the cylinder
fed at 10 bar. It is important to remember that the locking unit of the piston rod can be released only when both the barrels
are under pressure.

B L8+Carrera/ stroke

.
Q
<| o] be @

W

|
9
D
)

?\
L/

A4

H o ~

HB

BYXCTOPOHHEIO AEMCTBUA C AEMNOUPOBAHUEM MATHUTHBIV C BJTOKMPOBKOW LUTOKA - DOUBLE ACTING CUSHIONED MAGNETIC WITH PISTON
ROD LOCK

@ mm. A B C D E F G H L M N 0] P Q L8
32 30 86 26 33.25 9 1/8"G M6 8 60 67.5 6 20 47 325 94
40 345 100 30 425 9 1/8"G M6 8 70 80 6 20 54 38 105
50 40 127 37 58 125 1/8"G M8 12 90 100 8 24 65 46.5 106
63 45 127 37 59 17.5 1/8"G M8 12 90 100 8 24 75 56.5 121
80 45 156 46 69 17.5 1/4"G M10 16 110 120 12 32 95 72 128
10055 161 51 69 20 1/4"G M10 16 110 120 12 32 114 89 138
12560 205 65 84.5 19 1/4"G M12 20 140 156 20 45 138 110 160

XLB [BYXCTOPOHHWI LUTOK C BNOKMPOBKOW - XLB AVAILABLE DOUBLE ROD END WITH PISTON ROD LOCK

TexHuyeckme xapaktepuctuku / Technical Characteristics

[aBneHve pa3bnoknpoBaHus/Min. Release pressure Mpw oTcyTcTBUM AaBneHus / In absence of Pressure
2.5 bar npu nuTatowem gasnenun ot 0 go 7 bar; 3a610KMPOBAHHO.
3 bar npu nuTatowem gasneHun ot 7 go 10 bar. Locked.

2.5 bar cylinder supply pressure from 0 to 7 bar;
3 bar cylinder supply pressure from 7 to 10 bar.

Pabouan cpena / Fluids Temperature / Temperatures

OunLLieHHbBIN BO3[yX CO CMa3Kol 1 6e3 cmasKku. MuHumanbHas Temnepatypa / Minimum temperature: 0°C

Filtered and lubricated compressed air as well as non (-20 °C npu ocyiueHHom Bo3ayxe / with dry air)

lubricated air. MakcrmanbHas TemnepaTypa / Maximum temperature: +80 °C
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 661

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua X

JAIGNEP

Ttcarrera / stroke + corsa / stroke

VA 18+ carrera / stroke

H

L8+carrera / stroke

WH

AM

%

.

@@

XHT

,U'BOVIHOVI LUMNUHAP ABYXCTOPOHHETO JENCTBUA MATHUTHBIVI - TANDEM DOUBLE-ACTING MAGNETIC

@ mm. VA WH AM L8 H T
32 4 26 22 94 55 295
40 4 30 24 105 55 323
50 4 37 32 106 68 353
63 4 37 32 121 68 383
80 4 46 40 128 92 438
100 4 515 40 138 92 463.5
125 6 65 54 160 120 565

* 3A JOMNONHUTENbHOWN MHOOPMALMEV OBPALLAWTECH B HALL TEXHUYECKMIA OEMAPTAMEHT
* FOR FURTHER INFORMATION PLEASE CONTACT OUR TECNICHAL DEPARTEMENT

16.62

Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



Cepua X

MNMoBopoTHble uunuHapbl cepun X ISO 15552 / Rotary Cylinders X Serie ISO 15552

MoBOPOTHbIE LUAMHAPLI pa3paboTaHbl 4NiAa npeobpaszoBaHUs
NNHENHOTrO [BVXXEHWA BO BpallaTeslbHOe Yepes3 pPeeyHyio
nepepavy. LnnvHapbl MMeOT TaKylo e KOHCTPYKLUIO
KOHCTPYKLUIO aMOPTM3aLMOHHbIX OKOHYAHWI, KaK 1 0OblYHble
UWAVHAPDI, Y OHW MOTYT MMETb BO3MOXKEOCTb MEXaHNUYECKON
perynmpoBKN KoTopas MO3BOMUT pyrynupoBaTtb yron +/- 5°

The rotary cylinders are designed to translate the
rectilinear motion, which is the characteristic motion
of the pneumatic cylinders, into rotational motion
by means of a gear, rack-pinion.The cylinders adopt
the same pneumatic cushioning end position system
typical of the traditional cylinders and they can
have a mechanical adjust on the stop, which allows
requlating the angulation of +/- 5°.

TexHnueckune xapaktepuctuku / Technical Characteristics

[aBneHue / Pressures

MuHumanbHoe gasneHve / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe aasneHne / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MuHumanbHas Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3payxe / with dry air)
MakcrmanbHas Temnepatypa / Maximum temperature: +80 °C

Fluidi compatibili / Fluids

OunLLEeHHbBI BO3[YX CO CMa3Kou 1 6e3 cMa3sKu.
Filtered and lubricated compressed air as well as non
lubricated air.

PerynupoBouHble yrnbl / Adjustable angle

Onwncanue / Functioning

[ByXCTOPOHHEro AeNcTBUA C AeMNGUPOBAHNEM MArHUTHbIN, Ban CO
WANLOM

[IByXCTOPOHHEro AencTBUA C AeMnNdUPOBAHNEM MArHUTHBIN COeA.
oTBepcTMe

Double-acting cushioned and magnetic with male pinion
Double-acting cushioned and magnetic with female

connection.

OunameTp unnuHppos / Bores

OT132 go 100 mm.
From 32 to 100 mm.

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.63



FJAIGNEP

Cepua X

Q
G i | oPgo
£ ]
bl
- R -
A *? L3 @
C
o _._I___L
- } \
| «= ) |
_ﬁ L n- | =3 }
<C — /A=
Y
- IN \
o >
(&)
J
KPYTALLMIA MOMEHT MPU 1 BAR
C TORQUE AT 1 BAR
B @ mm. Nm
X 32 1.2
o
~ \ 40 2.25
— 2 S < @ 1 2 2 — 50 3.9
| — { 3 B 63 7.3
/y - /y /y /y 80 15.7
= U { = 100 26.35
Lengieta UNI 660+-ADIN 6685/A M
it N b DN z m‘
L1
L

XRM

LUANMHAP C MPUOAHBIM BAJIOM C YTJTAMW PEFYJIMPOBKU +/- 5°
MALE ROTARY CYLINDER WITH ANGLE REGULATION +/- 5°

PASMEPBI L U L1 4J1A BPALLEHWA - DIMENSIONS L AND L1 FOR ROTATIONS

YrOJ1NMOBOPOTA 90°

YrOJiNnoBOPOTA 180°

YroJ1NnoBOPOTA 270° YroJi NnOBOPOTA 360°

90° ROTATION 180° ROTATION 270° ROTATION 360° ROTATION
@ mm. L L1 L L1 L L1 L L1
32 232 213 279 260 326 307 373 354
40 274 254 330 310 387 367 464 424
50 301 276 364 339 427 402 489 464
63 343 320 418 395 493 470 567 544
80 416 386 515 485 614 584 713 683
100 449 418 556 525 662 631 769 738
16.64 Aignep ocTagnsieT 3a cO60/i NPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEOMIeHNA. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua X

PA3MEPbI - DIMENSIONS

@ mm. A B C D E F G H J K N P Q R S T U v W X Y Z
32 715 50 33 46 1/8G  46.5 22 18 M5 25 4 14 25 25 M5 9 50 81 25 M6 10 5
40 82 60 40 54 174G 545 215 22 M5 30 4 14 25 30 M5 10 60 91 25 M6 10 5
50 94 70 50 64 1/4G 605 245 25 M6 325 4 19 30 325 M6 8 65 106 35 M8 13 6
63 110 75 60 74  3/8G 708 26 35 M8 375 4 24 30 37 M8 10 75 116 35 M8 13 8
80 142 99 80 94 3/8G 935 26 50 M8 49.5 4 28 45 50 M9 12 99 150 45 M10 16 8
100 156.5 115 80 1M1 122G 99 30 60 M10 57.5 4 38 50 54 M9 17 115 166 45 M10 16 10

CTAHOAPTHbIE YIJ1bl MOBOPOTA - STANDARD ROTATION

@ mm. 90° 180° 270° 360°

32-40-50-63-80-100 X X X X

Kak 3ak3aTb / How to Order

XRM 34 90°
Kog OVAMETP LUMNHIOPA YroJ1 NOBOPOTA
CODE BORE ROTATION
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 6.65

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FJAIGNEP Cepna X

D

KPYTALLMIA MOMEHT MPW 1 BAR

J TORQUE AT 1 BAR
@ mm. Nm
C 32 1.2
B 40 225
50 39
63 73
80 15.7
100 2635
{
L1
f 1
L
f 1
XRF
LMNMHAP C COEAVHUTENbHBIM OTBEPCTMEM, C YTTTAMIA PEMYSIUPOBKM +/- 5°
FEMALE ROTARY CYLINDER WITH ANGLE REGULATION +/- 5°
PASMEPbI L U L1 1J1A BPALLEHMA - DIMENSIONS L AND L1 FOR ROTATIONS
YroJi MOBOPOTA 90° YroJi MOBOPOTA 180° Yron noBOPOTA 270° YrOJ1 MOBOPOTA 360°
90° ROTATION 180° ROTATION 270° ROTATION 360° ROTATION
@ mm. L L1 L L1 L L1 L L1
32 232 213 279 260 326 307 373 354
40 274 254 330 310 387 367 464 424
50 301 276 364 339 427 402 489 464
63 343 320 418 395 493 470 567 544
80 416 386 515 485 614 584 713 683
100 449 418 556 525 662 631 769 738
16.66 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua X

PA3MEPbI - DIMENSIONS

@ mm. A B C D E F G H J K N oP Q R S T U ' X Y
32 715 50 33 46 1/8G 465 22 18 5 25 4 14 25 25 M5 9 50 163 M6 10
40 82 60 40 54 1/4G 545 215 22 5 30 4 14 25 30 M5 10 60 163 M6 10
50 94 70 50 64 1/4G 605 245 25 6 325 4 19 30 325 M6 8 65 21.8 M8 13
63 110 75 60 74 3/8G 708 26 35 6 375 4 19 30 37 M8 10 75 218 M8 13
80 142 99 80 94 3/8G 935 26 50 8 49.5 4 24 45 50 M9 12 99 273 M10 16
100 156.5 115 80 m 112G 99 30 60 8 57.5 4 28 50 54 M9 17 115 313 M10 16

CTAHOAPTHbIE YIJ1bl MOBOPOTA - STANDARD ROTATION

@ mm. 90° 180° 270° 360°

32-40-50-63-80- 100 X X X X

Kak 3aka3atb / How to Order

XRF 34 90°
Koa OVAMETP UMNAHIOPA YroJ1 NOBOPOTA
CODE BORE ROTATION
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 6.67

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua E

JAIGNEP

Linnnngpol cepun E ISO 6431 / Cylinder E Serie ISO 6431

Umnungpbl 31O cepumn nsrotoneHbl B cooTBetctBun ¢ DIN
ISO 6431.

OHV npenHasHayeHbl [4N1A WCMOSb30BaHUA B JIOOOM CeKTope
MPOMBILLIIEHHOCTN.

Bbicokre TexHMYecKme XapakTepucTukn obecnevynBatoT
MaKC/MasibHY0 NPOU3BOANTENbHOCTb 3aBOA0B.

lfonoBKM caenaHbl M3 NUTOro anoMmuHua @32 pna @125,
rpaBMTaLUNOHHOro NnTbsi oT @160 go @320.

UnnuHgpbl cepyn E moryT noctaBnATbCA C aniOMUHUEBOM
Tpy6oIi B 2-X KOHUTrypauumsax:

- Or @32 po @125 AnwomuHneBas  pybalika
Ha3blBaemasa “G  C MpPoOJONbHbIM MAa3oM MoA [aTyuuk

-O1@32 po @320 AntoMUHKEBanA pybaLlKa C KPYriblM ceUYeHneMm.

The cylinders of this series are manufactured accor-
ding to DIN ISO 6431.

They are suitable for use in any sector of industrial
property.

The high flow characteristics ensure maximum pro-
ductivity of the plants.

The heads are made from cast aluminum @32 to
@125, while gravity casting from @160 to @320.

The cylinders of the E series can be supplied with alu-
minum tube in two configurations:

- From @32 to @125 Shirt aluminum called “G” with
longitudinal slots for the insertion of the retractable
sensor.

- From @32 to @320 shirt from aluminum rods with
rounded profile.

Ot @32 po @125.

AnioMuHVeBas pyballka Ha3biBaeMasa “G” C MpPOAOSibHbIM Ma3om
ONA faTurKa.

From @32 to @125.

Aluminum jacket called “G” with longitudinal slots for the

insertion of the retractable sensor.

OT1 @32 po ©320.
AntomMuHneBas py6allika C KpyribiM CEYeHUEM.
From @32 to @320.

Shirt aluminum rods with rounded profile.

TexHunyueckune xapaktepuctuku / Technical Characteristics

[asneHwne / Pressures

MuHuMmanbHoe gasnexve / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe aasneHve / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MuHumanbHasa Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHoMm Bo3ayxe / with dry air)
MakcumanbHas Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEeHHDBIN BO3[yX CO CMa3Kow 1 6e3 cmasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

OnuncaHue / Functioning

[IByXCTOpPOHHEro AeicTBusA ¢ AeMnPrpOBaHNEM MarHUTHBIN,
OOHOCTOPOHHErO AeCTBUA MarHUTHbIN, OfHO UK ABYX
[BYXCTOPOHHHWI WITOK MarHUTHbIN.

Double-acting cushioned magnetic, Single-acting magnetic
Single or through piston rod magnetic.

AnameTtp ymnnnppos / Bores

OT132 go 320 mm.
From 32 to 320mm.

Xop, / Strokes

CraHpapTHbIn xop / Standard Strokes
Ot 25 o 1000 mm / From 25 to 1000 mm

Mo 3anpocy / Stroke on Demand
[lo 2700 mm / Up to 2700 mm

16.68

Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



IAIGNEP Cepus €
TexHuyeckune xapakrepuctukm / Technical Characteristics
MaTepmanbl ncnonyemble anAa yMnmHOpoB cepun Eun3 aHOAMPOBAHHOIO aJlltOMUHNA.
Used Materials for cylinders Serie E with anodized aluminium Mikey-mouse profile and slots.
AnameTtpbl / Diameter
32-40-50-63-80-100-125 7
17
Yactu n matepuansl / Component Parts and Materials
1 3apHAA ronoBKa anioMyHVeBas 1 Rear head Die-casted Sandblasted aluminium
2 OuMHKOBaHHasA CTanbHas ranka 2 Zinc-plated steel Nut
3 YnnoTtHuTenbHoe KonbLo n3 FKM 3 O-ring Nbr or FKM
4 Marnut 4 Magnet Bonded ferrite
5 YnnotHeHwue n3 nonnypetaHa nnm FKM 5 Piston seal in Polyurethane or FKM
6 ANOMUHUEBBIV MOPLUEHb 6 Piston in Aluminium
7 AHopvpoBaHHas aniomMrHMeBas Tpyba 7 Tube Anodized aluminium
8 Hanpasnaiowas aueTanosas 8 Piston guide in Acetal resin
9  YnnotHuTenbHoe KonbLo 13 Nbr unun FKM 9 O-ring in Nbr o FKM
10 CranbHOW aMOpPTU3aLMOHHbIN 6onT 10 Cushioning screw Galvanized steel
11 YnnotHeHue 13 nonuypetaHa nnm FKM 11 Cushioning seal in Polyurethane or FKM
12 TNepepHaAdA ronoBKa antoMNHNEBasA 12 Front head Die-casted Sandblasted aluminium
13 OuKcnpytowmii 60T cTanbHon 13 Fixing screw Galvanized steel
14 YnnotHeHue n3 nonuypetaHa unm FKM 14 Rod seal in Polyurethane or FKM
15 CTanbHON XPOMUPOBAHHDIN LITOK UKW 13 HEPXK. CTaNn 15 Rod Chromium plated steel or Stainless steel
16 YnnotHuTenbHoe KonbLo 13 Nbr unn FKM 16 O-ring in Nbr or FKM
17 BpoH30Bas BTy/Ka 17 Bush in Sintered bronze
18 OuMHKOBAHHas CTanbHas raka 18 Rod nut Galvanized steel
19 CranbHoe 3nacTUYHOE KOJbLO 19 Elastic ring made in steel
Aignep ocTasnseT 3a co60il NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMIEHNUS. OBHOBJIEHVE OT: 18 AMPENA 2013 16.69

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua E

Ycunua n notpebnenmne / Forces And Consumptions

YCUNNE BblIABUMEHWA U BTATUBAHWA - THRUST AND TRACTION FORCES

@ UMnungpa @ WtokaPabouas noBepxHOCTb B mm2 Pabouee fasnexve B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

Pabouee ycunve 8 N
Output force in N

@32 12 BbiaBvkeHue / Thrust= 804 72 144 216 288 360 432 504 576 648 720
Brarusanue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 16 BblaBmkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarmsaxue / Traction =1056 95 190 285 380 475 570 665 760 855 950
@50 20  BbigBuxeHwue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarueaHue / Traction = 1649 148 296 444 592 740 888 1036 1184 1332 1480
263 20  BbigBukeHue / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarusaHue / Traction = 2803 250 500 750 1000 1250 1500 1750 2000 2250 2500
280 25  BoigBuxeHwue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
BrarvusaHwe / Traction = 4536 405 810 1215 1620 2025 2430 2835 3240 3645 4050
2100 25  BbigBuxeHwue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
BrarusaHue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600
2125 32 BbigBwkeHue / Thrust = 12270 1104 2208 3312 4416 5520 6624 7728 8832 9936 11040
BrarusaHue / Traction = 11468 1032 2064 3096 4128 5160 6192 7224 8256 9288 10320

MOTPEBJIEHME BO3YXA - CYLINDER AIR CONSUMPTION

@ Unnungpa @ WtokaPaboyas noBepxHOCTb B mm2 Pabouee paBnexue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpebneHre Bo3ayxa B NL Ha Kaxgble 10mm. xoga
Air consumption in NL for each 10mm. of stroke

@32 12 BbiaBvkeHune / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
Brarueanme / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076

@40 16 BbigBmkeHue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarueanue / Traction =1056 0,021 0,032 0,042 0,053 0,063 0,074 0,084 0,095 0,106 0,116

@50 20  BoigBukeHwue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarvaHue / Traction = 1649 0,033 0,049 0,066 0,082 0,099 0,115 0,132 0,148 0,165 0,181

263 20  BbigBuxeHwue / Thrust =3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
BrarusaHue / Traction = 2803 0,056 0,084 0,112 0,140 0,168 0,196 0,224 0,252 0,280 0,308

280 25  BoigBukeHwue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarusaHue / Traction = 4536 0,091 0,136 0,181 0,227 0,272 0,318 0,363 0,408 0,454 0,499

@100 25  BoigBukeHwue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarvsaHue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810

@125 32 BbigBwkeHue / Thrust = 12270 0,245 0,368 0,491 0,614 0,736 0,859 0,982 1,104 1,227 1,350
BrarmeaHue / Traction = 11468 0,229 0,344 0,459 0,573 0,688 0,803 0,917 1,032 1,147 1,261

YCUNNE MPYKMHbI - SPRING TRACTION FORCES

@ Unnungpa CocTosiHMe NPYXNHbI Xop / Stroke
@ Cylinder Load Spring 25 50 75 80 100

Pabouee ycunve 8 N
Output force in N

232 MpyxwuHa B nokoe / Load of spring at rest 50 41 33 31,5 24,5
Cxatan npyxuHa / Load of compressed spring 58 58 58 58 58
@40 MpyxwuHa B nokoe / Load of spring at rest 52 43 34 32 25
Cxatan npyxuHa / Load of compressed spring 61 61 61 61 61
@50 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
Cxatan npyxvHa / Load of compressed spring 110 110 110 110 110
263 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
Cxatan npyxuHa / Load of compressed spring 110 110 110 110 110
@80 MpyxwuHa B nokoe / Load of spring at rest 17 98 79 75 59
CxaTan npyxuHa / Load of compressed spring 138 138 138 138 138
2100 MpyxwuHa B nokoe / Load of spring at rest 17 98 79 75 59
Cxatan npyxvHa / Load of compressed spring 138 138 138 138 138
1 6.70 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP CepnaE

Koabl anA 3akasa - Ordering codes

M s 06 v = 5[ [

BapwuaHTbl / Choices

VS= YnnoTtHeHne n3 FKM TonbKo ana Wwroka
VS= Only road seal in FKM

IS=  LLUTOK 13 Hepx. cTanu

IS= Stainless steel rod

V= Bce ynnotHeHua n3 FKM

V= All FKM seals

R= MeTtannnyeckunin ckpebok

R= Metal scraper

Tun Kpennenua / Mounting style

G= AHoAvpoBaHHas anioMyHVeBas Tpyba ¢ nasamu
G= Anodized aluminium tube Mickey-mouse profile
with slots (32/125)

Xog mm. Stroke mm.

LnnmHap ogHOCTOPOHHEro AencTems - Single acting cylinders - Standard strokes
CraHpapTHbIN xoa mm. = 25-50-75-80-100 mm. = 25-50-75-80-100

LnnnHap fBYXCTOPOHHEro feicTBusA ¢ Double acting cylinders cushioned -
nemnouposaHvem - CTaHgapTHbIN Xo4 mm.: Standard strokes mm.:
25-50-75-80-100-125-150-160-200-250-300- 25-50-75-80-100-125-150-160-200-250-300-
320-350-400-450-500-600-700-800-900-1000 320-350-400-450-500-600-700-800-900-1000
Mo 3anpocy Bo3moxeH ntoboit xoa fo 2700 mm. Intermediate or higher strokes are available

upon request. - Maximum stroke 2700 mm.

[nameTtp mm./ Diameter mm.

32-40-50-63-80-100-125

McnonHeHwue / Execution

B= OpHOCTOpPOHHEero aeicTBusA, GpoHTanbHas NPyKMHa, MarHnTHbIN / Single acting front spring magnetic (D.32-100)
H= [IByXCTOpOHHEro AeicTBrA, OQHOCTOPOHHMI WTOK C AeMndupoBaHnem MarHUTHbIN / Double acting single rod cushioned magnetic
L= [IByxCTOpOHHEro AeincTBuA, BYXCTOPOHHUIA WITOK C AemnprpoBaHrem MarHuTHbI / Double acting double rod cushioned magnetic

CEPUAE

CTAHIAPTHbIY XOZ mm. - STD STROKES

@ mm. 25 50 75 80 100 125 150 160 200 250 300 320 350 400 450 500 600 700 800 900 1000

32 Ao Ao Ae Ae Ae o o o o o o e o o e o o e o o o
w0 Ao Ae Ae Ae Ao e o o o o ° e o e o ° ° e o o
s0o Ao Ao Ae Ae Ae ¢ o o o o o e o o e o o e o o o
3 Ao Ao Ao Ao Ae ©¢ o o o o o ° e o e o o e o o o
s0 Ao Ae Ao Ae Ao o o o o o o e o o e o o e o o o
w0 Ae Ae Ae Ae Ae ¢ o o o o o ° e o e o o e o o o
2% © e e e e e e e e o o e o o e o o e o o o
A EB OpnHOCTOPOHHEFO [EMCTBUA MATHUTHBIV - SINGLE-ACTING MAGNETIC
o EH []8yXCTOPOHHErO AENCTBMA C AEMMOUPOBAHUEM MATHUTHbIV - DOUBLE ACTING CUSHIONED MAGNETIC
o EL J1ByXCTOPOHHErO AEMCTBYA C JEMMOUPOBAHVEM MATHUTHbIN C IBYXCTOPOHHMM LUITOKOM - DOUBLE ACTING CUSHIONED
MAGNETIC WITH DOUBLE ROD END
Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVIE OT: 18 AMPE/A 2013 16.71

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



B

FJAIGNEP

MM

Cepua E

PL

EE

@B

ms 1l

L2

L3
BG

WH

L8+ Carrera-Stroke

E
G
© ©)
<
g ol
®
VA . RT

AHO[MpPOBaHHasA antloMrHeBas Tpyba ¢ nasamu.
Anodized aluminium tube Mickey-mouse profile with slots.

,D,BYXCTOPOHHEFO JENCTBUA C BEMNOUPOBAHUEM MATHUTHDBIV - DOUBLE ACTING CUSHIONED MAGNETIC

@ mm. @Bd1 VA 12 WH O@MM sw KK A L8 BG RT E TG EE PL L3 ZM
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 2 30 16 13 M12X1.2524 105 16 M6 53 38 Gl1/4 16 5 165
50 40 4 28 37 20 17 MI16X1.532 106 16 M8 65 465 Gl/4 21 5 180
63 45 4 28 37 20 17 M16X1532 121 16 M8 75 565 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1540 128 17 M10 95 72 G3/8 23 65 220
100 55 4 38 515 25 22 M20X1540 138 17 MI10 115 89 GI1/2 26 65 240
125 60 5 50 65 32 27 M27X2 54 160 20 M12 140 110 G1/2 30 6 290
PM PM E
- EE EE G
: - S
- — f ® D
il
s . | 5] o
i i
1 - ©
it
s L3 L
2 |BG
A WH L8+Carrera -Stroke

IM+2 Carrera -2 Stroke

AHOAMPOBaHHaA anloMrHeBas Tpyba ¢ nasamu.
Anodized aluminium tube Mickey-mouse profile with slots.

ﬂ'ByXCTOPOHHEI'O LEVNCTBMA C AEMMOUPOBAHUEM MATHUTHBIVI C IBYXCTOPOHHMM LUTOKOM -DOUBLE ACTING CUSHIONED MAGNETIC WITH

DOUBLE ROD END
@ mm. @BAd1T VA L2  WH @MM SwW KK A L8 BG RT E TG EE PM L3 ZM
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 22 30 16 13 M12X1.2524 105 16 M6 53 38 G1/4 16 5 16
50 40 4 28 37 20 17 M16X1.5 32 106 16 M8 65 46,5 G1/4 21 5 180
63 45 4 28 37 20 17  M16X1.5 32 121 16 M8 75 56.5 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1.5 40 128 17 M10 95 72 G3/8 23 65 220
100 55 4 38 515 25 22 M20X1.5 40 138 17 M10 115 89 G1/2 26 6.5 240
125 60 5 50 65 32 27 M27X2 54 160 20 M12 140 110 G1/2 30 6 290
16.72 Aignep ocTagnsieT 3a cO60/i NPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEOMIeHNA. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua E

PL

PL
EE EE F G

MM
1
= —
I
©

2B
- KK H
@
©
PBA
G
E

SW / L3 VA J RT

L2 |BG

A WH L8+Carrera-Stroke

AHOAVpPOBaHHaA anoMVHUeBas Tpyba C nasamu.
EB """" G Anodized aluminium tube Mickey-mouse profile with slots.

OLlHOCTOPOHHEFO [OEVCTBUA MATHUTHBIN - SINGLE-ACTING MAGNETIC

2 mm. @B d11 VA L2 WH @MM SwW KK A L8 BG RT E TG EE PL L3 ZM
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 22 30 16 13 M12X1.2524 105 16 M6 53 38 G1/4 16 5 165
50 40 4 28 37 20 17 M16X1.5 32 106 16 M8 65 46,5 G1/4 21 5 180
63 45 4 28 37 20 17 M16X1.5 32 121 16 M8 75 56.5 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1.5 40 128 17 M10 95 72 G3/8 23 65 220
100 55 4 38 515 25 22 M20X1.5 40 138 17 M10 115 89 G1/2 26 65 240
Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.73

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

Cepua E

TexHunyeckme xapaktepuctnku / Technical Characteristics

Matepuanbl ncnonyembie gnsa LMANHAPOB cepuin E N3 aHoAMPOBaHHOIO antoMUHKA.
Used Materials for cylinders Serie E with anodized aluminium tube profile and tie rods.

HnameTtpsbl / Diameter

32-40-50-63-80-100-125-160-200 - 250 - 320

Yactn u matepuanbl / Component Parts and Materials

1

17
19

3aaHAA antoMUHNEBasA rofioBKa

9
10
11
12
13
14
15

20
\

18
7 \

1 Rear head Die-casted Sandblasted aluminium

2 OumMHKOBaHHaA CTanbHaA raka 2 Zinc-plated steel Nut
3 YnnotHutenbHoe KonbLo 13 Nbr nnn FKM 3 O-ring Nbr or FKM
4 Marnut 4 Magnet Bonded ferrite
5 YnnotHeHwve u3 nonnypetaHa unv FKM 5 Piston seal in Polyurethane or FKM
6 ANIOMUHMEBDIN NOPLIEHb 6 Piston in Aluminium
7  AHopumpoBaHHasA antoMuHueBas Tpy6a 7 Tube Anodized aluminium
8 HanpasnatoLas auetanosas 8 Piston guide in Acetal resin
9  YnnoTtHuTenbHoe KonbLo 13 Nbr nnn FKM 9 O-ring in Nbr o FKM
10 CranbHo amopTH3aLMOHHBbIV 60T 10 Cushioning screw Galvanized steel
11 YnnoTtHeHwue v3 nonuypetaHa unu FKM 11 Cushioning seal in Polyurethane or FKM
12 AnomMuHMeBasA NepefHsAsA rofoska 12 Front head Die-casted Sandblasted aluminium
13 CranbHon ¢puKcmpyowmin 6ont 13 Fixing screw Galvanized steel
14 YnnotHeHuve n3 nonuypetaHa unu FKM 14 Rod seal in Polyurethane or FKM
15 CTanbHON XPOMUPOBAHHDIN LITOK U U3 HEPXK. CTanmn 15 Rod Chromium plated steel or Stainless steel
16 YnnotHuTenbHoe KonbLo 13 Nbr nnn FKM 16 O-ring in Nbr or FKM
17 bBpoH30Bas BTy/Ka 17 Bush in Sintered bronze
18 CranbHas CBA3bIBAOLWAA WNUIbKA 18 Tie rod Galvanized steel
19 CranbHas raika 19 Rod nut Galvanized steel
20 CranbHoe 31acTUYHOE KOJbLo 20 Elastic ring made in steel
16.74 Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua E

Ycunnue n notpebnenne / Forces And Consumptions

YCUNWE BbIABUMEHWA U BTATIBAHUA - THRUST AND TRACTION FORCES

@ Unnungpa @ Wrtoka  Superficie utile in mm2

Pabouee fasneHve B bar

@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
Pa6ouee ycunue 8 N
Output force in N
@32 12 BbiaBvkeHue / Thrust= 804 72 144 216 288 360 432 504 576 648 720
BrarusaHue / Traction = 691 62 124 186 248 310 372 434 496 558 620
240 16 BblaBwkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarusanue / Traction =1056 95 190 285 380 475 570 665 760 855 950
@50 20  BoigsuxeHue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarusaHume / Traction = 1649 148 296 444 592 740 888 1036 1184 1332 1480
263 20  BbigBuxkeHue / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarusaHue / Traction = 2803 250 500 750 1000 1250 1500 1750 2000 2250 2500
@80 25  BbigBuxeHue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
Brarnsanue / Traction = 4536 405 810 1215 1620 2025 2430 2835 3240 3645 4050
2100 25  BoigsuxeHue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
Brarusanue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600
2125 32 BuigsukeHve / Thrust = 12270 1104 2208 3312 4416 5520 6624 7728 8832 9936 11040
BrarusaHue / Traction = 11468 1032 2064 3096 4128 5160 6192 7224 8256 9288 10320
2160 40  BbiguxeHwve / Thrust = 20096 1774 3548 5322 7097 8871 10645 12419 14194 15968 17742
BrarusaHue / Traction = 18840 1663 3326 4990 6653 8316 9980 11643 13307 14970 16633
2200 40  BbigumxeHwve / Thrust = 31440 2772 5544 8316 11089 13861 16633 19406 22178 24950 27723
BrarusaHue / Traction = 30144 2661 5322 7984 10645 13307 15968 18629 21291 23952 26614
@250 50 BbigBuxeHue / Thrust = 48750 4331 8663 12995 17326 21658 25990 30322 34653 38985 43317
Brarusanue / Traction = 46800 4158 8316 12475 16663 20792 24950 29109 33267 37426 41584
2320 63 BbineuxkeHue / Thrust = 78872 7097 14194 21291 28388 35485 42582 49679 56776 63873 70971
BrarusaHue / Traction = 76776 6822 13644 20466 27288 34110 40932 47754 54576 61398 68220
MOTPEBJIEHME BO3YXA - CYLINDER AIR CONSUMPTION
@ Unnunppa @ LlitokaPabouas noBepxHOCTb B mm2 Pabouee faBneHue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
MoTpebneHue Bo3ayxa B NL Ha Kaxable 10mm. xoga
Air consumption in NL for each 10mm. of stroke
@32 12 BbigsukeHwe / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
Brarusanue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
@40 16 Bbiauxenue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarusanue / Traction =1056 0,021 0,032 0,042 0,053 0,063 0,074 0,084 0,095 0,106 0,116
@50 20  BbigBuxkeHue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarvsaHue / Traction = 1649 0,033 0,049 0,066 0,082 0,099 0,115 0,132 0,148 0,165 0,181
@63 20  Boigukenue / Thrust =3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
Brarusanue / Traction = 2803 0,056 0,084 0,112 0,140 0,168 0,196 0,224 0,252 0,280 0,308
@80 25  BbigBuxeHnwue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarusaHue / Traction = 4536 0,091 0,136 0,181 0,227 0,272 0,318 0,363 0,408 0,454 0,499
2100 25  BoigBuxkeHue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarvusaHue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810
2125 32 BbigBuxeHue / Thrust = 12270 0,245 0,368 0,491 0,614 0,736 0,859 0,982 1,104 1,227 1,350
BrarvsaHue / Traction = 11468 0,229 0,344 0,459 0,573 0,688 0,803 0,917 1,032 1,147 1,261
@160 40 BoiasukeHve / Thrust = 20096 0,402 0,603 0,804 1,005 1,206 1,407 1,608 1,809 2,010 2,211
Brarmsanue / Traction = 18840 0,377 0,565 0,754 0,942 1,130 1,319 1,507 1,1696 1,884 2,072

Brarueanwve / Traction = 76776

Aignep ocTaBnAeT 3a cO60i NPaBO M3MEHATb MOAENN pPa3mepbl 6e3 yBeaoMeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.75



Cepua E

YCUNUNE MPYKNHbI - SPRING TRACTION FORCES

@ Cilindri CocTosiHMe NPYXNHbI Xop / Stroke
@ Cylinder Load Spring 25 50 75 80 100
Pa6ouee ycunve 8 N
Output force in N
232 MpyxwuHa B nokoe / Load of spring at rest 50 4 33 31,5 24,5
Cxatan npyxuHa / Load of compressed spring 58 58 58 58 58
@40 MpyxwuHa B nokoe / Load of spring at rest 52 43 34 32 25
Cxatan npyxuHa / Load of compressed spring 61 61 61 61 61
@50 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
CxaTan npyxuHa / Load of compressed spring 110 110 110 110 110
263 MpyxwuHa B nokoe / Load of spring at rest 92 77 64 60 49
Cxatan npyxuHa / Load of compressed spring 110 110 110 110 110
@80 MpyxwuHa B nokoe / Load of spring at rest 17 98 79 75 59
Cxatan npyxuHa / Load of compressed spring 138 138 138 138 138
2100 MpyxwuHa B nokoe / Load of spring at rest 117 98 79 75 59
CxaTan npyxuHa / Load of compressed spring 138 138 138 138 138
Kopbl ana 3akasa - Ordering codes
el [v] [0 3 2] o o s| {e] |1 s

WcnonHeHwne / Execution

BapuaHTbli / Choices

VS= YnnotHeHune n3 FKM TonbKo gns wroka
VS= Only road seal in FKM

IS=  LUTOK 13 HepX. cTanun

IS= Stainless steel rod

V= Bce ynnotHeHusa n3 FKM

V= All FKM seals

R=  MeTannuueckni ckpebok

R=Metal scraper

—
Il

Tun kpenneHua / Mounting style

T= AHOAMpOBaHHasA antoMUHMeBas Tpyba
Anodized aluminium tube round profile con tiranti
(32/320) with tie rods (32/320) mm.

Xog mm.

LnnnHap ogHOCTOPOHHEro AencTeus -
CrangapTHbI xog mm. = 25-50-75-80-100
LnnnHap fBYXCTOPOHHEro AencTems c
aemndupoaHvem - CTaHJapTHbIN Xo4 mm.:
25-50-75-80-100-125-150-160-200-250-300-320-
350-400-450-500-600-700-800-900-1000

Mo 3anpocy Bo3amoxeH ntoboii xon Ao 2700 mm.

Stroke mm.

Single acting cylinders - Standard strokes
mm. = 25-50-75-80-100

Double acting cylinders cushioned -
Standard strokes mm.:
25-50-75-80-100-125-150-160-200-250-300-
320-350-400-450-500-600-700-800-900-1000
Intermediate or higher strokes are available
upon request. - Maximum stroke 2700 mm.

InameTtp mm. / Diameter mm.

32-40-50-63-80-100-125-160-200-250-320

B= OpHOCTOpOHHero peiicTBrA, GpoHTanbHasA NpPy»KmnHa, MarHUTHbIN / Single acting front spring magnetic (D.32-100)

H= [IByXCTOpOHHEro [eicTBMA, OfHOCTOPOHHWIA LITOK C AeMndupoBaHneM marHuTHbIV / Double acting single rod cushioned magnetic

L=

[IByXCTOPOHHEro AENCTBIA, ABYXCTOPOHHWIA LITOK C AemndupoBaHnem marHuTHbI / Double acting double rod cushioned magnetic

CEPUAE

16.76

Aignep ocTaBnAeT 3a cO60i NPaBO M3MEHATH MOAENN pa3mepbl 6e3 yBeaoMneHNs.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013
UPDATED: APRIL 18, 2013



JAIGNEP CepnaE

CTAHZAPTHbIY XOZ mm. - STD STROKES

@mm. 25 50 75 8 100 125 150 160 200 250 300 320 350 400 450 500 600 700 800 900 1000
32 Ao Ao Ae Ae Ae o o o o o o e o o e o o e o o o
w0 Ao Ae Ae Ae Ao o e e o o o ° e o e o ° ° ° e o
s0o Ao Ao Ae Ae Ae o o o o o o e o o e o o e o o o
63 Ao Ao Ao Ao Ao ¢ o o o o o ° e o e o o ° e o o
s0 Ao Ao Ao Ao Ae o o o o o o e o o e o o e o o o
10 Ao Ae Ae Ae Ae ¢ o o o o o ° e o e o o ° e o o
2% © e e e e e e e e o o e o o e o o e o o o
W © e e e e e e e e e o e o o e o o e o o o
20 © © e e e e e e o o o e o o e o o e o o o
% © e e e e e e e o o o e o o e o o e o o o
30 © © e e e e e e o o o e o o e o o e o o o

A EB OHHOCTOPOHHEFO JEVNCTBUA MATHUTHDBIN - SINGLE-ACTING MAGNETIC
e EH D.BVXCTOPOHHEFO JNENCTBUA C AEMMNOUPOBAHUEM MATHUTHBIVI - DOUBLE ACTING CUSHIONED MAGNETIC

e EL ,D.BYXCTOPOHHEFO JEVNCTBUA C AEMIMOUPOBAHVMEM MATHUTHBI C IBYXCTOPOHHUM LUTOKOM - DOUBLE ACTING CUSHIONED
MAGNETIC WITH DOUBLE ROD END

PL

MM

28
Kk
@
e
PBA
G
E

SW / L3 VA RT

L2 |BG

A WH L8+Carrera-Stoke

AHOAVPOBaHHAaA antoMrHNEBasA TPyba Kpyrioe ceyeHne
EH ——————— T Anodized aluminium tube round profile with tie rods

HBYXCTOPOHHEFO JOEVCTBUA C AEMIMOUPOBAHVUEM MATHUTHBIN - DOUBLE ACTING CUSHIONED MAGNETIC

@ mm. @B d11 VA L2 WH oMM SW KK A L8 BG RT E TG EE PL L3 ZM
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 22 30 16 13 M12X1.2524 105 16 M6 53 38 G1/4 16 5 165
50 40 4 28 37 20 17 M16X1.5 32 106 16 M8 65 46,5 G1/4 21 5 180
63 45 4 28 37 20 17 M16X1.5 32 121 16 M8 75 565 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1.5 40 128 17 M10 95 72 G3/8 23 65 220
100 55 4 38 515 25 22 M20X1.5 40 138 17 M10 115 89 G1/2 26 65 240
125 60 5 50 65 32 27 M27X2 54 160 20 M12 140 110 G1/2 30 6 290
160 65 6 55 80 40 36 M36X2 72 180 24 M16 180 140 G3/4 29 0 340
200 75 6 60 95 40 36 M36X2 72 180 24 M16 220 175 G3/4 29 0 370
250 90 10 75 105 50 46  M42X2 84 200 25 M20 275 220 G1" 31 0 410
320 10 10 90 120 63 55  M48X2 96 220 28 M24 350 270 G1" 31 0 460

Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVIE OT: 18 AMPE/A 2013 16.77

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



=)AIGNEP

PM PM

MM

8
KK |

SW —/ L3

L2 |BG

A WH L8+Cetrera -Stroke
IM+2 Carrera -2 Stroke

DOUBLE ROD END

I

AHOLMPOBAHHAsA antoMVHEBas Tpyba KpPyrilioe ceyeHue.
Anodized aluminium tube round profile with tie rods
[BYXCTOPOHHErO AEVICTBUA C EMM®UPOBAHVEM MATHUTHBIVA C IBYXCTOPOHHYM LUITOKOM-DOUBLE ACTING CUSHIONED MAGNETIC WITH

@ mm. @BAd1T VA L2 WH @MM SW KK A L8 BG RT E TG EE PM L3 M
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 22 30 16 13 M12X1.2524 105 16 M6 53 38 G1/4 16 5 165
50 40 4 28 37 20 17 M16X1.5 32 106 16 M8 65 465 G1/4 21 5 180
63 45 4 28 37 20 17 M16X1.5 32 121 16 M8 75 56.5 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1.5 40 128 17 M10 95 72 G3/8 23 6.5 220
100 55 4 38 51.5 25 22 M20X1.5 40 138 17 M10 115 89 G1/2 26 6.5 240
125 60 5 50 65 32 27 M27X2 54 160 20 M12 140 110 G1/2 30 6 290
160 65 6 55 80 40 36 M36X2 72 180 24 M16 180 140 G3/4 29 0 340
200 75 6 60 95 40 36 M36X2 72 180 24 M16 220 175 G3/4 29 0 370
250 90 10 75 105 50 46 M42X2 84 200 25 M20 275 220 G1” 31 0 410
320 110 10 90 120 63 55 M48X2 96 220 28 M24 350 270 G1" 31 0 460

PL PL E
EE e || 1G
. i .l i
8 l e —p— @ o)
I
. Vi e = < o
s le [ B | : 2|
1 z””no I ®
SW / L3 VA RT

L2 |BG

A WH L8+ Carrera-Stoke

O)JHOCTOPOHHEFO JEVNCTBMA MATHUTHBIN - SINGLE-ACTING MAGNETIC

AHOLMPOBaHHAsA anloMVHEBas Tpyba Kpyriioe ceueHue.
Anodized aluminium tube round profile with tie rods

@ mm. @Bd1T VA L2 WH  @ZMM SW KK A L8 BG RT E TG EE PL L3 ZM
32 30 4 20 26 12 10 M10X1.2522 94 16 M6 47 325 G1/8 14 5 146
40 35 4 22 30 16 13 M12X1.2524 105 16 M6 53 38 G1/4 16 5 165
50 40 4 28 37 20 17 M16X1.5 32 106 16 M8 65 465 G1/4 21 5 180
63 45 4 28 37 20 17 M16X1.5 32 121 16 M8 75 565 G3/8 22 5 195
80 45 4 34 46 25 22 M20X1.5 40 128 17 M10 95 72 G3/8 23 65 220
100 55 4 38 515 25 22 M20X1.5 40 138 17 M10 115 89 G1/2 26 65 240
16.78 Aignep ocTaigmep sar OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



CepuaV

JAIGNEP

Lnnuuapbl INOX Cepunsa V Iso 15552 / INOX Cylinder V Serie Iso 15552

STU UUAVHAPbI MONHOCTBIO CAeNaHbl N3 HepKaBelLel CTann 1 COOTBETCTBYIOT cTaHzapTy ISO 15552. FonoBku n Tpyba
coenaHbl 3 ctanu AlSI 304, a WToK, dpuKcUpyowmin 60T 1 aMopPTU3aLMOHHBIA 60NT caenaHbl u3 ctanu AlSI 316. JaHHble
LUNUHAPbI NpeAHa3HayeHbl AnA paboTbl B arpecCUBHON Cpefe, TOKOWM Kak XMMuyeckon, dapmauunBTuyeckon, HedTAHOW,
MOPCKOW U CENbCKO-XO3ANCTEHHOW NMPOMbILLIIEHHOCTAX, AN1A PaboTbl BHE MOMELLEHNIA.

These cy/inders are entirely made ofstainless steel
and follow ISO 15552 normative. They are specifically
manufactured with AISI 304 stainless steel heads and
tube, while rod, tie rods, fv<ing screws and cushioning
screws are made OofAlSI 316 stainless steel. These cy/
inders are suitable for particularly aggressive envi-
ronments such as chemical, pharmaceutical, petrol
chemical, navy, agro-food, zoo technical and outside
employment.

TexHnueckune xapakrepuctuku / Technical Characteristics

[aBneHune / Pressures

MwuHuManbHoe gasnenue / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe aasneHvie / Maximum pressure: 10 bar (1 MPa)

OnwucaHune / Functioning

[IByXCTOPOHHEro AeicTBMA C AeMndrpoBaHEM MarHUTHbI,
OfHOCTOPOHHEro AenNCTBMA MarHUTHbIA, OAHO N ABYX

[IBYXCTOPOHHHWIN LITOK MarHUTHbIN, IBOVHON
Double-acting cushioned magnetic, Single-acting magnetic
Single or through piston rod magnetic, Tandem.

OnameTtp umnnHppos / Bores

OT1 3280 125 mm.
From 32 to 125 mm.

Temnepatypa / Temperatures

MuHumanbHasa Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHoM Bo3ayxe / with dry air)
MakcrnmanbHaa Temnepatypa / Maximum temperature:

+80 °C
Pabouas cpepa / Fluids Xopn / Strokes

CraHpapTHbIn xop / Standard Strokes
Da 25 a 1000 mm / From 25 to 1000 mm

OuunLLeHHbI BO3LyX CO CMa3Ko 1 6e3 cMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Xop no 3anpocy / Stroke on Demand

OT1 1000 no 2700 mm / From 1000 to 2700 mm

Koabl anA 3akasa - Ordering codes

v [H] ] [o 5 2] o 2

5 | |V S BapwuaHTbli / Choices

VS= YnnotHeHune n3 FKM TonbKko ans wroka
VS= Only road seal in FKM

V= Bce ynnotHeHua n3 FKM

V= All FKM seals

Xog mm. Stroke mm.

LinnvHapbl ABYXCTOPOHHErO AEACTBUA - Double acting cylinders cushioned -

[Hviamerp mm. CraHpapTHbIf xoa mm.: Standard strokes mm.:
Diameter mm. 25-50-75-80-100-125-150-160-200-250-300- 25-50-75-80-100-125-150-160-200-250-300-320-
32-40-50-63-80-100-125 320-350-400-450-500-600-700-800-900-1000 350-400-450-500-600-700-800-900-1000
Mo 3anpocy BO3MOXeH io6oi xoa 0 2700 mm.  |ntermediate or higher strokes are available
I= HEPX. CTAJIb upon request. - Maximum stroke 2700 mm.
|= STAINLESS STEEL

Esecuzione / Execution

G= [1ByXCTOPOHHEero AeicTBMA C AemnprpoBaHemM He MarHUTHbI / Double acting single rod cushioned without magnet
H= [lByxcTOpOHHero aeicTeuma c gemneuposaHnem MmarHUTHbIN / Double acting single rod cushioned magnetic
L= [IByxcTOpOHHero aeincTema ¢ aemneupoBaHneM MarHUTHbIN, AByXCTOPOHHMI WwTok / Double acting double rod cushioned magnetic

K= [1ByxcTOpOHHero aeicTeumA ¢ aemneupoBaHnemM He MarHUTHbIN, ABYXCTOPOHHMI WToK /Double acting double rod cushioned without magnet
CEPMAV
Aignep ocTAigmep sarcabod ingiritoardi OBHOBJIEHVE OT: 18 AMPE/NA 2013 16.79

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua NHA

FJAIGNEP

Lirmnapb ¢ asoit Hbiv LumokoM Cepias NHA Iso 15552 / Twin piston rod Cylinder NHA Serie lso 15552

UunnHgpobl ISO 15552 ¢ ABOMHbIM LWITOKOM, He MOBOPOTHbIE. 3Tn
LMAVHAPBI MO3BONATIO MO3MLUMOHUPOBAaTb C BbICOKOW TOYHOCTbIO.
CoeguHuTenbHbI dnaHely nocaxeH Ha 2 WTOKa, npoxojalme
yepe3 BTynku M3 PTFE camoccmasbiBaowmeca tepnoHoMm. Takas
KOHCTPYKLMsI He MO3BOJIAIET BpallaTbCs 1 0OeCrneymBaeT XopoLuyio
»KeCTKOCTb. [0NOBKM OYeHb Kpenkue 1 KpacuBoO BbIFAZAT, CAeNnaHbl
13 KpaLleHoro antoMuHua. Bce ynnotHeHnA caenaHbinz nonnypeTtaHa,
B omnumn ot NBR, nonunypetaH umeeT nyuywime xapakTepuCTUKW.
Tpyba chenaHa wu3 aniloMUHUA M MOXeT MOoCTaBAATbCcA  C
NPOJOSNbHLIMA Ma3amy AfA yCTaHOBKM MarHuTtHoro (D.32-100); B
CTaHJApPTHOW BepCuM WTOK CANaH U3 HEeXPOMUPOBAHHOW CTanu,
Nno 3anpocy BO3MOXHO W3roTOBNEHME LITOKAa W3 HepX<aBeloLen
ctanu. Perynupyemoe aemndrpoBaHMEe BO3MOXHO C 060uX
CTOPOH  Kak [nAa CTaHJapTHOM Bepcuu/ Tak M C MarHUTOM.

ISO 15552 twin rods antirotation cylinders. These cylinders
allow any parts positioning with good precision and well
defined orientation because the junction flange is strictly
placed on two rods, guided by very precise PTFE self
lubricating Teflon bushes. This constructive concept don
‘t allows rotation during translation and grants a good
rigidness to the flange, allowing small loads application.
Heads are very strong and have a good looking, theyare
realized from die casted painted aluminum. Important is
the whole dynamic seals in polyurethane, unlike NBR seals,
they gran t better performances and longer lasting. Tube
inside-outside is made ofanodized aluminum and may
be supplied as follows: Profile with longitudinal slots, for
magnetic sensor total insertion (0.32-100); Standard version
rod is made ofchromed steel; upon request stainless steel
rods are also available. End stroke cushioning is adjustable
on both sides for standard version and piston is magnetic.

.

-

TexHunyueckune xapaktepuctuku / Technical Characteristics

[asneHwue / Pressures

MuHumanbHoe aaeneHvie / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gasneHue / Maximum pressure: 10 bar (1 MPa)

Temperature / Temperatures

MuHumanbHas Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcumanbHas Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEeHHbBIN BO3AyX CO CMa3Kow 1 6e3 cmasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

OnwncaHue / Functioning

[1ByXCTOPOHHEro AencTBUA MarHUTHbIN, OfHO VAW [BYXCTOPOHHWI LWITOK
MarHUTHbI

Double-acting cushioned magnetic

Single or through piston rod magnetic.

AnameTtp ymnnnppos / Bores

OT1 32 go 320 mm.
From 32 to 320mm.

Xopn / Strokes

CrangapTHbIi xop / Standard Strokes
Ot 25 o 1000 mm / From 25 to 1000 mm

Xop no 3anpocy / Stroke on Demand

'I 680 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP

Cepua NHA

TexHuyeckune xapakrepuctuku / Technical Characteristics

Yactn nmatepuanbl / Component Parts and Materials

1

O 00 N O U1 M W N

_ =
- O

12
13
14
15
16
17
18
19
20
2
22
23
24

—_

CranbHon ¢pukcmpyowmin 6ont
AHOAMPOBaHHbIV aNtoOMUHNEBBIN dnaHew,
LLITOK XpOMMpPOBaHHbBIN NN N3 HEPXK.CTaNN.
YnnoTtHeHve 13 nonmypeTaHa
CTanbHOM aMOPTM3aLMOHHBIN 60nT
YnnotHutenbHoe KonbLo n3 Nbr
CranbHoe 3nacTuyHoe KonbLo
MopwnnHmkK

YnnoTHeHne 13 nonmypeTaHa
J1aTyHHbIN KOHYC

YnnotHutenbHoe Konbuo 13 Nbr
CranbHon dukcupyowmin 6ont
Maruunt

ANOMUHNEBDIN NOPLUEHb
YnnoTHeHne 13 nonmypeTaHa
MNMopLueHb 13 aLeTanoBow CMOosbI
YnnotHutenbHoe Konbuo 13 Nbr
YCTaHOBOYHbIN BUHT

CranbHad ramka

YnnoTHeHue 13 nonnypeTaHa
ANOMVHNEBAA roN0BKa

CranbHon pukcmpyowmin 6ont
AHOAMpPOBaHHasA antoMrHeBas Tpyba

AnOMUHNEBAsA rofioBKa

O 00 N O U1 »h W N =

N N N N N = = = o 3 o e e o
A W N =2 O O 0N M U DA W N = O

Fixing screw Galvanized steel

Anodized Aluminium Flange
Rods Chromium plated steel or Stainless steel
Rod seal in Polyurethane
Cushioning screw Galvanized steel
O-ring Nbr

Elastic ring made in steel

Steel with PTFE Bearing
Cushioning seal in Polyurethane
Brass cushioning cone

O-ring Nbr

Fixing screw Galvanized steel
Magnet Bonded ferrite
Aluminium Front Piston

Piston seal in Polyurethane
Acetal resin rear Piston

O-ring Nbr

Steel Grub screw

Galvanized steel nut

Cushioning seal in Polyurethane
Rear head Die-casted aluminium
Fixing screw Galvanized steel
Tube Anodized aluminium

Front head Die-casted aluminium

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.81



Cepua NHA

Ycnnue n noptebnenue / Forces And Consumptions

YCUNE BblIABUMEHWA U BTATUBAHWA - THRUST AND TRACTION FORCES

@ Unnungpa @ WtokaPabouan noBepxHOCTb B mm2 Pabouee gasnexue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

Pabouee ycunve 8 N
Output force in N

@32 12 BbiaBmkeHme / Thrust= 804 72 144 216 288 360 432 504 576 648 720
Brarusanume / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 16 BblaBmkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
Brarmeaxue / Traction =1056 95 190 285 380 475 570 665 760 855 950
@50 20  BbigBuxeHwue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarueaHue / Traction = 1649 148 296 444 592 740 888 1036 1184 1332 1480
263 20  BbigBukeHue / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarusaHue / Traction = 2803 250 500 750 1000 1250 1500 1750 2000 2250 2500
280 25  BoigBuxkeHwue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
BrarvsaHue / Traction = 4536 405 810 1215 1620 2025 2430 2835 3240 3645 4050
2100 25  BbigBuxeHwue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
BrarueaHue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600

CONSUMI CILINDRO - CYLINDER AIR CONSUMPTION

@ Unnungpa @ LtokaPaboyas noBepxHOCTb B mm2 Pabouee pasnexue B bar
@ Cylinder @ Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpebnexune Bo3ayxa B NL Ha Kaxable 10mm. xofa
Air consumption in NL for each 10mm. of stroke

@32 12 BobigsukeHue / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
BrarmeaHue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
240 16 BbigBmkeHue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
Brarueanue / Traction =1056 0,021 0,032 0,042 0,053 0,063 0,074 0,084 0,095 0,106 0,116
@50 20  BoigsukeHwue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarusaHue / Traction = 1649 0,033 0,049 0,066 0,082 0,099 0,115 0,132 0,148 0,165 0,181
263 20 Bobigsukeruve / Thrust =3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
BrarvusaHue / Traction = 2803 0,056 0,084 0,112 0,140 0,168 0,196 0,224 0,252 0,280 0,308
@80 25  BolasukeHue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarvsaHue / Traction = 4536 0,091 0,136 0,181 0,227 0,272 0,318 0,363 0,408 0,454 0,499
@100 25  BoigBukeHwue / Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarusaHue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810

Koabl anA 3akasa - Ordering codes

E E‘ z‘ 0 3 2| 0 0 2 5| E' DBapMaHTbI/Choices

IS= Stelo inox

IS= Stainless steel rod
Tun kpenneHuna / Mounting style

HnameTtp mm.
Diameter mm. G= AnomuHveBasa Tpyba c nasamu Ana gatymka

G= Anodized aluminium tube Mickey-mouse profile
Xoa mm. / Stroke mm. with slots (32/100)

32-40-50-63-80-100

@ mm. 25 50 80 100 125 160 200 250 320 350 400 500 600

BapwuaHTbl / Choices 32
) 40 . . . . . . . . . .
A= He noBOpPOTHbIN
_ s 50 . . . . . . . . . .
A= anti-rotation
63 . . . . . . . . . . .
80 . . . . . . . . . . . .
WcnoneHne / Execution 100 . . . . . . . . . . . .

H= [IByxCTOpOHHero fefcTB1A, OGHOCTOPOHHUIA LTOK, C AeMndupoBaHuem, MarHu1THbIV / Double acting single rod cushioned magnetic
L= [IByxcTOpOHHero fefcTBuA, ABYXCTOPOHHUIA WTOK ISO, ¢ AemndurpoBaHmem, MarHuTHbil / Double acting double rod ISO cushioned magnetic
Q= [1ByXCTOPOHHEro AeNCTBUA, ABYXCTOPOHHWIA ABOVHON LWITOK, C AeMnpupoBaHmem, MarHuTHbIN / Double acting double twin rods cushioned magne-

tic

CEPUAN

1 6.82 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP Cepus NHA

CTAHIAPTHbIY XOZ mm. - STD STROKES

@ mm. 25 50 80 100 125 160 200 250 320 350 400 500 600
22 Ao Ao Ao Ae Ao Ao Ao Ao Ao

w Ao Ae Ae Ao Ao Ae Ao Ae Ao Ao

s0o Ao Ao Ae Ae Ao Ao Ao Ao Ae Ao

3 Ao Ao Ao Ao Ao Ao Ao Ao Ao Ao Ao

g0 Ao Ao Ae Ae Ao Ae Ao Ae Ao Ao Ao Ao
10w Ao Ae Ae Ae Ae Ae Ae Ae Ao Ao Ao Ao

A NHA D'BYXCTOPOHHEI'O JENCTBMA MATHATHDBIA - DOUBLE ACTING CUSHIONED MAGNETIC
A NLA ,uByXCTOPOHHEFO LENCTBUA MATHUTHBIV C IBYXCTOPOHHMM LUTOKOM [SO-DOUBLE ACTING CUSHIONED MAGNETICWWITH DOUBLE RODENDISO
(] ,\l\/ligGANE%BYXCTOPOHHEFO JEVNCTBUA MATHUTHDBIA C ABOVHbBIM ABYXCTOPOHHUM LLUITOKOM- DOUBLE ACTING DOUBLE TWIN RODS CUSHIONED

C L8+ Carrera - Stroke

i

[ B N

©

Ll —

a5
v
)

@B
E

NHA

D.BYXCTOPOHHEFO [OEVNCTBUA MATHUTHBIA - DOUBLE ACTING CUSHIONED MAGNETIC

@ mm. @gBdin C E F H K M S T V Z F1 VA L2 WH OMM SW KK L8 BG RT E TG EE PL L3 ZM
32 30 26 47 4 15 M6 95 35 8 32 18 48 4 20 26 1210 M10X1.25 94 16 M6 47 325 G1/8 14 5 146
40 35 30 53 4 15 M8 1125 45 10 40 22 54 4 22 30 16 13  M12X1.25 105 16 M6 53 38 G1/4 16 5 165
50 40 37 65 5 18 M8 15 55 12 50 26 69 4 28 37 20 17 M16X1.5 106 16 M8 65 46,5 G1/4 21 5 180
63 45 37 75 5 22 MI0 19 70 16 63 35 69 4 28 37 20 17 M16X1.5 121 16 M8 75 565 G3/8 22 5 195
80 45 46 95 5 22 M12 25 85 20 80 40 8 4 34 46 25 22 M20X1.5 128 17 M10 95 72 G3/8 23 6.5 220
100 55 51 115 5 22 M12 35 105 20 100 50 91 4 38 515 25 22 M20X1.5 138 17 M10 115 89 G1/2 26 6.5 240

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 683
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua NHA

C L8+ Carrera - Stroke F1+ Carrera - Stroke

o1
>

O
©
©)

7B
DMM

NLA

D,BVXCTOPOHHEFO JEVNCTBUA MATHUTHBIA C IBYXCTOPOHHUM LUTOKOM 1SO- DOUBLE ACTING CUSHIONED MAGNETIC WITH DOUBLE ROD END ISO
@ mm. A @Bd1T  C E F H K M S T V Z F1 VA L2 WH oMM SW KK L8 BG RT E TG EE PL L3 ZM

32 22 30 26 47 4 15 M6 95 35 8 32 18 48 4 20 26 12 10 MI10X1.25 94 16 M6 47 325 G1/8 14 5 146

40 24 35 30 53 4 15 M8 1125 45 10 40 22 54 4 22 30 16 13 M12X1.25 105 16 M6 53 38 GI1/4 16 5 165

50 32 40 37 65 5 18 M8 15 55 12 50 26 69 4 28 37 20 17 M16X1.5 106 16 M8 65 465 G1/4 21 5 180

63 32 45 37 75 5 22 M0 19 70 16 63 35 69 4 28 37 20 17 M16X1.5 121 16 M8 75 565 G3/8 22 5 195

80 40 45 46 95 5 22 MI12 25 85 20 80 40 8 4 34 46 25 22 M20X1.5 128 17 M10 95 72 G3/8 23 6.5 220

100 40 55 51 115 5 22 M12 35 105 20 100 50 91 4 38 515 25 22 M20X1.5 138 17 M10 1

5 89 G1/2 26 65 240

C L8+ Carrera - Stroke C+Carrera - Stroke
H H
s 7

I I —
1 l w| ©

> T

LS

s 0] | ©0 ! e
' | S
| I ~

AL

NQA

D,BYXCTOPOHHEFO JENCTBUA MATHUTHbIA C ABOVIHbBIM ABYXCTOPOHHMM LUTOKOM - DOUBLE ACTING DOUBLE TWIN RODS CUSHIONED MAGNETIC

@ mm. @Bd1T C E F H K M S T \ Z F1 VA L2 WH @MM SW KK L8 BG RT E TG EE PL L3 ZM
32 30 26 47 4 15 M6 95 35 8 32 18 48 4 20 26 12 10 M10X1.25 94 16 M6 47 325 G1/8 14 5 146
40 35 30 53 4 15 M8 1125 45 10 40 22 54 4 22 30 16 13 M12X1.25 105 16 M6 53 38 G1/4 16 5 165
50 40 37 65 5 18 M8 15 55 12 50 26 69 4 28 37 20 17 M16X1.5 106 16 M8 65 465 G1/4 21 5 180
63 45 37 75 5 22 M10 19 70 16 63 35 69 4 28 37 20 17 M16X1.5 121 16 M8 75 565 G3/8 22 5 195
80 45 46 95 5 22 M12 25 85 20 80 40 8 4 34 46 25 22 M20X1.5 128 17 M10 95 72 G3/8 23 6.5 220
100 55 51 115 5 22 M12 35 105 20 100 50 91 4 38 515 25 22 M20X1.5 138 17 M10 115 89 G1/2 26 6.5 240

16.84 Aignep ocTagnsieT 3a cO60/i NPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEOMIeHNA. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

Cepuna NHA

Grafici Cylinders NHA / Charts NHA Cylinders

MomeHT Ha 1n3rmb / Flexion Moment

140
130
120
110

N
8

MAX ADMITTED LOAD N
MAX CARGA ADMISIBLE

90

70
60

20
10

[ [

9100
N 1480
NN L1263
P 850

N /--'40

N

\“‘)"\( [ 832
Vi

T
I

N T~ I~

1V

N

1

100 200 300 400 500
CARRERA mm,/STROKE mm.

N3rn6-kpyueHme / Flexion-Torsion

35
Z30
%25

M

220

CARGA-LOA
- -
o w

¢ ]

90
80
E 70

CILINDRO-CYLINDER @32

=25

/ T
/ L=50

N

NN

~—1 T

|

50 100 150 200 250
CARRERA mm./STROKE mm.
CILINDRO-CYLINDER @63
/--Léso

/ /-L=1OO
v
Y

T
100 200 300 400 500

CARRERA mm./STROKE mm.

KpyTtawmn momeHT / Torsion Moment

| CARGA MAXFin N.
MAX. ADMITTED LOAD F in N.

CILINDRO-CYLINDER @40

z / =100

<15

%10 \ //
~—]

~ |

100 200 300 400 500
CARRERA mm./STROKE mm.

CILINDRO-CYLINDER @80
100

©
o

tL=50

N o
o O
—
—

(4] [+:]

o o
]

>

\\

~-L=100

CARGA-LOAD MAXF in N,
]
/
-

v

NN

]

-
o

100 200 300 400 500
CARRERA mm./STROKE mm.

B
|

ﬁD_ _'Mt

14 i i
:Z L9100
=11 H -
g 210 1 1
ZZ g 253
2d g #50
93 7 AN
og 6 pd ~#40
E< 5 VA A 932
Ss J
5% 4 w4 ]
< 3 N | ~—
29 2 b
s § 1 \N_‘ e o
= | : ]
100 200 300 400 500
CARRERA mm./STROKE mm.
CILINDRO-CYLINDER @50
80
70
Z60
P =50
% 50 //'
s
240 4
] \ / -L=100
%30 /’
) k\/
<20 54
8] \, \\
10 —
100 200 300 400 500
CARRERA mm./STROKE mm.
CILINDRO-CYLINDER 2100
100 —
\ =50
90 \\
80 \ /
Z 70
NN e
% 60
= LLAN/L LS
a 50
g N
<40
) N\ 7
(=4
< 30 N
B3] T
20 ——
10

100 200 300 400 500
CARRERA mm./STROKE mm.

Aignep ocTaBnAeT 3a cO60i NPaBO M3MEHATb MOAENN pPa3mepbl 6e3 yBeaoMeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.85



FJAIGNEP

Cepwusa Corsa Breve

KomnakTHble umnnHapbl iso 21287 / Compact Cylinders iso 21287

HoBble KOMMaKkTHble UUAMHAPbLI cooTBeTCTBYIOT ISO 21287 n
NPOn3BOAATCA C AguameTpamu LmnmHgpos ot 20 mm go 100 mm
1 OHM Ha 50% MeHbLUe No CpaBHeEHWIO C uunuHgpamm ISO 15552
C TAaKNUMW XKe fraMeTpamu.

Bonbluoe npenmyLecTso 3TuX UMANHAPOB 370 I1SO nHTepderic
KOTOPbIV MO3BOJIAET NCMOJNIb30BaHME C aKcecCyapamMu LMIVHAPOB
ISO 15552 (ISO 6431 VDMA 24562).

LnnuHppst 1SO 21287 nmetoT aneraHTHbIN An3aniH. Tpyobl umetot
nasbl C TPeX CTOPOH ANA YCTaHOBKM MarHUTHbIX BblK/oUuaTenen.
TaKkke MMETMCA 3MacTUYHble 6amnepsbl.

The new compact cylinders normative ISO 21287 have
been manufactured with bores from 20 mm up to 100
mm and they are 50% smaller compared to ISO 15552
cylinders with equivalent dimension.

The biggest advantage of these cylinders is the I[SO
interface that permits the combination with the same
mounting accessories of SO 15552 (ISO 6431 VDMA
24562) cylinders.

ISO 21287 cylinders have a clean and elegant design.
The tube has longitudinal slots on three sides for the total
insertion of magnetic switches. There are also elastic
bumpers at the stroke end.

It is also available a version with male thread piston rod.

..

TexHnueckune xapakrepuctuku / Technical Characteristics

lNaBneHue / Pressures

MuHumanbHoe aaeneHie / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe gasneHue / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

MuHumanbHas Temnepatypa / Minimum temperature: 0°C
(-20 °C npwu ocyweHHom Bo3ayxe / with dry air)
MakcumanbHas Temnepatypa / Maximum temperature: +80 °C

Pabouas cpepa / Fluids

OunLLEHHDBIV BO3[YX CO CMa3KoW 1 6e3 cMasKu.
Filtered and lubricated compressed air as well as non
lubricated air.

Onwncanue / Functioning

OpfHO 1 [BYXCTOPOHHErO [eCTBUA MarHUTHbIN, O{HOCTOPOHHWIA UK
[IBYXCTOPOHHWI WITOK MarHUTHbIN, He M0aopOTHbIN MarHUTHbIN.
Single and Double-acting magnetic, Single or through piston

rod magnetic Antirotation magnetic.

AnameTtp ymnnnppos / Bores

Ot 20 o 100 mm / From 20 to 100 mm

Xopn / Strokes

CraHgapTHbIv xop / Standard Strokes

Ot 5 no 80 mm / From 5 to 80 mm

'I 686 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepusa Corsa Breve

TexHuyeckne xapakrepuctukm / Technical Characteristics

Yactn n matepuansl / Component Parts and Materials

1

0 N O bW N

9

10
11
12
13

CTanbHOM XPOMUPOBAHHbIN LITOK

(AISI 303 ot 20 pgo 25) (C40 o1 32 go 100)
AHofMpoOBaHHaA antoMUHMEBAA KPbILWKa
OUMHKOBAHHbIN CTanbHom 6onT
YnnoTtHeHue nonvypeTaHoBoe
BpoH3oBas BTy/Ka

YnnotHutenbHoe KonbLo 13 NBR
YnnoTtHeHue nonvypeTaHoBoe

Maruut

ANIOMUHMNEBbIN NOPLUEHb
YnnotHutenbHoe KonbLo 13 NBR
OuMHKOBaHHasA CTanbHasA rarka
AHOLMPOBaHHbIM aNtOMUHNEBBIV KOPMYC
AHofMpoBaHHaA antoMUHMEBAA KpbILWKa

1

0 N ot~ WwN

11
12
13

Chrome steel Piston rod
(AISI 303 from 12 to 25)(C40 from 32 to 100)
Anodised aluminium Front cover

Zinc-plated steel Screw
Polyurethane Rod Seal

Sintered bronze Bearing

NBR O-RING Seals

Polyurethane Piston Seal
Bonded ferrite Magnet
Aluminium Piston

NBR O-RING Seals

Zinc-plated steel Piston nut
Anodised aluminium Cylinder shape body
Anodised aluminium Back cover

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.87



Cepwua Corsa Breve

Ycunua n notpebnenmne / Forces And Consumptions

YCUNWE BbIABUMEHWA U BTATUBAHWA - THRUST AND TRACTION FORCES

@ Unnuuppa @ LtokaPaboyas noBepxXHOCTb B mm2 Pabouee naBneHue B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

Pa6ouee ycunve 8 N
Output force in N

220 10 BbiaBvkeHune / Thrust = 314 28 55 85 110 140 170 195 220 250 280
Brarueanue / Traction = 235 21 42 60 85 105 125 150 170 190 210
225 10 BbiaBvkeHune / Thrust = 490 44 88 132 176 220 264 308 352 396 440
Brarusanme / Traction = 412 36 72 108 144 180 216 252 288 324 360
@32 12 BbiaBvkeHue / Thrust = 804 72 144 216 288 360 432 504 576 648 720
BrarveaHue / Traction = 691 62 124 186 248 310 372 434 496 558 620
@40 12 BbiaBmkeHue / Thrust = 1257 110 220 330 440 550 660 770 880 990 1100
BrarueaHue / Traction = 1144 100 200 300 400 500 600 700 800 900 1000
@50 16 BbiaBmkeHue / Thrust = 1963 175 350 525 700 875 1050 1225 1400 1575 1750
BrarusaHue / Traction = 1762 155 310 465 620 775 930 1085 1240 1395 1550
263 16 BbiaBmkeHune / Thrust =3117 280 560 840 1120 1400 1680 1960 2240 2520 2800
BrarvsaHue / Traction = 2916 260 520 780 1040 1300 1560 1820 2080 2340 2600
280 20  BbigBuxeHwue / Thrust = 5027 450 900 1350 1800 2250 2700 3150 3600 4050 4500
BrarusaHue / Traction = 4712 420 840 1260 1680 2100 2520 2940 3360 3780 4200
2100 25  BbigBukeHwue / Thrust = 7854 700 1400 2100 2800 3500 4200 4900 5650 6360 7000
BrarusaHue / Traction = 7363 660 1320 1980 2640 3300 3960 4620 5280 5940 6600

YCUNME MPYKKMHbI - SPRING TRACTION FORCES

@ Unnunppa CocToAHMe NPYKMHbI Xop / Stroke
@ Cylinder Load Spring 5 10 15 20 25

Pa6ouee gasnerve N
Output force in N

220 MpyxwuHa B nokoe / Load of spring at rest 15,7 14 12,2 104 8,7
Cxatana npyxmHa / Load of compressed spring 174 17,4 17,4 174 174
@25 MpyxuHa B nokoe / Load of spring at rest 19,5 18,5 173 16 15
Cxatana npyxmuHa / Load of compressed spring 22 22 22 22 22
@32 MpyxwnHa B nokoe / Load of spring at rest 27,8 253 22,8 20,2 17,7
Cxartan npyxwuHa / Load of compressed spring 30 30 30 30 30
@40 MpyxuHa B nokoe / Load of spring at rest 36,4 34 31,7 29,5 27
Cxatana npyxmHa / Load of compressed spring 36 36 36 36 36
@50 MpyxwuHa B nokoe / Load of spring at rest 32 30,5 29 27,8 26,5
Cxatag npvkuda /Load of compressed spring 35 35 35 35 35
Py P PHRg
263 MpyxuHa B nokoe / Load of spring at rest 61 58,5 56,3 53,5 51,5
@80 MpyxuHa B nokoe / Load of spring at rest 91,3 88 85 82 787
Cxatas npyxuHa /Load of compressed spring 94 94 94 94 94
2100 MpyxuHa B nokoe / Load of spring at rest 150 145 140 134 129
CxaTas npyxuHa /Load of compressed spring 156 156 156 156 156
'I 688 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

MOTPEBJIEHVE BO3YXA - CYLINDER AIR CONSUMPTION

@ Unnungpa @ LtokaPaboyas noBepxHOCTb B mm2

Pabouee gasneHve B bar

@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10
MoTpebneHne Bo3ayxa B NL Ha Kaxable 10mm. xofa
Air consumption in NL for each 10mm. of stroke
@20 10 BbiaBvkerune / Thrust = 314 0,006 0,009 0,013 0,016 0,019 0,022 0,025 0,028 0,031 0,035
BrarusaHue / Traction = 235 0,005 0,007 0,009 0,012 0,014 0,016 0,019 0,021 0,024 0,026
@25 10 BoigukeHue / Thrust = 490 0,010 0,015 0,020 0,025 0,029 0,034 0,039 0,044 0,049 0,054
Brarueanwue / Traction = 412 0,008 0,012 0,016 0,021 0,025 0,029 0,033 0,037 0,041 0,045
@32 12 BbigsukeHue / Thrust = 804 0,016 0,024 0,032 0,040 0,048 0,056 0,064 0,072 0,080 0,088
BrarmeaHue / Traction = 691 0,014 0,021 0,028 0,035 0,041 0,048 0,055 0,062 0,069 0,076
@40 12 BbigBukeHue / Thrust = 1257 0,025 0,038 0,050 0,063 0,075 0,088 0,101 0,113 0,126 0,138
BrtArueaHue / Traction = 1144 0,023 0,034 0,046 0,057 0,069 0,080 0,092 0,103 0,114 0,126
@50 16 BbigBuxeHue / Thrust = 1963 0,039 0,059 0,079 0,098 0,118 0,137 0,157 0,177 0,196 0,216
BrarusaHue / Traction = 1762 0,035 0,053 0,070 0,088 0,106 0,123 0,141 0,159 0,176 0,194
263 16 Bobigsukeruve / Thrust =3117 0,062 0,094 0,125 0,156 0,187 0,218 0,249 0,281 0,312 0,343
BrarveaHue / Traction = 2916 0,058 0,087 0,117 0,146 0,175 0,204 0,233 0,262 0,292 0,321
280 20  BbigBuxeHwue / Thrust = 5027 0,101 0,151 0,201 0,251 0,302 0,352 0,402 0,452 0,503 0,553
BrarusaHue / Traction = 4712 0,094 0,141 0,188 0,236 0,283 0,330 0,377 0,424 0,471 0,518
@100 25  BoiguxeHue/ Thrust = 7854 0,157 0,236 0,314 0,393 0,471 0,550 0,628 0,707 0,785 0,864
BrarusaHue / Traction = 7363 0,147 0,221 0,295 0,368 0,442 0,515 0,589 0,663 0,736 0,810
Kak 3aka3atb / How to Order
WB 32 10
Kog OVAMETP UMNAHOPA Xoa
CODE BORE STROKE
CTAHIAPTHbBIV XOA mm. - STD STROKES
@ mm. 5 10 15 20 25 30 40 50 60 80 100 125 150 200
0 Ao Ae# Aot Aol Ao o# ot o
5 Ae#H Ao Ao Ao Ao ot off  of
32 Aot Ao Aot Aot Ae# o off off off off o ° °
0 Aot Ao Ae# Ao Ae# off off o o o o ° °
50 Aot Aot Ao# Ao#H Ao o o# ot ot off ° ° ° °
63 Aot Aot Aeo#t Ao# Ao# o o# ot o ot ° ° ° °
80 Aot Aot Ao# Ao#H Ao o o# ot ot off ° ° ° °
100  Ae# Ae# Ao Ae# Ao ot off ot o o ° ° ° °
A WB O)J,HOCTOPOHHEFO JENCTBUA MATHUTHBIN - SINGLE-ACTING MAGNETIC
A WD O,HHOCTOPOHHEFO NENCTBUA MATHUTHBIW - TONKAIOLLIAA MPYXKMHA - SINGLE-ACTING MAGNETIC - SPRING THRUST
b WF ,D'BYXCTOPOHHEFO JENCTBUA MATHUTHBIW - DOUBLE ACTING MAGNETIC
b WJ 'D'BYXCTOPOHHEFO JENCTBUA MATHUTHBIW IBYXCTOPOHHIW LUTOK - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
# WFA D'BVXCTOPOHHEFO NENCTBUA MATHUTHbIA HE MOBOPOTHbIW - DOUBLE-ACTING MAGNETIC ANTIROTATION
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 689

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



JAIGNEP

Cepusa Corsa Breve

i)

Mt

G-32-40-50-63-60-100

+=aggiungere la corsa

L
L/

=,
o

#
s

EE

s

E

+ =add stroka

++=agglingers 2volte la corsa  ++ = double siroke dimension and add it
WB - WBM
O,ElHOCTOPOHHEFO JENCTBUA MATHUTHbIA
@ mm oD E L1 A KK CH AF KF BG LA RT G TG EE PL oD1 T ZA+ ZB +
20 10 36 15 16 M8x1,25 9 10 M6 18,5 5 M5 - 22 M5 8 9 2,1 39 45
25 10 40 1,5 16 M8x1,25 9 10 M6 18,5 5 M5 - 26 M5 8 9 2,1 39 45,5
32 12 49 - 19 M10x1,25 10 12 M8 - - M6 145 325 G1/8 75 9 21 44 51
40 12 55 - 19 M10x1,25 10 12 M8 - - M6 15 38 G1/8 75 9 2,1 45 52
50 16 68 - 22 M12x1,25 13 16 M10 - - M8 145 465 G1/8 7,5 12 2,6 45 53
63 16 785 - 22 M12x1,25 13 16 M10 - - M8 14 565 G1/8 75 12 2,6 49 57,5
80 20 98 - 28 M16x1,5 17 20 M12 - - M10 155 72 G1/8 75 12 2,6 54 64
100 25 120 - 28 Mi16x1,5 22 20 M12 - - M10 20 89 G1/8 75 12 2,6 67 77
16.90 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



AIGNEP Cepua Corsa Breve

0-32-40-50-63-60-100
6 e I E
B A=
& 3 & 5 ]
y i
- 1 SH
T S L™
'l LSk
@) &)
R : ] T =
ITHe @ HDy  @s K Oee-
i I el et “’-&'ﬂf S

=
il
A

=

=
bl )

g |

+= aq7iungers |a corsa + =add simka
+4=agglungers 2volte la corsa ++ = double sircke dimension and add 1t

WD - WDM

OLI,HOCTOPOHHEFO LENCTBUA MATHUTHBIN - TOJIKAIOLLAA MPYKAHA - SINGLE ACTING MAGNETIC - SPRING THRUST

2 mm oD E L1 A KK CH AF KF BG LA RT G TG EE PL oD1 T ZA+ ZB ++
20 10 36 1,5 16 Ms8x1,25 9 10 M6 185 5 M5 - 22 M5 8 9 2,1 39 45
25 10 40 15 16 M8x1,25 9 10 M6 18,5 5 M5 - 26 M5 8 9 2,1 39 45,5
32 12 49 - 19 M10x1,25 10 12 M8 - - M6 145 325 G1/8 75 9 2,1 44 51
40 12 55 - 19 M10x1,25 10 12 M8 - - M6 15 38 G1/8 75 9 2,1 45 52
50 16 68 - 22 M12x1,25 13 16 M10 - - M8 145 465 G1/8 75 12 2,6 45 53
63 16 78,5 - 22 M12x1,25 13 16 M10 - - M8 14 565 G1/8 75 12 2,6 49 57,5
80 20 98 - 28 M16x1,5 17 20 M12 - - M10 155 72 G1/8 75 12 2,6 54 64
100 25 120 - 28 M16x1,5 22 20 M12 - - M10 20 89 G1/8 75 12 2,6 67 77
Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013 16.91

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepuia Corsa Breve

[
E-:'o

-3 2-40-50-63-G-100
L i) 13- E
ot i

i 3 A & = i

] A
. 1 SH ‘

& R P
= LR

r&_l
|
)
8
_an _
i
&
o
N
‘?’-a};:fﬁ
1=
EE
15
£

g =

a |

+= 3gqiungers fa corsa + =add simka
+4=agglingers 2volte la corsa ++ = double siroke dimension and add i

WF - WEM

ﬂ,BYXCTOPOHHEFO JENCTBUA MATHUTHBIN - DOUBLE-ACTING MAGNETIC

2 mm oD E L1 A KK CH AF KF BG LA RT G TG EE PL oD1 T ZA+ ZB +
20 10 36 15 16 M8x1,25 9 10 M6 18,5 5 M5 - 22 M5 8 9 2,1 39 45
25 10 40 1.5 16 M8x1,25 9 10 Mé 18,5 5 M5 - 26 M5 8 9 21 39 45,5
32 12 49 - 19 M10x1,25 10 12 M8 - - M6 145 325 G1/8 75 9 2,1 44 51
40 12 55 - 19 M10x1,25 10 12 M8 - - M6 15 38 G1/8 75 9 21 45 52
50 16 68 - 22 M12x1,25 13 16 M10 - - M8 145 465 G1/8 75 12 2,6 45 53
63 16 78,5 - 22 M12x1,25 13 16 M10 - - M8 14 565 G1/8 75 12 2,6 49 57,5
80 20 98 - 28 Mi1é6x1,5 17 20 M12 - - M10 155 72 G1/8 75 12 2,6 54 64
100 25 120 - 28 M16x1,5 22 20 M12 - - M10 20 89 G1/8 7,5 12 2,6 67 77

16.92 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepwua Corsa Breve

(33025

A A 4t X
e g - " T+ .
T | )
L =) ‘
s = 1 & 1 Pt =, o s Y J 1=
i = = e N R I
i e
L| i o
ST gl =
AL
ES
H. m E"\:#- 'ﬂ'ﬁ:‘.‘"“ D'EJ’:}"HE'W‘?‘HH
ity
- 1+ - - I+ - £
G = S G & - T& .
L., fh Y ’J’- LU
R R O
1 (D
A D
' — | d] i |
R N Pt ==l
—f._’|._.€'°',:;? . 1'%'\ i = ol w Toh f’%‘h_fj {r:i:’?'?. .
T E) | S S % it
L o AT =
Sas ]
P P
R T IS S i)y g
=remw [ G
L L T e
4 L
+= 400Ungere la corsa + = add stroke

WJ - WIM

D.BVXCTOPOHHEFO JENCTBMA MATHUTHBIA IBYXCTOPOHHWM LUITOK - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

++= Eggiungere 2 volte |z corsa

++ = double stroke dimension and add it

@ mm oD E L1 A KK CH AF KF BG LA RT G TG EE PL ZA+  ZB+ ZC++
20 10 36 1,5 16 M8x1,25 9 10 M6 18,5 5 M5 - 22 M5 8 39 45 51
25 10 40 1,5 16 M8x1,25 9 10 M6 18,5 5 M5 - 26 M5 8 39 455 51,5
32 12 49 - 19 M10x1,25 10 12 M8 - - M6 145 325 G1/8 75 44 51 58
40 12 55 N 19 M10x1,25 10 12 M8 - - M6 15 38 G1/8 75 45 52 59
50 16 68 - 22 M12x1,25 13 16 M10 - - M8 145 465 G1/8 75 45 53 61
63 16 785 N 22 M12x1,25 13 16 M10 - - M8 14 565 G1/8 75 49 57,5 66
80 20 98 - 28 M16x1,5 17 20 M12 - - M10 15,5 72 G1/8 75 54 64 74
100 25 120 N 28 M16x1,5 22 20 M12 - - M10 20 89 G1/8 75 67 77 87

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.93



JAIGNEP

Cepwusa Corsa Breve

i)

AE

&
R
e
H G
ih
G o
Lo el
"
o "l
. ’
:i-:" .
Bif o i &
i 1 #r) al e
)
| s I
Fo 1 I
—= aggiungere la corsa

—+= gglungere Z volta la corsa

WFA

)
£X20-35
3 1
—
& A
\
i LT
winmlind

, | \h-;:}P;_‘fl’h
WiRNiC)
o F
£i32-40-50-63-80-100
E
15
E n
L B
! _,;_..:I\ |I_'| _ll @
I J
'\._‘@ '|_|| n e
ﬂ 1

+ = add shoke
++ = diouble stroke dimension and add it

D,BYXCTOPOHHEFO [ENCTBUA MATHUTHBIA HE MOBOPOTHBI - DOUBLE-ACTING MAGNETIC ANTIROTATION

omm oD E L1 CH AF KF BG LA RT G TG EE PL D1 T1 @TL H eoF F1 D2 D3 T2 ZA+ ZB+
20 10 36 15 9 10 M6 185 5 M5 - 22 M5 8 9 21 17 8 4 M4 6 105 5 39 45
25 10 40 15 9 10 M6 185 5 M5 - 26 M5 8 9 21 22 8 5 M5 6 14 5 39 455
32 12 49 - 10 12 M8 - - M6 14,5 325 G1/8 7,5 9 21 28 10 5 M5 6 17 6 44 51
40 12 55 - 10 12 M8 - - M6 15 38 G1/8 75 9 21 33 10 5 M5 6 17 6 45 52
50 16 68 - 13 16 M10 - - M8 14,5 465 G1/8 7,5 12 26 42 12 6 M6 8 22 75 45 53
63 16 785 - 13 16 M10 - - M8 14 565 G1/8 75 12 26 50 12 6 M6 8 22 75 49 575
80 20 98 - 17 20 M12 - - M10 155 72 G1/8 7,5 12 26 65 14 8 M8 12 24 105 54 64
100 25 120 - 22 20 M12 - - M10 20 89 G1/8 75 12 26 80 14 10 M10 12 24 105 67 77
16.94 Aignep ocTagnsieT 3a cO60/i NPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEOMIeHNA. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



AIGNEP Cepus Corsa Breve

[MpuHagnexxHocTn ana umnmHapos / Mounting Accessories

E
MATEPUAJ: CTAJb A i n
MATERIAL: STEEL 0 1
] 77 e
> T
@ l“@ 0545 ]0.545° it
]— T i .4:. = : .
oe< 1O = 3
| ' A X
+ Wi =+ |- o .
Q0 el <
; >
O == B
t ' .
A F\g
D L
QFL
ONAHEL| - FLANGE
@ mm. A B C D E F G H | L M
20 22 55 70 22 36 5.5 10 6.6 10 5.4 12
25 26 60 76 26 40 5.5 10 6.6 10 5.4 12

MATEPUAN: CTAJTb p —=— ~—
MATERIAL: STEEL

1
| |
ol
DD

[
.
Y

L 77

VFL
OJTAHEL| - FLANGE
@ mm. P Q S R T \Y

32 7 32 10 45 64 80
40 9 36 10 52 72 90
50 9 45 12 65 920 110
63 9 50 12 75 100 120
80 12 63 16 95 126 150
100 14 75 16 115 150 170

MATEPWA: CTAJIb | ,Egj G

MATERIAL: STEELZ [A y | /

QCP ]

KPOHLUTEH- LOW-RISE PEDESTAL

@ mm. C B D E F G H | S T R U z
20 22 22 36 22 22 54 16 16 4 17 10 2 6.6
25 26 26 40 22 23 54 17 16 4 19 1 2 6.6
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 695

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

MATEPUAIT: AMIOMUHNIA
MATERIAL: ALUMINIUM

P T A-A

© RO | &

. T
T@*@I—“ wuw{”///u’Hy; o] FZ/;;
A T .

QCM B

MNETNA CAMOCMA3bIBAKOLLAACA- MALE HINGE SELF-LUBRICATING

|
|
==
=+
l
A
B
oN,
|
*

P
>
=
g

@ mm. A B C D E F G H | L M N o] P Q
20 22 34 il 5 2.6 6 20 2 8 5.5 12 10 16 3 8
25 26 38 il 5 2.6 6 20 2 8 5.5 12 10 16 3 8
B o
MATEPUAJT: CTA/Tb B |
MATERIAL: STEEL 1L | _yR ,Z o i
@0 ] TN\ / } ! -
—— - i |
H 17— —‘49* - F
Y
L _ } T11 "
v c
v E
KPOHLUTEVH - LOW - RISE PEDESTAL
@ mm. B C E F (o] U \ R YA X Y H
32 4 32 45 30 7 24 35 15 7 325 1575 32
40 4 36 52 30 10 28 36 17.5 7 38 17 36
50 5 45 65 36 10 32 47 20 9 46.5  21.75 45
63 5 50 75 35 10 32 45 22.5 9 56.5  21.75 50
80 6 63 95 47 12 41 55 22.5 n 72 27 63
100 6 75 115 53 14.5 41 57 27.5 n 89 26.5 71

MATEPWAJT: CTAJTb
MATERIAL: STEEL

jl ~
o P o L s
R R ! I L P
T [ : H i H : Hl|
| . | 4ol
; us | — a0
VCB
KPOHLLITE/H - LARGE LOW - RISE PEDESTAL
Kon/Code @ mm. us ED F AO B TR E D FT NH R AU FB
VCB032NE 32 79 45 30 30 5 65 15.75 6.5 15 32 325 18 6.5
VCBO40ONE 40 920 55 30 30 5 75 17 6.5 17.5 36 38 18 6.5
VCBO50NE 50 110 65 35 35 5 90 21.75 8.5 225 50 56.5 21 8.5
VCBO63NE 63 120 75 35 35 5 100 21.75 8.5 225 50 56.5 21 8.5
VCBO8ONE 80 153 95 45 45 6 128 26.5 10.5 225 63 72 27 10.5
VCB100NE 100 178 115 45 45 6 148 27 10.5 27.5 71 89 27 105
16.96 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



FIAIGNEP

Cepwua Corsa Breve

MATEPUAI: ATIOMUHI
MATERIAL: ALUMINIUM %

NLE @
}__

o T
CM
- T
VCF
METNIA CAMOCMA3bIBAIOLLAACA - FEMALE CLEVIS BRACKET SELF-LUBRICATING
@ mm. B E G T z ™ MR

32 9 45 10 45 22 26 10

40 9 52 12 52 25 28 12

50 1 65 12 60 27 32 12

63 n 75 16 70 32 40 16

80 14 95 16 90 36 50 16

100 14 115 20 110 41 60 20
MATEPUAN: AJIOMUHWNIA z E

MATERIAL: ALUMINIUM

VCM M

CKOBA - MALE CLEVIS BRACKET

@ mm. B E G z (@] MR
32 9 45 10 22 26 10
40 9 52 12 25 28 12
50 1 65 12 27 32 12
63 11 75 16 32 40 16
80 14 95 16 36 50 16
100 14 115 20 41 60 20
Aignep ocTagnsieT 3a cO60/i MPaBO M3MEHATb MOAGNM Pa3Mepbi 6e3 YBEAOMIeHNA. OBHOBJIEHVIE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013

16.97



Cepwusa Corsa Breve

MATEPWA: AIOMUHNIA
MATERIAL: ALUMINIUM

PERFIL DEL d.32

Vad

-

T

CKOBA - FEMALE CLEVIS BRACKET
Kop / Code @ mm. A L D R N B S F z G M (@] T
VCHO032 32 325 45 6.6 11 55 9 30 5 22 10 10 26 45
VCHO040 40 38 52 6.6 1Al 55 9 35 5 25 12 12 28 52
VCHO050 50 46.5 65 9 15 6.5 11 40 5 27 12 12 32 60
VCHO063 63 56.5 75 9 15 6.5 1 45 5 32 16 16 40 70
VCHO080 80 72 95 11 18 10 14 45 5 36 16 16 50 920
VCH100 100 89 115 11 18 10 14 55 5 41 20 20 60 110
MATEPWAJ: CTAJTb —iB J‘ C G
MATERIAL: STEEL
Nl
| 1 _
iy \
‘ w — —‘ —_—— e — — — — s — =~ — —_—
e
H
MAJEL - PIN ANTI-ROTATION FOR NARROW FEMALE HINGE VCD
Kop / Code 2 mm. A C D E F H L B
VPS032 32 3 325 1.1 10 9.6 1 14 4.5
VPS040 40 4 38 1.1 12 11.5 48 16 6
VPS050 50 4 43 1.1 16 15.2 60 20 6
VPS063 63 4 49 1.1 16 15.2 60 20 6
VPS080 80 4 63 13 20 19 75 24 6
VPS100 100 4 73 13 20 19 85 24 6
'I 698 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

MATEPUAI: ATIOMUHIY t

MATERIAL: ALUMINIUM A
T 1

ﬂ ﬁ PERFIL DEL d.32
EN

VCS

METNA C COEAUHEHVEM DIN648K - NARROW MALE HINGE WITH ARTICULATED HEAD DIN648K
Kop / Code @ mm. A B C D EN ER F G E L M N P H R S z T
VCS032 32 325 10.5 22 10 14 16 30 9 6.6 45 11 55 5 - - 4 325  6.25
VCS040 40 38 12 25 12 16 19 35 9 6.6 52 1" 5.5 5 - - 6 39 7
VCS050 50 46.5 15 27 16 21 21 40 11 9 65 15 6.5 5 51 18 8 47 9.25
VCS063 63 56.5 15 32 16 21 24 45 1 9 75 15 6.5 5 - - 8 52 9.25
VCS080 80 72 18 36 20 25 285 45 14 11 95 18 10 5 72 24 10 67 11.5
VCS100 100 89 18 41 20 25 30 55 14 1" 115 18 10 8 - - 10 77 13

MATEPWA: CTAJTb
MATERIAL: STEEL

MOKPBITWE: YEPHbIA TPYHT —T BQ “‘-
TRATTAMENTO: BLACK CATAPHORESIS

[ﬁm —
ER

i

A‘ Q r T P T
"— 1'l - I tr Lr n TEr T
N r'll e e bilr——a1 ! =
I 1 1l L 1l
N s
BG —i
F BO
VAD "
KPOHLUTEMH C COEANHWEHMEM DIN648K - SQUADRE JOINT WITH ARTICULATED HEAD DIN648K
Kop / Code @ mm. Q P BG BH BI BL BM BN BO EN ER BQ D H S F
VADZ032NE 32 6.6 11 18 31 21 10 32 38 51 14 15 10.5 10 8.5 20 3
VADZ040NE 40 6.6 11 22 35 24 10 36 41 54 16 18 12 12 85 20 3
VADZ050NE 50 9 15 30 45 33 12 45 50 65 21 20 15 16 10.5 20 3
VADZO063NE 63 9 15 35 50 37 12 50 52 67 21 23 15 16 10.5 20 3
VADZ080ONE 80 1 18 40 60 47 14 63 66 86 25 27 18 20 11.5 20 3
VADZ100NE 100 1" 18 50 70 55 15 71 76 96 25 30 18 20 125 20 3
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 699

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

MATEPWA: CTAJTb
MATERIAL: STEEL

Cepwusa Corsa Breve

VSl a
CYNMNOPT /18 MPOMEXKYTOUHOW MET/A- SUPPORT FOR INTERMEDIATE HINGE
Kog / Code @ mm. M R P C S L U T E
VSI032 32 46 18 30 15 32 12 10.5 1 6.6 7
VSI040 40-50 55 21 36 18 36 16 12 15 9 9
VSI063 63 -80 65 23 40 20 42 20 13 18 11 11
VSI100 100 -125 75 285 50 25 50 25 16 20 14 13
BQ B1
MATEPUAJT: ATIOMUHIAW
MATERIAL: ALUMINIUM *
M 1TT] LR O
.y |
I | 3]
o T I T TTT
L 11 1 N
— \--—go
BN BG
BO BH

VAS

KPOHTLUTEVH CAMOCMAS3bBIBAIOLLIMINCA - SQUARE JOINT SELF-LUBRICATING

@ mm. Q BG BH B1 BM BN BO BQ BR
32 6.6 18 31 21 32 38 51 26 20
40 6.6 22 35 24 36 41 54 28 22
50 9 30 45 33 45 50 65 32 26
63 9 35 50 37 50 52 67 40 30
80 1" 40 60 47 63 66 86 50 30
100 11 50 70 55 71 76 96 60 38
MATEPWAJ: CTAJTb BU
MATERIAL: STEEL o
¢ ‘ ¢ l
Q Q
CH D o
BT — -

VPE

MAJIEL} CO CTOMOPHbIM KOJ1bLIOM - PIN WITH SEEGER

@ mm. G BT BU CG CH
32 10 46 53 9.6 1.1
40 12 53 60 11.5 1.1
50 12 61 68 115 1.1
63 16 71 78 15.2 1.1
80 16 91 98 15.2 1.1
100 20 m 118 19 13
16.100 Aignep ocTagnsieT 3a co60ii MPABO M3MEHATH MOAENM Pa3Mepbi 6e3 YBEOMIEHNA. OBHOBJEHVIE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepwua Corsa Breve

MATEPVIATT: CTATTb ——
MATERIAL: STEEL \=.'=") l

o e | ]
FC A

BWJTKA - YOKE WITH LOCABLE PIN

2
!

Kop / Code @ mm. A B C E F G KK

FC020 20-25 42 16 32 16 8 8  M8x1.25

FC025 32-40 52 20 40 20 10 10 M10x1.25

FC040 50-63 62 24 48 24 12 12 M12x1.25

FC050 80-100 83 32 64 32 16 16 M16x1.5
MATEPWAJ: CTAJTb E

MATERIAL: STEEL

© \
M
e o [ ¢l
y | L W’t
(2| = el
TF N
LUAPOBOE OKOHYAHME CMOCMA3bIBAKOLLIEECA - ROD ENDS SELF-LUBRIFICATING
ég o @ mm. A B C @ D E F G H L M P S w bramcme - Bec
0 0 +0,2
H7 -0,13 SFERA +0,13 +0,5 +0,5 +0,7 +0,7 +0,5 -0,7 +0,25 kg kg g

TF020 20-25 8 104 12 15,88 9 24 M8x1.25 36 48 12 12,5 16 5 14 780 1.900 36
TF025 32-40 10 12,9 14 19,05 11,5 30 M10x1,25 43 58 15 15 19 6,5 16 1.200 3.100 88
TF040 50-63 12 154 16 22,23 12,5 34 M12x1,25 50 67 18 17,5 22 6,5 18 1.400 3.700 120
TF050 80-100 16 19,3 21 2858 155 42 M16x1,5 64 85 24 22 27 8 24 2.500 6.300 240

E
MATEPWAN: CTAJTb
MATERIAL: STEEL n

=
o
-

T
LUIAPOBOE OKOHYAHWE - MALE ROD ENDS
Ko, CARICO RADIALE
Code @ mm. A B ¢ 2 D E F G H L DINAMICO _ STATICO BEC
TMO020 20-25 6 8.9 9 12.7 7.5 20 Méx1 36 46 21 470 1100 15
TMO032 32-40 8 10.4 12 15.88 9.5 24 M8x1.25 42 54 25 780 1900 34
TMO050 50-63 10 129 14 19.05 1.5 30 M10x1.5 48 63 28 1200 3100 70
TM080 80-100 12 154 16 22.23 125 34 M12x1.75 54 71 32 1400 3700 110

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 61 01

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwusa Corsa Breve

MATEPWUAN: CTAJTb
MATERIAL: STEEL

P3

L3

LLUAPOBBbIV LLIAPHWP- SNODABLE YOKE
o
Kop / Code @ mm. S L L3 W P3 D3 a
T5020 20-25 M8x1.25 65 16 14 12 20 30°
T5025 32-40 M10x1.25 745 18 17 15 28 30°
TS040 50-63 M12x1.25 84 20 19 17 32 30°
TS050 80-100 M16x1.5 112 27 22 23 40 22°

B C
DA I I
TAVKA - NUT FOR RODS
Kopn / Code @ mm. A B C

0DA000051C3ZI 20-25 M8x1.25 13 6.5

0DA000051C9ZI 32-40 M10x1.25 17 8

0DA000051D5ZI 50-63 M12x1.25 19 7

0DAO000051E3ZI 80-100 M16x1.5 22 6
16.102 Aignep ocTAigep sirt AGUHE oms8 2013

Aignep reserves the right to vary models and dimensions without notice. UPDAEBTERNYRARY 18,2013



Cepua P

JAIGNEP

Livmnnngpbl Cepun P ISO 15552 / Cylinder P Serie ISO 15552

KomnakTHble uunuHgpbl  Iso 15552 ¢ aHogmpoBaHHbIMK
aNlOMVHMEBBIMW  FOJTOBKaMU MMeIT  31acTUYHble
aMopTr3aTopbl, 6rarogapsa KOTOpbIM obecrneunBaeTcs Tvxas
pabota. LnnuHapsbl ¢ guametpamu ot @32 pno @100 n @250
UMeIoT YNNOTHEeHNA n3nonuypeTana. Linnunapsl ¢ gnametpamm
@125 160 200 nmetot ynnotHeHna 13 NBR.

LunnuHapbl cepun P nocTaBnaoTca C antoMyHMEBOW pyballKkol
B ABYX KOHOUrypaumax:

- Ona yunuHgpos ot @125 go @250 anioMrHUeBan pyballka C
KPYrnblM CeUEHMEM.

Compact cylinders to ISO 15552 interfaces have their
heads in anodized aluminum and have a very clean
line, fixed elastic dampers allow a linear shift and silen-
tly. The cylinders from @32 to @100 and @250 have all
of the dynamic seals in polyurethane. The cylinders
are fitted with a @125 160 200 complete piston NBR.

The P series cylinders are supplied with aluminum
jacket in two configurations:

- From @125 to @250 shirt from aluminum rods with
rounded profile.

i

F iy
%‘-ﬁ, Tl

Ot @125 po @250.
AntoMuHMeBas py6alliKka C KPYribiM CEYeHUEM.
From @125 to @250.

Shirt aluminum rods with rounded profile.

TexHnueckune xapakrepuctuku / Technical Characteristics

[aBneHune / Pressures

MwuHumanbHoe gasnenue / Minimum pressure: 1 bar (0.1 MPa)
MakcumanbHoe aasneHvie / Maximum pressure: 10 bar (1 MPa)

Temnepatypa / Temperatures

OnwncaHune / Functioning

[1ByXCTOPOHHero AeicTBrA ¢ AeMNUPOBaHNEM MAarHUTHBbIN ,
OpHocTopoHHero aencTena, OfHO UNK ABYXCTOPOHHUN LTOK
MarHUTHbIN.

Double-acting cushioned magnetic, Single-acting magnetic
Single or through piston rod magnetic.

HAnameTp umnmuHapos / Bores

MuHuManbHas Temnepatypa / Minimum temperature: 0°C 0132 o 250 mm.
(-20 °C npu ocyweHHom Bo3ayxe / with dry air) From 32 to 250mm.
MakcvmanbHan Temnepatypa / Maximum temperature: +80 °C
Fluidi compatibili / Fluids Xop / Strokes
OunLLEHHDBI BO3LyX CO CMa3Ko 1 6e3 cMasKu. CrangapTHbIi xopn/ Standard Strokes
Filtered and lubricated compressed air as well as non Ot 5 5o 500 mm / From 5 to 500 mm
lubricated air.
Mo 3anpocy / Stroke on Demand
Aignep ocTARJRED sart AGHHE OT18 2013 16103

Aignep reserves the right to vary models and dimensions without notice.

UPDURBRBTERNSRARY 18,2013



JAIGNEP

Cepua P

TexHunyeckme xapaktepuctmku / Technical Characteristics

B cepum P ncnonb3yetcs aHOAMPOBAHHAA antoMUHKEBAsA TPyOa C KPYTiibiM CeYEHNEM.
Used Materials for cylinders Serie P with anodized aluminium tube profile and tie rods.

OnameTpbl / Diameter
125-160 - 200 - 250

A2

TIRANTES - TIE RODS

Yactn n matepuansl / Component Parts and Materials

1

XPOMUPOBaHHbI CTaIbHON LUTOK, UV U3 HEPXK. CTanmn

1 Rod Chromium plated steel or Stainless steel

2 YnnoTHeHue 13 nonvypeTaHa 2 Rod seal in Polyurethane
3 AHoaMpoBaHHas anloMrHNEBas rooBKa 3 Front head In anodized aluminium
4 OuKcnpytowmii ctanbHon 6ont 4 Fixing screw Galvanized steel
5 YnnotHeHue n3 Nbr 5 O-ring in Nbr
6 bpoH30Bas BTynKa 6 Bush in Sintered bronze
7 Oukcupylowwmin ctanbHom 6ont 7 Fixing screw Galvanized steel
8 MarHut 8 Magnet Bonded ferrite
9 MMopuweHb 13 NBR-(@250 AntoM1HUEBBI 1 MONNYPeTaHOBbIN) 9 NBR Piston (@250 ALuminium and poliurethane)
10 CranbHas LaHra 10 Washer Galvanized steel
11 CranbHas raiika 11 Nut Galvanized steel
12 AHopupoBaHHasA CTanbHas Tpyba 12 Tube Anodized aluminium
13 AHOAMPOBaHHasA aNtoMUHMEBAs FONIOBKa 13 Rear head In anodized aluminium
16.104 Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Cepua P

Ycunnue n notpebnenmne / Forces And Consumptions

YCUNWE BbIABUMEHWA U BTATIBAHUA - THRUST AND TRACTION FORCES

@ Unnungpa @ WtokaPabouyas noBepxHOCTb B mm2 Pabouee faBneHve B bar
@ Cylinder @Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

Forza sviluppata in N
Output force in N

@125 32  BbigBuxeHue / Thrust = 12270 1104 2208 3312 4416 5520 6624 7728 8832 9936 11040
BrarvsaHwe / Traction = 11468 1032 2064 3096 4128 5160 6192 7224 8256 9288 10320
2160 40  BbigBmxeHue / Thrust = 20096 1774 3548 5322 7097 8871 10645 12419 14194 15968 17742
BrarvsaHwe / Traction = 18840 1663 3326 4990 6653 8316 9980 11643 13307 14970 16633
2200 40  BbigBuxeHue / Thrust = 31440 2772 5544 8316 11089 13861 16633 19406 22178 24950 27723
Brarveanue / Traction = 30144 2661 5322 7984 10645 13307 15968 18629 21291 23952 26614
@250 50 BbigBuxeHue / Thrust = 48750 4331 8663 12995 17326 21658 25990 30322 34653 38985 43317
Brarvusanue / Traction = 46800 4158 8316 12475 16663 20792 24950 29109 33267 37426 41584

MOTPEBJIEHVE BO3QYXA - CYLINDER AIR CONSUMPTION

@ Unnungpa @ LtokaPaboyas noBepxHOCTb B mm?2 Pabouee naBneHue B bar
@ Cylinder @ Rod  Working Surface in mm2 Operating pressure in bar
1 2 3 4 5 6 7 8 9 10

MoTpebneHne Bo3ayxa B NL Ha Kaxable 1T0mm. xofa
Air consumption in NL for each 10mm. of stroke

2125 32 BbigeuxeHue / Thrust = 12270 0,245 0,368 0,491 0,614 0,736 0,859 0,982 1,104 1,227 1,350

2160 40  Boigsuxenue / Thrust = 20096 0,402 0,603 0,804 1,005 1,206 1,407 1,608 1,809 2,010 2,211
BraArvBarve 7/ Traction = 18840 0,377 0,565 0,754 0,94 5,130 5319 1,507 11696 1,884 ,07

2200 40  BoigsukeHue / Thrust = 31440 0,628 0,942 1,256 1,570 1,884 2,198 2,512 2,826 3,140 3,454
BTAT =

2250 50 BbigBuxeHue / Thrust = 48750 0,981 1,472 1,963 2,453 2,948 3,434 3,925 4,415 4,906 5,400
BrarveaHwue / Traction = 46800 0,942 1,413 1,884 2,355 2,826 3,29 3,768 4,239 4,710 5,181

Koabl ana 3akasa - Ordering codes

El El E 0 3 2| 0 0 2 5| E D BapuaHTbl/ Choices

IS= Hep»aBelowas cTanb

IS= Stainless steel rod

Tun kpenneHua / Mounting style

T= AHOAUpOBaHHasA anoMUHNEBasA TPYOa C KPYribiM CEYeHUEM

T=Anodized aluminium tube round profile with tie rods
(125/250) mm.

Xog mm. / Stroke mm.

5-10-15-20-25-30-35-40-45-50-55-60-65-70-75-80-100-125-150-160 -
200-250-300-320-350-400 - 450 - 500

Mo 3anpocy Bo3MOXeH Ntoboi Xog.

Intermediate or higher strokes are available upon request.

Ovnametp mm. / Diameter mm.

32-40-50-63-80-100-125-160-200-250

Versioni / Version

= CTaHfapTHO WTOK c oTBepcTMem / Standard female rod
M= Ltok 6e3 otBepcTua / Male rod

McnonHeHne/ Execution

F= [1ByxCTOpOHHero fefcTBMNA OQHOCTOPOHHUIA LITOK MarHUTHbIN / Double acting single rod magnetic

J=[IByXCTOPOHHero AeicTBuA BYXCTOPOHHUN WTOK MarHnTHbIN / Double acting double rod magnetic

CEPUA P

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 1 6‘1 05
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP Cepun P

CraHpapTHbI xog mm. - STD STROKES

@ mm. 25 50 75 80 100 125 150 160 200 250 300 320 350 400 450 500 600 700 800 900 1000

125 A A A A A A A A A A A A A A A4 A A A A A A
160 A A A A A A A A A A A A A A A A A A A A A
200 A A A A A A A A A A A A A A A A A A A A A
250 A A A A A A A A A A A A A A A A A A A A A

A PF ﬂ,ByXCTOPOHHEFO JEVNCTBMA MATHUTHBI - DOUBLE ACTING MAGNETIC
A PJ ﬂ,BYXCTOPOHHEI'O LENCTBUA MATHUTHBI CABYXCTOPOHHUM LUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END

A

PL

EE G

a
[ P1 Q

g
E

ZA+ Carrera-Stroke -

ZB+ Carrera -Stroke

AHOJJ,VIpOBaHHaﬂ alltoMnHmneBasn pr6a CKp, 4 CeYeHneMm.

PF ————— T Anodized aluminium tube round prot. » with tie rods.
J1BYXCTOPOHHErO AEVICTBIA MATHWTHBIVA - DOUBLE ACTING MAGNETIC
@mm. A E G TG AF BG DI EE  KF KK MM P1 PL  RT SW WH ZzA ZB
125 54 140 225 110 25 12 - 174G M14 M27X2 32 - 10 M12 27 10 78 88
160 72 180 265 140 30 13 -  3/8'G M20  M36X2 40 - 12 M6 36 12 87 9
200 72 220 265 175 30 13 - 3/8"G M20 M36X2 40 - 12 M16 36 12 87 929
250 84 270 35 220 30 16 -  1/2'G M24X2  M42X2 50 - 16 M2 46 15 125 140

- il
— _{g -
I, =T ]
[
WH ZA+Carrera-Stroke WH +Carrera -Stroke
AHO,E[,I/IpOBaHHaﬂ allOMHMEBAA TPY .QY[JbIM ce4eHneMm.
PJ """" T Anodized aluminium tube rour. .« profile with tie rods.
D,BVXCTOPOHHEFO NENCTBYA MATHUTHbI CABYXCTOPOHHWM LLUTOKOM - DOUBLE ACTING MAGNETIC WITH DOUBLE ROD END
@ mm. A E G TG AF BG D1 EE KF KK MM P1 PL RT SW WH ZA ZB
125 54 140 225 110 25 12 - 174G M14 M27X2 32 - 10 M12 27 10 78 88
160 72 180 265 140 30 13 - 3/8"G M20 M36X2 40 - 12 M16 36 12 87 99
200 72 220 265 175 30 13 - 3/8"G M20 M36X2 40 - 12 M16 36 12 87 99
250 84 270 35 220 30 16 - 1/2"G M24X2  M42X2 50 - 16 M20 46 15 125 140
161 06 Aignep ocTARgEp shrt AGIHE oms 2013

Aignep reserves the right to vary models and dimensions without notice. UPDAEBTERNYRARY 18,2013



AIGNEP Akceccyapbli

MpuHagnexHocTn gna umnmnHppos 1ISO6431 n 1ISO15552
Mounting Accessories for cylinders ISO6431 and ISO 15552

MATEPUAI: AMIOMUHNIA
MATERIAL: ALUMINIUM

B
C D P
F Q
L o o
| ] EN A1 = a
— = T Y //' \\”
/A ol a
) \tf/
- — e = & o
N
H
@)
L
M
BTOKMPOBKA LUTOKA - PISTON ROD LOCK
Hon @ mm. A B C D E F G H L M N 0 P Q
VRLO32 32 30 86 26 33.25 9 1/8G M6 8 60 67.5 6 20 47 325
VRLO40 40 345 100 30 425 9 1/8G M6 8 70 80 6 20 54 38
VRLO50 50 40 127 37 58 125  1/8G M8 12 90 100 8 24 65 465
VRLO63 63 45 127 37 59 175 1/8G M8 12 90 100 8 24 75 56.5
VRLO8O 80 45 156 46 69 175 4G MI10 6 110 120 12 32 95 72
VRL100 10055 161 51 69 20 V4G MI10 16 110 120 12 32 114 89
VRL125 12560 205 65 84.5 19 V4G MI12 20 140 156 20 45 138 110
MATEPWAST: ATIOMUHUN
MATERIAL: ALUMINIUM
(=)
VFT ]
ONAHEL] - JOINING FLANGE
Kog / Code @ mm. H D
VFT032 32 55 45
VFT040 40 55 52
VFT050 50 68 65
VFT063 63 68 75
VFT080 80 92 95
VFT100 100 92 115
VFT125 125 120 140
Aignep ocTAigmep sar AGERE oTI8 2013 16.107

Aignep reserves the right to vary models and dimensions without notice. UPDURBRBTERNSRARY 18,2013



AKceccyapbli

MATEPWAN: CTAJTb i 1_-1%1"_
MATERIAL: STEEL : $: | E/ B
— - + L >
4{97 o
f) : o
S Q
VFL i
OJIAHELL - FLANGE
Kop / Code @ mm. P Q S R T "
VFLO032 32 7 32 10 45 64 80
VFL040 40 9 36 10 52 72 920
VFLO50 50 9 45 12 65 920 110
VFLO63 63 9 50 12 75 100 120
VFLO080 80 12 63 16 95 126 150
VFL100 100 14 75 16 115 150 170
VFL125 125 16 920 20 140 180 205
VFL160 160 18 115 20 180 230 260
VFL200 200 22 135 25 220 270 300
VFL250 250 26 165 25 285 330 400
VFL320 320 33 200 30 350 400 470
B
MATEPWAJI: CTAJTb T F*XR-*I ,
MATERIAL: STEEL — I A /
20 I \ /! \
] —— i |
Mo —% -
L, T TTT i T A
v c
VCP . &
KPOHLLITEAH - LOW - RISE PEDESTAL
Koa/Code @ mm. B C E F o u v R z X Y H
VCP032 32 4 32 45 30 7 24 35 15 7 325 15.75 32
VCP040 40 4 36 52 30 10 28 36 17.5 7 38 17 36
VCPO50 50 5 45 65 36 10 32 47 20 9 46.5 21.75 45
VCP063 63 5 50 75 35 10 32 45 225 9 565 2175 50
VCP080 80 6 63 95 47 12 41 55 225 11 72 27 63
VCP100 100 6 75 115 53 14.5 41 57 275 1 89 26.5 71
VCP125 125 8 20 140 70 16.5 45 70 30 14 110 35 920
VCP160 160 9 115 180 115 18 60 75 325 18 140 45 115
VCP200 200 12 135 220 135 21 70 100 375 18 175 47.5 135
VCP250 250 14 165 270 165 26 75 100 45 22 220 55 165
16.108 Aignep ocTasnseT 3a co60it NPaBO U3MEHSATb MOAENM pa3Mepbl 663 yBeoMEHNUS. OBHOBJEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



MATEPUAN: CTAJTb
MATERIAL: STEEL

Akceccyapbli

<) P
Yo | | ‘ 1R
T L1 : H % H ‘ HEl
| ; | -
F us | ~— AO
VCB
KPOHLUTEMH - LARGE LOW - RISE PEDESTAL
Kon/Code @ mm. us ED F AO B TR E D FT NH R AU FB
VCBO032NE 32 79 45 30 30 5 65 15.75 6.5 15 32 325 18 6.5
VCBO40NE 40 90 55 30 30 5 75 17 6.5 17.5 36 38 18 6.5
VCBO50NE 50 110 65 35 35 5 90 21.75 8.5 225 50 56.5 21 85
VCBO63NE 63 120 75 35 35 5 100 21.75 8.5 22.5 50 56.5 21 85
VCBO8ONE 80 153 95 45 45 6 128 26.5 10.5 225 63 72 27 10.5
VCB100NE 100 178 115 45 45 6 148 27 10.5 27.5 71 89 27 10.5
%

MATEPUAI: ATIOMUHIAN

MATERIAL: ALUMINIUM

N\

VCF

CKOBA CAMOCMA3bIBAIOLLAACA- FEMALE CLEVIS BRACKET SELF-LUBRICATING
Kop / Code @ mm. B E G T z @] MR
VCF032 32 9 45 10 45 22 26 10
VCF040 40 9 52 12 52 25 28 12
VCF050 50 1 65 12 60 27 32 12
VCF063 63 1 75 16 70 32 40 16
VCF080 80 14 95 16 90 36 50 16
VCF100 100 14 115 20 110 41 60 20
VCF125 125 20 140 25 130 50 70 25
VCF160 160 20 180 30 170 55 90 25
VCF200 200 25 220 30 170 60 920 25

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.109



JAIGNEP

MATEPUAIT: ATIOMUHN

MATERIAL: ALUMINIUM

AKceccyapbli

N\

—+ |
|
o B @ 1O
|
VCM oM
CKOBA - MALE CLEVIS BRACKET
Kop / Code @ mm. B E G Z (@)Y MR
VCMO032 32 9 45 10 22 26 10
VCMO040 40 9 52 12 25 28 12
VCMO050 50 11 65 12 27 32 12
VCM063 63 11 75 16 32 40 16
VCMO080 80 14 95 16 36 50 16
VCM100 100 14 115 20 41 60 20
VCM125 125 20 140 25 50 70 25
VCM160 160 20 180 30 55 90 25
VCM200 200 25 220 30 60 90 25
VCM250 250 25 270 40 70 110 40
MATEPUAJT: ATIOMUH t S
MATERIAL: ALUMINIUM T e
- o< H — L__ A
O o . 771
\ P 74
A PERFIL DEL d.32 =™ L_
N O
CKOBA - FEMALE CLEVIS BRACKET
Kop / Code @ mm. A L D R N B S F Z G M ™ T
VCHO032 32 325 45 6.6 11 55 9 30 5 22 10 10 26 45
VCHO040 40 38 52 6.6 1 5.5 9 35 5 25 12 12 28 52
VCHO050 50 46.5 65 9 15 6.5 11 40 5 27 12 12 32 60
VCHO063 63 56.5 75 9 15 6.5 1" 45 5 32 16 16 40 70
VCHO080 80 72 95 11 18 10 14 45 5 36 16 16 50 90
VCH100 100 89 115 1" 18 10 14 55 5 41 20 20 60 110
VCH125 125 110 140 14 20 10 20 60 7 50 25 25 70 130
VCH160 160 140 180 18 26 10 20 65 7 55 30 25 90 170
VCH200 200 175 220 18 26 11 25 75 7 60 30 25 90 170
VCH250 250 220 270 22 33 11 25 920 - 70 40 40 110 200
1 61 1 O Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Akceccyapbli

MATEPUAI: ATIOMUHIAY
MATERIAL: ALUMINIUM

VCD

METNA C COEAVHEHVEM DIN648K
NARROW FEMALE HINGE FOR SQUARE JOINT WITH ARTICULATED HEAD DIN648K

Kop/Code @ mm. L T ™M A Z H B D3 S G MR D1 D22 TA TZ LI F
VCDO032 32 45 34 14 325 22 5 9 55 30 10 10 6.6 11 3 33 11.5 17
VCDO040 40 52 40 16 38 25 5 9 55 35 12 12 6.6 11 4 43 12 20
VCDO050 50 65 45 21 46.5 27 5 11 6.5 40 16 14 9 15 4 4.3 14 22
VCDO063 63 75 51 21 56.5 32 5 " 6.5 45 16 18 9 15 4 43 14 25
VCDO080 80 95 65 25 72 36 5 14 10 45 20 20 11 18 4 4.3 16 30
VCD100 100 115 75 25 89 41 5 14 10 55 20 22 11 18 4 6.3 16 32
VCD125 125 140 97 37 110 50 7 20 10 60 30 25 14 20 6 6.3 24 42
VCD160 160 180 122 43 140 55 7 20 10 65 35 30 18 26 6 6.3 26.5 46
VCD200 200 220 122 43 175 60 7 25 11 75 35 30 18 26 6 6.3 26.5 49
MATEPWAN: CTAJb —+B i c Gl
MATERIAL: STEEL
U
‘ (1]
R T
L |
R
H
VPS
MAJIELL - PIN ANTI-ROTATION FOR NARROW FEMALE HINGE VCD
Kog / Code @ mm. A C D E F G H L B
VPS032 32 3 325 1.1 10 9.6 4 41 14 4.5
VPS040 40 4 38 1.1 12 1.5 4 48 16 6
VPS050 50 4 43 1.1 16 15.2 5 60 20 6
VPS063 63 4 49 1.1 16 15.2 5 60 20 6
VPS080 80 4 63 13 20 19 6 75 24 6
VPS100 100 4 73 13 20 19 6 85 24 6
VPS125 125 6 94 1.6 30 28.6 7 110 36 9
VPS160 160 - 200 6 119 1.6 35 33 7 135 41 9

Aignep ocTaenseT 3a co60il NpaBo U3MeHATL MoAeNM pasmepbl 6e3 ysefomneHus.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.111



MATEPUAJT: ATIOMUHIA
MATERIAL: ALUMINIUM

AKceccyapbli

PERFIL DEL dl.32

VCS
NETNA C COEAVHEHVEM DIN648K - NARROW MALE HINGE WITH ARTICULATED HEAD DIN648K
Kop / Code @ mm. A B C D EN ER F G E L M N P H R S Z T
V(CS032 32 325 105 22 10 14 16 30 9 6.6 45 11 55 5 - - 4 325 625
VCS040 40 38 12 25 12 16 19 35 9 6.6 52 1 5.5 5 - - 6 39 7
VCS050 50 46.5 15 27 16 21 21 40 11 9 65 15 6.5 5 51 18 8 47 9.25
VCS063 63 56.5 15 32 16 21 24 45 11 9 75 15 6.5 5 - - 8 52 9.25
VCS080 80 72 18 36 20 25 285 45 14 11 95 18 10 5 72 24 10 67 11.5
VCS100 100 89 18 41 20 25 30 55 14 11 115 18 10 8 - - 10 77 13
VCS125 125 110 25 50 30 37 40 60 20 135 140 20 10 7 - - 13 98 15
VCS160 160 140 28 55 35 43 45 65 20 18 180 26 10 7 - - 14 130 20
VCS200 200 175 28 60 35 43 48 75 25 18 220 26 11 7 - - 14 155 225
MATEPWAN: CTAJTb
MATERIAL: STEEL N
MOKPBITUE: YEPHBIA TPYHT —T 5Q T— ”* R
TRATTAMENTO: BLACK CATAPHORESIS ER
AT
e | Y | N
4 _ T
NN %
«‘ Q " ‘ P T 3
FINA SR D ) S TN (e . eyt
%r!!: C—l—2 :.' :1!r—|—-|:1! ;Ti
’ N F - |
- G —
VAD | N | S
KPOHLLUTENH C COEAVHEHMEM DIN648K - SQUADRE JOINT WITH ARTICULATED HEAD DIN648K
Kop / Code @ mm. Q P BG BH BI BL BM BN BO EN ER BQ D H S F
VADO32NE 32 6.6 1 18 31 21 10 32 38 51 14 15 105 10 8.5 20 3
VADO40NE 40 6.6 11 22 35 24 10 36 41 54 16 18 12 12 8.5 20 3
VADO50NE 50 9 15 30 45 33 12 45 50 65 21 20 15 16 10.5 20 3
VADO63NE 63 9 15 35 50 37 12 50 52 67 21 23 15 16 10.5 20 3
VADO8ONE 80 " 18 40 60 47 14 63 66 86 25 27 18 20 11.5 20 3
VAD100NE 100 11 18 50 70 55 15 71 76 96 25 30 18 20 125 20 3
VAD125NE 125 13.5 20 60 90 70 20 90 94 124 37 40 25 30 17 20 3
16.112 Aignep ocTagnsieT 3a co6oil NPaBO M3MEHATb MOAENY pasmepbl 6e3 yBeaomeHws. OBHOBJIEHVE OT: 18 AMPE/A 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Akceccyapbli

MATEPWAN: CTAJTb
MATERIAL: STEEL

i
1

)

\
>

-
@

W

XCN 3%
MPOMEXKYTOYHAA METNA - INTERMEDIATE HINGE

Kop / Code @ mm. uw B C D E F G TK | TL M N ™

XCN032 32 70 45 50 12 = 5 4 18 28 12 M5 7 50

XCNO040 40 78 53 62 16 20 5 5 20 32 16 M5 8 63

XCNO050 50 91 64 74 16 20 6 6 20 40 16 M6 8 75

XCN063 63 94 74 88 20 25 6 6 25 50 20 M6 12 90

XCN080 80 130 93 109 20 25 7 7 25 64 20 M8 12 110

XCN100 100 145 110 130 25 30 8 8 30 80 25 M8 15 132

XCN125 125 154 134 155 25 32 8 8 32 100 25 M10 15 160

XV max+Canera-Stroke
i o,
° ] | || »

1
puw
L%

VCNT | ™ T JTKI_ '

MPOMEXYTOYHAA METNIA - INTERMEDIATE HINGE

Koa / Code @ mm. D TG TK TL ™ UW XV min XV max

VCNTO032 32 12 325 15 12 50 46 61.5 84.5
VCNTO040 40 16 38 20 16 63 59 715 93.5
VCNTO50 50 16 46.5 20 16 75 69 78.5 101.5
VCNTO063 63 20 56.5 25 20 90 84 84.5 110.5
VCNTO080 80 20 72 25 20 110 102 94.5 125.5
VCNT100 100 25 89 30 25 132 125 107 133
VCNT125 125 25 110 32 25 160 155 126 163
VCNT160 160 32 140 40 32 200 190 149 191
VCNT200 200 32 175 40 32 250 240 164 206
VCNT250 250 40 220 50 40 320 296 187 223
Aignep ocTasnseT 3a co6oii NPaBo M3MEHAT MOAENN pasmepbl 6e3 yBeaoMneHNA. OBHOBJIEHVE OT: 18 AMPESIA 2013 1 6_‘| 1 3

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AKceccyapbli

MATEPWAN: CTAJTb M
MATERIAL: STEEL : T
j_l f I : I
i 1
- T o« —+ - |-
. | -
L L}
VSl a
CYNMOPT /18 MPOMEXKYTOUHOW MET/A- SUPPORT FOR INTERMEDIATE HINGE
Kop/Code ~ @ mm. A M R P C S L u T E
VSI032 32 46 18 30 15 32 12 10.5 1 6.6 7
VSI040 40-50 55 21 36 18 36 16 12 15 9 9
VSI063 63 -80 65 23 40 20 42 20 13 18 11 11
VSI100 100-125 75 285 50 25 50 25 16 20 14 13
VSI160 160 - 200 92 40 60 30 60 32 225 26 18 17
VSI250 250 140 56 70 35 90 40 31 33 22 20
BQ B1
MATEPUAJT: ATIOMUHI ‘
MATERIAL: ALUMINIUM F _’{ ____________ @
! =
i gl o Fh—)
— 2Q
BN BG
VAS BO BH
KPOHLUTEAH - SQUARE JOINT
Codice /Code @ mm. Q BG BH B1 BM BN BO BQ BR
VAS032 32 6.6 18 31 21 32 38 51 26 20
VAS040 40 6.6 22 35 24 36 41 54 28 22
VAS050 50 9 30 45 33 45 50 65 32 26
VAS063 63 9 35 50 37 50 52 67 40 30
VAS080 80 1 40 60 47 63 66 86 50 30
VAS100 100 " 50 70 55 71 76 96 60 38
VAS125 125 14 60 90 70 90 94 124 70 45
VAS160 160 14 88 126 97 115 118 156 90 63
VAS200 200 18 90 130 105 135 122 162 90 63
16.114 Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



MATEPWAN: CTAJTb

Akceccyapbli

MATERIAL: STEEL BU
8| o
Q Q
CH
VPE T
MAEL| CO CTOMOPHbIM KOJTBLIOM - PIN WITH SEEGER
Kog / Code @ mm. G BT BU CG CH
VPE032 32 10 46 53 9.6 1.1
VPE040 40 12 53 60 11.5 1.1
VPEO50 50 12 61 68 11.5 1.1
VPE063 63 16 71 78 15.2 1.1
VPE080 80 16 91 98 15.2 1.1
VPE100 100 20 111 118 19 13
VPE125 125 25 132 139 239 1.3
VPE160 160 - 200 30 171.5 178 28.6 16
VPE250 250 40 202 211 375 1.85
VPE320 320 45 222 236 425 1.85
MATEPVAJT: CTATTb 7
MATERIAL: STEEL — l
i
—_F I’ - ?
FC ol i :
BUSTKA - YOKE WITH LOCABLE PIN
Kop / Code @ mm. A B C E F G KK
FC025 25-32 52 20 40 20 10 10 M10x1.25
FC040 40 62 24 48 24 12 12 M12x1.25
FC050 50-63 83 32 64 32 16 16  M16x1.5
FC080 80-100 105 40 80 40 20 20 M20x1.5
FC125 *125 148 56 110 55 30 30 M27x2
FC160 160 - 200 188 72 144 70 35 35 M36x2
FC250 250 232 84 168 85 42 42 M42x2
FC320 320 265 96 192 96 50 50 M48x2

* C nanbLem 1 cTonopHbiM Konbuomr - With pin and seeger

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.115



AKceccyapbli

MATEPWAJT: CTAJTb E
MATERIAL: STEEL

o | *
LN
y )|
o] =<
TF Tl

LUAPOBOE OKOHYAHME CAMOCMA3bIBAIOLLIEECA - ROD ENDS SELF-LUBRIFICATING

fon  omm. A B c ) D E F G H L M P s W e VME o Bec
0 +0,2
H7 -0,13 SFERA +0,13 +0,5 +0,5 +0,7 +0,7 +0,5 -0,7 +0,25 kg kg g
TF025 25-32 10 12,9 14 19,05 11,5 30 M10x1,25 43 58 15 15 19 6,5 16 1.200 3.100 88
TF040 40 12 15,4 16 22,23 12,5 34 M12x1,25 50 67 18 17,5 22 6,5 18 1.400 3.700 120
TFO50 50-63 16 19,3 21 28,58 15,5 42 M16éx1,5 64 85 24 22 27 8 24 2.500 6.300 240
TFO80 80-100 20 24,4 25 34,93 18,5 50 M20x1,5 77 102 30 27,5 34 10 30 3.700 8.300 430
TF125 125 28 323 35 47,59 26 66 M27x2 103 136 41 37 46 14 41 7.100 14200 1.120
TF160  160-200 35 - 43 - - - M36x2 125 - 56 - 58 - - - - 1.600
TF250 250 40 - 49 - - - M42x2 142 - 60 - 65 - - - - 2.800
TF320 320 50 - 60 - - - M48x2 162 - 65 - 75 - - - - 5.000
MATEPWAJT: CTAJTb
MATERIAL: STEEL ®
o
-
[s2]
-
LUAPOBbIVI LLIAPHUP - SNODABLE YOKE
Ko / Code @ mm. s L 13 w P3 D3 a’®
TS025 25-32 M10x1.25 74.5 18 17 15 28 30°
TS040 40 M12x1.25 84 20 19 17 32 30°
TS050 50-63 M16x1.5 112 27 22 23 40 22°
TS080 80-100 M20x1.5 133 38 30 25 45 15°
'] 61 ] 6 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



Akceccyapbli

B [}
DA | I
FAMKA - NUT FOR RODS
Kop / Code @ mm A B C
0DA000051C9ZI 25 M10x1.25 17 8
0DA000051C9ZI 32 M10x1.25 17 8
0DA000051D5ZI 40 M12x1.25 19 7
ODAO00051E3ZI 50 M16x1.5 22 6
0DAO000051E3ZI 63 M16x1.5 22 6
O0DAO000051F2ZI 80-100 M20x1.5 30 9
0DA000051G8ZI 125 M27x2 41 12
EDA00005116Z1 160 - 200 M36x2 55 14
EDA000051L0ZI 250 M42x2 65 20
EDA000051DGZI 320 M48x2 75 24

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.117



AIGNEP Cepwma Unita di Guida

Unita di Guida / Guide Units

Hanpasnawowme 370 NpuHagnexHoctTn ana uyunuHgpos SO
6431 VDMA 1 1SO 6432. OH1 ncnonb3yioTca B TeX Clyyasx, Koraa
HeobXOAUMbI MepeMeLLEHNA C BbICOKOV CKOPOCTbIO U TOUYHbIM
no3nuMoHnpoBaHmeM. bnarogapa TOYHOCTM 3K HanpasnAwme
MoO3BONAIOTCO3aTb CUCTEMY NOJAYUM CTAHKOB, A YNaKOBOUHbIX
onepawui, 1 B LLeNoM BbINOSHATL ONpeAesieHHble MaHU My ALK,
HanpaBnaiowme cOBMeCTUMbl CO CleayWumMmn LAANHAPaMK:

Onametp: Ot 12 go 100 mm
Xon: Ot 50 po 500 mm

ISO 6431 VDMA (©32-2100)
ISO 6432 (D12-025)

The guide units are accessories for cylinders 1SO 6431
VDMA and ISO 6432. They have to be used in case
high loads have to be moved at high translation
speed with precision locating. Thanks to this precision,
the guide wunits are particularly suitable to create
loading system for tooling machines, for packa-
ging operations and generally speaking to realise
manipulations units. The guide units are available
for the following cylinders:

Bores: From 12 to 100 mm
Strokes: From 50 to 500 mm

ISO 6431 VDMA (@32-@100)
ISO 6432 (D12-@25)

Kak 3aka3aTb / How to Order

VLCHB 32 50

Koa JOVNAMETP LUMTMHOPA Xxoa
CODE BORE STROKE

1 6,1 1 8 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMPE/IA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



JAIGNEP

Cepwusa Unita di Guida

Onarpammbl Hanpasnawowwmx / Charts Guide Units

Apt. MLCHB
Hanpasnsatowas ¢
CaMOCMa3blBaloLLENCA BTYIKON
Guide units with self
lubricating sintered bush

Apt. VLCHB
Hanpasnatowas ¢
CaMOCMa3blBaloLLENCA BTYIKON
Guide units with self
lubricating sintered bush

ApT. MLCHC
Hanpasnsatowaa ¢ NnogWwnnHUKOM
KaueHus
Guide units with recirculating
ball bearing

ApT. VLCHC
Hanpasnaiowas ¢ NoAWNNHUKOM
KauyeHuns
Guide units with recirculating
ball bearing

250

200

150

100

F (Carga Max en N)
F (Max LoadinN)

50

0

\

50 100 150

1000
900
800
700
600
500
400
300
200
100

F (Carga Max en N)
F (Max Loadin N)

CARRERA / STROKE (mm)
—— @20 - @25 ——@12-916

200 250

— |

—

50 150 250 350

160
140
120
100

80
60
40
20

F (Carga Max en N)
F (Max Load in N)

CARRERA / STROKE (mm)
—— @80 - @100 — @63 —— @50

450

@40 — @32

50 100 150

600

500

400

300

200

F (Carga Max en N)
F (Max LoadinN)

100

0
5

CARRERA / STROKE (mm)
—— @20 - @25— @12-@16

200 250

NN T T

0 100 150 200 250 300 350
CARRERA / STROKE (mm)

400 450 500

—— @80- @100 —— @63 @50 —— @40 —— @32

Aignep ocTaBnAeT 3a cO60i NPaBO M3MEHATb MOAENN pPa3mepbl 6e3 yBeaoMeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: Al

PRIL 18,2013

16.119



A|GNEP Cepus Unita di Guida

Grafici Unita di Guida / Charts Guide Units

200
ApTt. MLCUB - VLCUB
Hanpasnatowas ¢ 500
CaMOCMa3blBaloLLEeNCA BTYIKON
Guide units with self 750 \
lubricating sintered bush 700 \

850

F (Carico Max en N)
F (Max Loadin N)

650

G00 \
550 \

500

450
NI

400
350 \\ \
N

300
\\

250

200

™~
—

\
150 —

\ \ \\
B

100

AA 1

\
50 -]

0 100 200 300 400 500 600

CORSA / STROKE (mm)

@16—— @20-25-32 —— @40 —— @50 @63 @80 2100

1 6.1 20 Aignep ocTARTHED Sare a ihpertoordinea i pal OBHOBJIEHWE OT: 18 AMPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013




FIAIGNEP Cepn P

Ch.3
w G
Ch.2
E L5 + Carrera\Stroke X
Ch.1
[l] — NG
EJ S —J m\j/
\v 2 SZBAN
N| O g'_‘ fh D [ o <« o > ow
H WV P
@ W7
Y
i i o)
L] L[] [— ° mi
M D1 B
H[_ L1
L2 D
L3 L6 + Carrera\Stroke
L4 + Carrera\Stroke
S
K
\ _
-
| g > _é_ |
p — I 1
< = \/d §
1T L
= e W
§ Lw
o
Q<— W
@ mm. A B C Ch1 Ch2 (Ch3 D D1 E F G H 21 J K L1 L2 L3 L4 L5 L6
12-16 69 30 30 8 10 24 12 55 195 66 29 10 10 M4 M4 3 15 38 66.5 73 155
20 79 34 37 12 13 27 17 875 2425 78 32 12 12 M5 M6 5 18 48 83 87 18
25 79 34 37 12 17 27 17 875 2425 78 32 12 12 M5 M6 5 18 48 83 91 18
@ mm. M N o P Q R S T T1 U v w X Y z
12-16 6 45 6 75 45 55 9 55 32 24 58 25 18 22 495
20 8 55 9 10 75 65 1 6.5 38 38 68 325 20 23 58
25 8 55 9 10 75 65 1 6.5 38 38 68 325 20 23 58

MLCUBISO6432
HAMPABIIFIOLLAS “U” C CAMOCMA3bIBAIOLLIEVCS BPOH30BOV BTYJIKO
GUIDE UNIT “U” WITH SELF LUBRICATING SINTERED BRONZE

CTAHIAPTHbIY XOA mm. - STD STROKES

@ mm. 50 100 160 200
12-16 X X X X
20 X X X X
25 X X X X
Aignep ocTAigmep shrissui ihgirittodineari i pa i OBHOBJIEHVIE OT: 18 AMPENA 2013 16.121

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepwma Unita di Guida

Engrasador
ch3 L
G
Ch.2 E L6 + Carrera/ Stroke X
Ch.1
] ) T et —
1
LRl ¥ ) 7
— N7 w— N2
N\ M | =
N D o & (&} < | > [T
— @ - 17 NZ
NAEY . SZ7N 4
i L I
L 1
M o B
H L1 D1 L7 + Carrera/ Stroke
L2 D L3
L4
L5 + Carrera/ Stroke
S
- ‘Tﬂp K
5
Lm Ty &
#, - I —
XL - % Rk
= —qa- -q;-
=zl || @ Lw |
@ mm. A B C Ch1 Ch2 Ch3 D D1 E F G H @1 J K L1 L2 L3 L4 L5 L6
12-16 69 30 30 8 10 24 12 6 8 66 29 10 10 M4 M4 25 18 46 68 1235 73
20 79 34 37 12 13 27 17 85 15 78 32 12 12 M5 M6 25 40 58 108 166 87
25 79 34 37 12 17 27 17 85 15 78 32 12 12 M5 Me 25 40 58 108 166 91
@ mm. L7 M N 0 P Q R S T T U Y w X Y z
12-16 12 6 45 6 8 45 55 9 55 32 24 58 18 18 22 495
20 10 8 55 9 10 75 65 1 6.5 38 38 68 325 20 23 58
25 10 8 55 9 10 75 65 1 65 38 38 68 325 20 23 58

MLCHBISO6432

HAMPAB/IAOLWASA “H” C CAMOCMA3bIBAIOLLENCA BPOH30BOW BTYJIKOW
GUIDE UNIT “H” WITH SELF LUBRICATING SINTERED BRONZE

CTAHOAPTHbIV XO4 mm. - STD STROKES

@ mm. 50 100 160 200 250
12-16 X X X X X
20 X X X X X
25 X X X X X
1 61 22 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



AIGNEP Cepwma Unita di Guida

Engrasador
ch3 W
G
Ch.2 E L6 + Carrera / Stroke X
Ch.1
] — o
7N — B
= |\ 7] m— b4
N D O ® | o < = > w
= @— - b &
N4 . N 77N
i L I
M o B
H L1 D1 L7 + Carrera/ Stroke
L2 D L3
L4
L5 + Carrera/ Stroke
S
— ﬁﬁp K
5
L 7, Tarl % &
: I —
XL Ee W s
Tz la Low
@ mm. A B C Ch1 Ch2 Ch3 D D1 E F G H @1 J K L1 L2 L3 L4 L5 L6
12-16 69 30 30 8 10 24 12 6 8 66 29 10 10 M4 M4 25 18 46 68 1235 73
20 79 34 37 12 13 27 17 8.5 15 78 32 12 12 M5 M6 25 40 58 108 166 87
25 79 34 37 12 17 27 17 8.5 15 78 32 12 12 M5 M6 25 40 58 108 166 91
@ mm. L7 M N [¢] P Q R S T T U v w X Y z
12-16 12 6 45 6 8 45 55 9 5.5 32 24 58 18 18 22 495
20 10 8 55 9 10 75 65 11 6.5 38 38 68 325 20 23 58
25 10 8 55 9 10 75 65 11 6.5 38 38 68 325 20 23 58
HAMPABJTAIOLWAA “H” C NOAWNMHNKOM KAYEHWA
GUIDE UNIT “H” WITH RECIRCULATING BALL SLEEVES
CTAHIAPTHbIA XO mm. - STD STROKES
@ mm. 50 100 160 200 250
12-16 X X X X X
20 X X X X X
25 X X X X X
Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013 'I 6'1 23

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepwma Unita di Guida

_#_1
E L6 + Carrera\Stroke
ch Ch2 s
| g R,
] { &=t
- A
— ]
N M ¢} < >| D] | w
- - _49_ dy
A4
: ege
T T
M o]
L2 D B
H L1 L3 L5 + Carrera\Stroke
L4 + Carrera\Stroke

o 2 .
N -
LT NS S
> >
F“J —+=
b4 o
Q
@ mm. A B C Ch1 Ch2 D E F G H 21 L1 L2 L3 L4 L5 L6 M N (0]
32 97 49 51 15 17 17 9.25 93 45 12 12 42 25 48 102 18 97 8 6.6 12
40 115 58 585 15 19 21 11 112 55 12 16 43 24 58 113 17 109 7 6.6 12
50 137 70 702 20 24 25 18.8 134 65 15 20 49 30 59 123 20 110 6 9 16
63 152 85 852 20 24 25 15.3 147 80 15 20 49 30 76 140 21 125 6 9 16
@ mm. P Q R S T U Vv VA
32 11 6.5 M6 M6 78 61 325 74
40 11 6.5 M6 M6 84 69 38 87
50 15 8.5 M8 M8 100 85 46.5 104
63 15 9 M8 M8 105 100 56.5 119

VLCUB 1SO6431

HAMPABJAIOLLAA “U” C CAMOCMA3bIBAIOLLEECA BPOH30BOW BTYJIKOW
GUIDE UNIT “U” WITH SELF LUBRICATING SINTERED BRONZE

CTAHIAPTHbIY XO[ mm. - STD STROKES

@ mm. 50 100 160 200 250 320 400 500
32 X X X X X X X X
40 X X X X X X X X
50 X X X X X X X X
63 X X X X X X X X
16.124 Aignep octaBnAeT 3a co6oii NPaBo M3MEHATL MOENM PasMepbi 6e3 yBEOMNEHNS. OBHOBJIEHVE OT: 18 AMPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepua Unita di Guida

Engrasador v
E L7 + Carrera/ Stroke G
v
— Il .
Nl ] @‘
=& ' 1
T
- 1 EI
N J <C =| D|—|LL|
) 4 4
4 - 9
™ I I
R T
L2 D L3 0
HL L1 L4 L6 + Carrera / Stroke LB ]
L5 + Carrera/ Stroke
8 v
oc
ST — —
=
> al >
alzl Q.
@ mm. A B C Chl Ch2 D E F G H @1 L1 L2 L3 L4 L5 L6 L7 M N 0
32 97 49 51 15 17 24 43 93 45 12 12 25 42 75 125 187 25 97 8 6.6 12
40 115 58 582 15 19 28 11 112 55 12 16 25 42 80 140 207 30 109 7 6.6 12
50 137 70 702 20 24 34 188 134 65 15 20 25 50 78 148 223 35 110 6 9 16
63 152 85 852 20 24 34 153 147 80 15 20 25 50 106 178 243 25 125 6 9 16
80 189 105 1055 26 30 50 25 180 100 20 25 25 50 111 195 267 27 133 9 11 20
100 213 130 1305 26 30 55 30 206 120 20 25 25 50 128 218 290 27 144 9 11 20
@ mm. P Q R S T U Vv A
32 11 65 M6 Me 78 61 325 74
40 11 65 M6 Me 84 69 38 87
50 15 85 M8 M8 100 85 465 104
63 15 9 M8 M8 105 100 565 116
80 18 11 M10 M10 130 130 72 148
100 165 11 M10 M10 150 150 89 173

VLCHBISO6431

HAMNPABJIAIOLWASA “H” C CAMOCMA3bIBAIOLLEECA BPOH30BOW BTYJIKOW
GUIDE UNIT “H” WITH SELF LUBRICATING SINTERED BRONZE

CTAHIOAPTHbIY XO mm. - STD STROKES

2 mm. 50 100 160 200 250 320 400 500
32 X X X X X X X X
40 X X X X X X X X
50 X X X X X X X X
63 X X X X X X X X
80 X X X X X X X X
100 X X X X X X X X
Aignep ocTagnseT 3a co6oil NPaBo M3MEHATb MOAENY pa3mepbl 6e3 yBeaomeHws. OBHOBJIEHVE OT: 18 AMPE/A 2013 16.125

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepwua Unita di Guida

Engrasador v
E L7 + Carrera/ Stroke G
v
— .
Nl ] I @, !
S = ' +-§ b
N -I < = D[
I
— M . 4} ¢,7,
|| o — e
(] I —
L2 D 13 0
HI L L4 L6 + Carrera / Stroke LB
L5 + Carrera / Stroke
S v
—
[a g
= B o —
|
> al =
=T | R L
o=l ol
@ mm. A B C Ch1 Ch2 D E F G H 21 L1 L2 L3 L4 L5 L6 L7 M N o)
32 97 49 51 15 17 24 43 93 45 12 12 25 42 75 125 187 25 97 8 66 12
40 115 58 582 15 19 28 11 112 55 12 16 25 42 80 140 207 30 109 7 66 12
50 137 70 702 20 24 34 188 134 65 15 20 25 50 78 148 223 35 110 6 9 16
63 152 85 852 20 24 34 153 147 80 15 20 25 50 106 178 243 25 125 6 9 16
80 189 105 1055 26 30 50 25 180 100 20 25 25 50 111 195 267 27 133 9 1 20
100 213 130 1305 26 30 55 30 206 120 20 25 25 50 128 218 290 27 144 9 1 20
@ mm. P Q R S T U Vv A
32 1 65 M6 M6 78 61 325 74
40 1 65 M6 M6 84 69 38 87
50 15 85 M8 M8 100 85 465 104
63 15 9 M8 M8 105 100 565 116
80 18 11 M10 M10 130 130 72 148
100 165 11 M10 M10 150 150 89 173
VLCHCISO6431
HAMPABJTIAIOLAA “H” C NOAWNMHNKOM KAYEHINA
GUIDE UNIT “H” WITH RECIRCULATING BALL SLEEVES
CTAHOAPTHbBIV XO[ mm. - STD STROKES
@ mm. 50 100 160 200 250 320 400 500
32 X X X X X X X X
40 X X X X X X X X
50 X X X X X X X X
63 X X X X X X X X
80 X X X X X X X X
100 X X X X X X X X
16_126 Aignep ocTARyTRED SAIt i e i pai i OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Sensori

MarHuTHbIn gaTumk cepumn DSL / Magnetic Switches DSL Serie

HaTtumkun DSL nnHenHoro pasmeleHna gna
UUINHAPOB CNefyoLWwnx mogenemn:

DSL sensor lengthwise assembly for the
following models of cylinders:

MuHu uunungpsl / Mini Cylinders MwuHun yunungpbl Inox / Mini Cylinders Inox

UunuHgpbl A95 / Cylinders A95

Uumnungpbl ¢ kopoTknm xogom / Short Stroke Uununngpbl cepun X / Cylinders X Series

Aignep ocTAigmey sirisaod ingdiritadineai i i i OBHOBJIEHVIE OT: 18 AMPE/A 2013 16.127
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepusa Sensori

TexHnueckune gaHHble / Technical data

DESCRIZIONE
DESCRIPTION

VERSIONE REED- REED VERSION
CODICE CODE.DSLIC225  CODICE COOF.DSLIM8

VERSIONE HALL- HALL VERSION
CODICE CODF.DSLAC225 CODICE CODF . DSLAMS

Connessione Cavo Connettore M8 Cavo Connettore M8
Connection Cable M8 Connection Cable M8 Connection
Tvgr/wfsciygr;e/g;?:rcizio 3130V, AC/DC 3-130V. AC/DC 10-30V. DC 10-30V.DC
SR o0 o oo
Wox ponsrsoaamve bod ow Tow oW ow
TRe oersiene ™
Coaro: ?ygg’“o' N.O. N.O. N.O. N.O.

Segnalazione di commutazione
Outout status indicator

Tempo di inserzione

Response fime

Tempo di rilascio

Decay fime

LED giallo/yellow

0.5 ms max

0.1 ms max

LED giallo/yellow

0.5 ms max

0.1 ms max

LED giallo/yellow
0.2 ms max

0.1 ms max

LED giallo/yellow
0.2 ms max

0.1 ms max

Vita elettrica cicli ;cqrico resistivo)
Flectric life (resistive loaq)

4x107

4x10 7

4x107

4x107

Tipo di cavo
able type

PVC

PVC

PVC

PVC

Temperatura d'esercizio
Working fermperature

-20 +70°C

-20 +70°C

-20 +70°C

-20 +70°C

Grado di protezione
Profection degree

IP 68

IP 68

IP 68

IP 68

Lunghezza cavo
Cable lenght

USCITA
ourrPUr

2.5mt.

0.3mt.

2.5mt.

PNP

0.3mt.

PNP

Colore cavo
Cable colour

nero black

nero black

nero black

nero black

Fili
Wires

Transitori extracorrente
Overcurrent fransients

2

Si-Yes

2

Si-Yes

3

No

3

No

Transitori extra tensione
Overvolfage fransients

No

No

No

No

Inversione di polarita
Polarity reversal
Corto circuito

Short circuit

Resistenza alla corrosione
Corrosion resistance

Esplosione Atex
explosion Atex

Si-Yes

No

No

Si-Yes

No

w

No

Si-Yes

No

No

Si-Yes

No

No

Tipo di cava
Slot type

T

T

T

T

Tipo di montaggio al cilindro

Solo longitudinale

Solo longitudinale

Solo longitudinale

Solo longitudinale

Type of mounting fo the cylinder Longitudinal only Longitudinal only Longitudinal only Longitudinal only

BN 5 1BN BN 1BN
Schema circuito <>—‘: R 0_‘: R
Circuit diagram I: L{:f . [: BK 4 BK

PNP
3 BU BU - 3 BU
DISEGNO
DRAW
1 6,1 28 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013

Aignep reserves the right to vary models and dimensions without notice.

UPDATED: APRIL 18, 2013



AIGNEP Cepwua Sensori

XomyT ana gatumkos DSL ana ncnonb3oBaHna ¢ MuHnyunuagpamm 1ISO 6432 n yunungpamn cepun A95
Bracket for DSL to use with minicylinders ISO 6432 and Cylinders A95 Serie

Kop / Code @ mm. F=0 A B
MFX008 8 9.4 mm 14 8
MFX010 10 11.3 mm14 8
MFX012 12 13.3 mm14 8
MFX016 16 17.3 mm14 8
MFX020 20 21.3 mm14 8
MFX025 25 26.3 mm14 8
AFX032 32 33.5mm14 8
AFX040 40 41.5mm14 8
AFX050 50 52 mm 14 8
AFX063 63 65 mm 14 8
TpexxkunbHbin yanuHutens / Three Wires Extension

PX

CODE OJIMHA / LENGTH

PX3000 3000 mm

PX5000 5000 mm

Aignep ocTaBnseT 3a co6oi NPABO M3MEHATb MOAENY pasmepbl 6e3 yBeomneHNs. OBHOBJIEHVE OT: 18 AMPENA 2013 16.129

Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



AIGNEP Cepua Sensori

MarHuTHbIM faTunk cepum DSH / Magnetic Switches DSH Serie

Hatumkn DSH HapyXHOro KpenneHua gna uMnnHapoB
cnepyowmx mogenen:

DSH sensor above assembly for the

following models of cylinders:

MwuHu uunungpsl / Mini Cylinders

Unnungpbl Corsa Breve / Short Stroke UunnuHppbl cepun X / Cylinders X Series

Uunungpbl cepun NHA / Cylinders NHA Series UunuHppsbl cepun P / Cylinders P Series

1 61 30 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMNPENA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



Cepusa Sensori

TexHnuyeckne gaHHble / Technical data

DESCRIZIONE
DESCRIPTION

—

VERSIONE REED- REED VERSION

VERSIONE ELETTRONICO
ELECTRONIC VERSION

| CODICE CODE : DSH2R2F20

CODICE CODE :DSH2R2FM8

e

CODICE CODE :DSH4H3F20

CODICE CODE :DSH4H3FM8

=

Connessione Cavo Connettore M8 Cavo Connettore M8
Connection Cable M8 Connection Cable M8 Connection
L%?,gg;e,gnegsee’c'z'o 5-120 V. AC/DC 5-120V. AC/DC 10-30V.DC 10-30V.DC
e L 100 mA 100 mA 100 mA 100 mA
Potenza max/carico resistivo 10W 10W

Max power/resistive load ) )

Max volfage arop =9 <5V <25V <25V
Loatmno; }’ylgse?““ N.O. N.O. N.O. PNP N.O. PNP

Segnalazione di commutazione

Quftput status indicator

Tempo di inserzione
Response fime

Tempo di rilascio
Decay fime

Vita elettrica cicli (¢
Electric life (resistive loaq)

Tipo di cavo
able type

carico resistivo)

LED giallo/yellow

0.5 ms max
0.1 ms max
; 4

10

PVC

LED giallo/yellow
0.5 ms max
0.1 ms max

7

10

PVC

LED giallo/yellow

<30 ms

INFINITA

PUR

LED giallo/yellow

<30 ms

INFINITA

PUR

Temperatura d'esercizio
Working femperature

Grado di protezione
Profection degree

-20 +70°C

IP67 11

-20 +70°C

IP67 11

-25 +85°C

IP 67

-25 +85°C

IP 67

Lunghezza cavo

Caduta di tensione max
‘ cable lenght

2.5mt.

0.3mt.

2 mt. ‘

0.3mt.

USCITA
ourrPUT

Colore cavo
Cable colour

nero black

nero black

nero black ‘

nero black

Fili,
Wires

2

2

3

3

Transitori extracorrente
Overcurrent fransients

Si-Yes

Si-Yes

w |

No

Transitori extra tensione
Overvolfage fransients

No

No

No

No

Inversione di polarita
Polarity reversal

Si-Yes

Si-Yes

Si-Yes

Si-Yes

Corto circuito
Short circuit

Resistenza alla corrosione
Corrosion resistance

No

No

No

No

Esplosione Atex
explosion Afex

No

No

No

No

Tipo di cava
Slot type

T

T

T

T

Tipo di montaggio al cilindro

Assiale e longitudinale

Assiale e longitudinale

Assiale e longitudinale

Assiale e longitudinale

37

R = EﬂL- =
LT ®

Type of mounting fo the cylinder  Axial and Longitudinal Axial and Longitudinal Axial and Longitudinal Axial and Longitudinal
1 BN BN 1 BN

Schema circuito M R

Circuit diagram I: Li:b— = —4 BK
3BU ~—~3BU

DISEGNO 300 )

DRAW 5 35 g =

3 31 1: eccentrico di fissaggio
V‘g 2: superficie attiva
® ) o & 253

Aignep ocTaenseT 3a co60il NpaBo U3MeHATL MoAeNM pasmepbl 6e3 ysefomneHus.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013

UPDATED: APRIL 18, 2013

16.131




FJAIGNEP

Cepusa Sensori

XomyT ana gatumkos DSH gna ncnonb3oBaHva ¢ MuHULmwInHgpamn 1SO 6432
Bracket for DSH sensors to use with minicylinders ISO 6432

TpexxkunbHbin yanuHutens / Three Wires Extension

Kop / Code @ mm. F=0
MFHO012 12 13.3 mm
MFHO16 16 17.3 mm
MFH020 20 21.3 mm
MFHO025 25 26.3 mm

PX

Kon JJMHA / LENGTH

PX3000 3000 mm

PX5000 5000 mm

16.132

Aignep ocTaenseT 3a co60il NpaBo M3MeHATL MoAeNM pasmepbl 6e3 ysefomneHuna.

Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMNPESIA 2013

UPDATED: APRIL 18, 2013



Cepwua Sensori

MarHuTtHble gatumkim cepum DSN / Magnetic Switches DSH Serie

TexHuyeckne paHHble / Technical data

DESCRIZIONE ‘ VERSIONE REED VERSIONE HALL
REED VERSION HALL VERSION
DESCRIPTION 'CODICE CODE :DSNOR2F20 CODICE CODE DSNTH3F20
‘.lli ‘ —— -
Connessione Cavo Cavo
Connection Cable Cable
%‘)%g’;efg;fg“’g’c'zm 3-250V. AC/DC 10-30V.DC
Corrente max a 25°c
Moax current at 26°C 1000 mA 200 mA
Potenza max/carico resistivo 50W oW
Max power/resistive load
Caduta di tensjone max o7V = ;o
Max volfage drop 22 0.5
Contatto d'uscita
Contact hoe N.O. N.O. PNP
Segnalazione di commutazione
Ougfpuf status indicator LED Rosso/red LED Rosso/red
}‘%r;;?gngélgysﬁemone 0.5 ms max 0.2ms max D.aTl—I NKN DSN aonAa umnmnHopos
R oL asclo 0.1 ms max 0.1 ms max co CTAXHbBIMU bontamu
Vita elettrica cicli (carico resistivo 7 i i i
Yl Siotea cicll (carlco registtvo) 10 10’ DSN sensor for cylinders with tie rods
o Ao PVC CEI 2022 PVC
Temperatura d'esercizio o o
Working femperature 20Hre 2 FTE
Grado di protezione
Foiocion. degree IP 65 IP67
Lunghezza cavo
Cable lenght 2 it 3t
goalg;ee cco%,z?r nero black nero black
Fili
Wires 2 8
Transitori exiracorrente i i
Overcurrent fransients SlYes SiYes
Transitori extra tensione
Overvoltage transients No No
Inversione di polarita . .
Polarity reversal SHIES shics
Corto circuito N N
Short circuit ° °
Resistenza alla corrosione 3 3
Corrosion resistance
Esplosione Atex
explosion Atex No No
Tipo di montaggio al cilindro Con Staffa Con Staffa
Type of mounting fo the cylinder With Bracket With Bracket
BN & BN et
Schema circuito < H q H
Circulf diagram K Ll%l— R [ %L
PNP | BU R
DISEGNO
DRAW —— 12
)
! E'
"t n2| | 2rs |
11.2 33

A
Kop / Code @ mm. A
DSN2XF032T 32-100 12
DSN2XF125T 125-160 12
DSN2XF200T 200-250 12

Aignep ocTanfeT 3a co60i NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA.
Aignep reserves the right to vary models and dimensions without notice.

OBHOBJIEHVE OT: 18 AMPESIA 2013
UPDATED: APRIL 18, 2013

16.133



Cepusa Cylinders

Note:

1 6_1 34 Aignep ocTasnfeT 3a cO60/ NPaBo N3MEHATb MOAENN pa3mepbl 6e3 yBeaoMIeHNA. OBHOBJIEHWE OT: 18 AMPE/IA 2013
Aignep reserves the right to vary models and dimensions without notice. UPDATED: APRIL 18, 2013



